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1. MPOAOIOZ

©a néeAa va EeKIVAOw TNV €pyacio pou, mapabétovtac, €va MOANIO OVEKOOTO, TOAD
YVwoTé atnv Eup®mn aAAd EAEXIOTO yVWOTO GTNYV XWPO HOC.

Mapadeloog sival eKei omou: KoAaon eivai ekei omou:

ol payeipot givar Aol ot payetpot givat AyyAot

ol unxavikoi ivat Eeppavoi ol unxavikoi givar EGAAol

ol agTUVOpOL gival AyyAol ot agtuvopol ivat Mepuavoi
0l EPOOTEC €ival EAANVEQ ol epaaTeq eivat EABetoi

TNV 0pyavwan €Xouv avaAdpel ot EABeToi. TNV opyavwan £xouv avaAdpel ot EANNVEC.

Eival 1o avékdoto pe To omoio ol vmdAoinol Evpwraiol catipiouv TNV AVIKOVOTNTA TWV
EAAvVwV va opyavwBouv.

AVOTUXWC YIa EUAC, N OIKOVOUIKN Kpion Kol To0 pEyeBOC TOL TARYUATOC TTOL OEXTNKE N
XWPO MOC TOUG EMIPBERAIOVEL.

AMG dev gival ol Evpwraiol mov pog d10K@WP®00V yia TNV aviKavotnTa Tou EX0VHE GOV
A0 va opyavwBoUpe. To xelpotepo gival 6tav EAANVEG TOAITIKOI KAvouv TO id10.

To 2010 o Mavvoc Mamaviwviov, TpoonadwvTag va EENYNOEL TNV KATPOKOAN TN XWPOC
pog, OnAwve oto Al Jazeera.

“Perhaps Americans find it difficult to understand this, but Greece lacks a build-in
culture of stability and discipline”

‘Eva xpovo apyotepa otig 19/05/2011 o Mdvvog Mamnaviwviou cuveyilel Tov d1acuppo
NC Xwpag. AuTA TNV eopa Yéoa oTIC Bpu&éAeg 6oL TOL {NTNABNKE N YV TOU yid TNV
Kpion Kat dNAwoe Ta akoAouba

“ Europe North produce huge supplies and Europe South plus islands produce huge
deficit in the external accounts. The transfer of excessive saving to the periphery created
conditions for extensive bowering in both private and public sectors.

Now we have two divisions here:

In physically responsible countries like Spain extensive bowering was undertaking buy
private sector leading to bubbles especially in housing which internal creating
insolvensing problems for banks that where eventually assume by the governments

In physically profligate countries like Greece thinks are simpler. Extensive bowering
has undertaking directive by the government leading directive to explosion of budget
deficit and the debt.

However in both causes we have share a very interesting characteristic. Match of the debt
induce by the saving gluts in core economies and the (in) top indirectly or directly on the
government books of weaker economies” 1

1. www.voutube.com (video oto cd Tng mruxloknig (QATNYQ))


http://www.voutube.com

AKOUYOVTOC OUTEG TIC ONAWOELS 0€ KABE VED TIC NAIKiaC Jou dnutovpyolvTal To
akoAovba epwTuaTa:
e 'Exoupe oav Aadg, kanoia yevetikn (build-in) avwpoalia, n onoia dev pog
EMITPEMEI VA OPYAVWCOULHE TNV MATPIdA pag;
e Edvval, nw¢ e€nyeital n edpaiwan tng EAANVIKNC opoyévelag ag EEvoug TOTOUC.
e YTAPXEL KOWWVIKA 100TNTO PETA&L TV EvpwTmaiwy TOATWY;
e Eivain EANGOO akGBapTn Xwpa;

Kota tnv Tanevn pou yvapn n EAAGda dev gival akdBaptn o0Tte ot'EAANVEC £X0UV
YEVETIKO TTPOPBANUO. @eAnuEva | Un N opyavwaon Tou ANPOcIou TOPED TNG XWPa Hag
OKOVTAQTEL 0TO KEVO TIOU LTTAPXEL HETOEL TwV PEBOdWV 0pydvwang Kal atnv
TANPOPOPIKN aav Bpaxiova €mIBOARC TNC opydvwanc.

‘Exovtag Tov mapamndve TPoBANHATIONO, ano@dcioa Vo OQIEPWOW TNV TTUXIOKI HOU
epyaaia otnv opydvwaon piag PIKpAG emixeipnang. Mikpn 3101 0 XpOvog Kal Ta JEaa Ta
omoia €ixa NTAV TEPIOPIOUEVQ.

‘E6eca oav atoxo tn¢ epyaaiag pou
e Tov avaoyedlaoud (reengineering) twv d1adIKaclwv Pe TNV pEBodo BMP.

e Tnvulomoinon Twv véwv d10dIkaalwv pe xprion MAnpogopiknc (Information
Technology).



2. EIZATQI'H

Mia emixeipnon anoTeAEl pio popen opydvwaong TPooONWY Kol JECWV TOL EMIOIDKEL TNV
EMTELEN  OUYKEKPIPEVWY OTOXwv. lMa Tnv emitevén twv oTdXwv oTnpiletal ot
dladikaaoieg (procedures) mouv KabodnyoLv Kal TPocavatoAilouy TIC EVEPYEIEC TNC.

Q¢ dlodikaoia opifouye €va OOVOANO EVEPYEIV TIOL OKOMO €XOUV TNV E€MITELEN TOU
€MBUUNTOL OMOTEAECHATOC OTO BEATIOTO XPOVO HE TNV HEYIOTN OOQPAAELD IOV UTIOPOUHE
VO EMITOXOVYE.

Tov GuVTOVIOUO IO
e dnuiovpyia véwv
e KOI EAEYXOU TWV LTIAPXOVCWV
J100IKOOIWV €XEL 0 E0WTEPIKOC EAEYKTNC (internal auditor).

Opwc Aoyo:

e Tnc e&EMEN TN TEXVOAOYIQC,

e Tnc¢ évtaong TOU avTaywviguoL Tou TPONABE oMo TNV TayKOoUIoToinan
01 d1adIKOGIEC YIVOVTOV PEYAAEC KOl TIOAUTIAOKEC,.

Opwc 10 peyaAlTepo mpdPAnua ival n eveAi&ia. Evelléia 0TI dueoeg aANayEC TOOO
OTOV OIKOVOUIKO 600 KOl 0TO VOUIKO TOpEN. Q¢ amoTEAETHUO AUTOU Ol EAEYKTEC, Ol
AoyioTtéC Kat ot financial managers atpd@nKav mPog Toug Pnxavoypa@oug (engineers) yia
TNV dnuiovpyia evoc opyavwuévou cuOTHPATOC dI0OIKACIWY OToL Ba :

o Ene&epydletal yeydAo OyKo TANPOQOPIRV

o TivovTtal KaTaxwpioelg Kal KOTaypa@EG OTOIXEIWY PE PNOaUIVA AdBn
e Eival eVEANIKTO OTIC OAAQYEC

e JIOKIVEL TANPOPOPIEC PE ATPAAEIN

e Melwvel duVOTOTNTO dOMWY EVEPYEIOV ATO TO TTPOCWTIKO

To oboTnua auto gival yvwoto oav Business Process Management (BMP) kai
TEPIYPAPETAL OTO MOPAKATW KEPAAAIO.



3. Business Process Management
To Business Process Management (B.P.M) ¢€ival pia cuotnuatonoinuévn mpoogyyion
TOU PE TNV XPAON TNC TEXVOAOYIOG EMITUYXAVEL TN CLVEXN BEATIOON TNC EMIXEIPNMATIKAG
amodoTIKOTNTAC, TWV EMIXEIPNUATIKWOVY OMOTEAECUATWY, TNV AVATTUEN Kal TNV €VEAIEia

TNC EMixeipnonc.
To B.P.M cav Bswpio Management gp@aviotnke e mpwipn poper To 1990 Kat 1o 2010

HE TNV XPron Tng TEXVOAOYINC TPE TNV GNUEPIVA TOU HOPYN.
To B.P.M. BAémel Tn¢ d1adIKATiEC pIOg EMIXEIPNONG GOV TIEPIOVCIOKO GTOIXEIO.

O1 01001KOCIEC OUTEC TIPETEL VO
e KoatavonBolv
e Alaxeipiofolv
e BeAtiwbolv

WOTE N €MXEipnon va Tapadwaoel 0TOUC TEAATEC TNG TPOTOVTA Kal UTINPETIEC LYNANC
nolotntag(aiac).

Mo va emitoxel To B.P.M auto 1o amoTéEAETpa Xwpilel TIC dlEpyaaieg yla eMIxeipnong o€
d1ad1KOCiEC TOU EKTEAOUVTOL OTIO GUYKEKPIUEVEC EVEPYEIEC.
To B.P.M cuoxétioe Tig 010d1IKaaieg Kal gvépyeleg Tng pe v IT (information
technology) wate va:

e €MTOXVVEL TO XPOVO OIEKTEPUIWUTEILC

e peyloTomoinan tnv emiBAeyPn

e undevioel T0 KivAuvo TWV AVOKOAOLBIWY Kal TAPEKKAICEWV TWV EVEPYEIWV

e OUCOXETIOEI TIC dlOdIKOTIEC METAED TOUG

Endpevog to B.P.M mA¢ov umiepTepEi amo To KAAGIKO 1EPOPXIKO Management Kal
EMIMAEOV EMITPEMEL GTOUC XPAOTEC TOU VA :

e opapoaTi¢ovtal-oxedialouy AEITOupyieg Kal S100IKATIEC

e KaBopilouvv T0 GTOXO TNC OANOYNAC

» KaBopidouv 1O TI €ival emiTLYia

e avaAlOULV KOI VO GUYKPIVOUV EKDOXEC-OXEDIN TWV OIEPYATIWV-EVEPYEIWV

e va BEATIOOOULY KOl Va ETIAEEOLV TNV BeATiwan Tou Ba EQapuOToLY

* VO TOPAKOAOUBOUV GE TPAYHOTIKO XPOVO PECO TWV XPNOTWY TNV

AMOTEAECUATIKOTNTO TOV OAAOYWV
e VO EMOVOOXESIATOUVY TIG OIOJIKATIEC aMO TO UNdEV

To peyaAOTEPO MAEOVEKTNMA TOL B.P.M gival o emavaoyedlaopog d10TI TPOPEPEL OTO
LTTAPXWV cOOTNUA TWV O100IKACIWV EVEAIEia. H gueAi&ia amoTeAei TO KAEIOI yia TNV
dnuiovpyia evog cwaoTol GUOTANATOC SIOBIKACIWY 0QOU pIa EMIXEipnan ival Evag
{WVTOVOC 0PYAVIOHOC TTOL TIPETEL VA TIPOCAPHUOLETAL OTIC GAAAYEC TOU TEPIBAAAOVTOC TN,
va oupBadilel ye TNV LTTAPXOLOO CTPOTNYIKI TNG EMXEIPNONG KAl TIC 1I0XVOUTEC
vopobeaiec.



To B.P.M d¢ev eoTidiel povo aTnV OUTOMATOTOINGN TV JI0JIKATIOV GAAO KOl TNV
OUMMETOXNA TOU aVBPWTOU w¢ XPNOTN. MIAGUE yia €va avBpwTOKEVTIPIKO c0OTNUA OToL 0
XPRoTNG maipvel yépo¢ atnv dladikaaia mapAAANAa PE TNV TEXVOAOYia Kal gival
LTTELBLVOC Y1 EVO CUYKEKPIUEVO apIBUO dladikaolwy. Aivetal n duvatotnta
d1OXWPIoHOU TWV O100IKACIOV amd TNV TEXVOAOYIO WOTE 0€ MEPIMTWAOELG TTOL KATA TNV
OIGPKEID OUTWVY TTapOoTEl N eméUPacn TNC avBpwmivng Kpiong Kal epmelpiac, n
d1odIKaaio va 0AoKAnpwvovTal and Tov dvepwro.




4. TPOMNOZ AEITOYPI'IAZ TOY B.P.M

To B.P.M xwpilel TIC dpactnpIOTNTEC TOU € 7 KOTNYOpPIEC:

1. AvdAnyn Tou TPORANPATOC

2.

3.

Z0AANWN TNC 13€0¢
ZXEJIOOUOC
Mpotunonoinon (Modeling)
Ektéleon

MoapakoAovBnaon

BeAtiwaon - Emavaoxediaopog

AvaAnyn Tou TPoBAAUATOC
To mpwto BrAua gival n avdAnyn tou TPOBAAKATOC aMd Pia oVTOTNTA. H avaAnyn
TOU TPOPBAAMOTOC YiVETAL Pe TNV OVABETN TOU GTOV engineer

Z0AANYN NG 10€0g
Mpémet va yivel n ene€rynaon tou TPORBARPATOC OTO engineer Kol T0 OMOTEAETHA
mou B€AEL N ovtoTnTa EMITUXEL. O engineer €X0VTac:

1. Katavonoel TNV @OON TOU TPORANUATOC

2. Ta anmopaitnTo dedouéva TOL TPOBARUOTOC
UTIOPEL VO GUPTIEPAVEL OV TO TPORANUA €ival EMIAVCIPO KAl Va EEKIVATEL TO
0XedIaoU0O TNE AbONC.

>xed1a0OG
Iivetal n avaAuan g uTapxouoag Katdotaong, evtomiovtal Ta c@AAUATA TV
d10QIKACIWV KOl TTPAYUOTOTOIETAL 0 EMAVOTXESIATHOG TOUC.

Mpotumnonoinon (Modeling)

H diadikacia TN mpotunonoinan avaAauBAavel va UAOTIOINGEL TOV OYESIOOUO TOU
OUCTHAMATOC WE TNV XPNON TWV KOTAAANAWVY EPYAAEIWV KAl va dNUIOUVPYNOEL EVa
HOVTEAO

EkTtéAeon

2€ QUTA TNV dPOCTNPIOTNTO EKTEAEITAI TO UAOTIOINUEVO POVTEAO WE TNV XpHoN
TWV KOTAAANAWV AoyIopIKQV pyaAeiwv (application, executable files k.AT.) kat
HEBBOWV.



e MapakoAolBnaon
H e@appoyn TiBeTal og dOKIPATTIKN TEPIOdO OTIOL EKEI:
Evtonicovtal anpdomnta AdBn, acuuBOTOTNTEC
Kataypa@ovtal ol TapoaTnpAoelg Kol UTIOJEIEEIC TOV XPNOTWV
ZUAAEYOVTOIL TA TPWTA OTOIXEID yia TNV a&I0AGYNaN TNC EQAPHOYNG

¢ BeAtiwon - Enavaoyedioopog (Re-engineering)
Y oTEPA OTIO TOV EVIOMIOHO TWV CQOAUATWY , TNV KATAYPOAQr KOl CUAANOYT TwV
anapaitntwv dedopévav Eekivael n diadikacia (emepyetat) n 610pBwan Kai n
BeATiwan g eQapuoync.

20V avTIKEiPEVO TNE mapovoag epyaaiag eival n xprion t¢ BMP yia tnv opyavwaon
NG MOPAKATW EMIXEIPNONC.




5. H EIMIXEIPHZH

To Ilvotito0to AloOnTIKAC Figura Helena Aeitoupyei and 1o 1983. H £dpa tn¢
gmixeipnong eival otnv HAIoUTIOAN ATTIKAC TNV 000 Hpowv KwvaTtavtonovAou 17.
2TOX0C TWV 13I0KTNTWVY €ival N TPOCPOPA TV TOIOTIKOTEPWV UTNPECIWV OTIC KAADTEPEC
TIUEC QVEEAPTATWC TOV OIKOVOUIKWVY GUYKUPIWVY TIOU EMIKPATOUV.
Mo va emTOXEl OUTOV TOV OTOXO TO AICONTIKO KEVTPO:

o £xel emevdLOEl GUVOAIKA TOUAAXIoTOV 500.000€ o€ €€0TAIOUO

e TPOCAAUPAVEL APTIO TPOTWTIKO

e TPOMNBeLETAL TIPOIOVTA TEPITIOINCNG TICTOMOINPEVWY KATATKELOTTWY

e OIEVPUVEL TOV ETIXEIPNUATIKO 0pilovTa TNC TPOCOETOVTAC VEEC UTINPETIEC.

Q¢ EAANVIKN emixeipnan dgv Eexvd To XpEOG TNE TPOG TNV EAANVIKI KOvwvia.
MPOoo@EPEL KOIVWVIKO £pY0 PETO:

*  TWV TPOYPOMMATWY TPAKTIKNAC GOKNONG TWV EKMOIOEVTIKWY 1OPUUATWY OTOoU
TPOCAQUBAVEL TPOTWTIKA YIO TNV PEPIKI OTEAEXWAOT TOU KEVTIPOU TTPOTPEPOVTOC
0ToUG LTIOYNEI0LC a1EONTIKOUC APTIO EKTAIdELON

e Al0pydvwaong OMIAIOV KOt GEPIVOPIWY PE BEPa TNV LyEia KAt TNV a1odNTIKA

e Anpiouvpyia 10TOCENIDOG PE OTOXO TNV EMICTNUOVIKN EVNUEPWOT TOU KOIVOU OF
Bépata Alobnuikng kat AlatpogoAoyiag (‘www.figura.gr')

6. YINAPXOYZA KATAZTAZH

Ot MeAdteg Tn¢ emixeipnong umepPaivouv Toug 1.600, ek Twv omoiwv o1 200-500 TNV
EMIOKENTOVTAL 0TOOEPA, TOUAAXIOTOV IO POPA TO EEAUNVO
Méxpt 1o 2011 to Figura Helena amaoxoAovoe 6 dtopa.

AOYW NG 0IKOVOMIKAC Kpiong, To 2011 avaykdotnke va mpoRei o€ Peiwan Tou xwpou
EYKOTAOTACEWC KO TOU TPOCWTIKOU.

XAuepa oto Figura Helena , epyadovtal eKToc amo tnv 1dputpla Aéva BAaoepol. n
a100NTIKOC KOOPETOAOYOC Mapia Kupldkn Kot n KAIVIKE d101toAdyog OAvpia
BAaaoepol.

H ev AOyw emixeipnon mapéxel 0T0 KATAVAAWTIKO KOIVO:

> [epimoinoelg mpoowmnou (evudatwarn, Babdia peeling, kabapiopog, cLOPIEN-
avtiyrpavan, K.a.)

Mepimoinoeig oopatog (Hacal, peeAe€oloyia, nAekTpobeparneia, K.a.)
Anotpixwon (kepi, evQupikn, NAeKTPIKN, IPL K.0.)

Al01ToAoyIKn LTOOTAPIEN

ALQVIKN TOANGN KOAAUVTIK®V TTPOTOVTIWY

V V. V V



ATO Ta OVWTEPW YIVETAL COQEC OTI N EMIXEipnaN €ival TPWTIOTWE EVIATEWC EpyaaTiag Kal
dEVTEPEVOVTWC EVTATEWC KEQOAQIiOU.

Ztnv mpoomdbela TNG yio Peiwaon Tou KAGTOUG dlaxEipiong, n EmXeipnon €KOVE APKETEC
npoondaBbele¢  pnxoavopyavwaonc. OAeC ol TMPOOTABEIEC ATMETUXAV HE OTOTEAECUO N
emixeipnon va e€akoAouBei va tnpei :

e Ta ogtoixeia Medatwv (tAépwvo, diebbuvan, email, K.a.)

e To 10TOPIKO TV TEAOTWV (KATACTOON LyEiag, TPOTIPNACEIC, AVAYKEC o€ Bepameia)

e Ta Pavtefol tng nuépag

e To lotopiko Twv PavtePol Tou Kabe meATN
g€ Xelpdypa@o aboTnua.

2T GUVEXELD, TIPOKEIUEVOL va KpatnBei apyeio, yivotav kataypa@n TV napandve oTov
H/Y 010 mpoypappa Microsoft Excel, To omoio QuOIKG dev EMapKOUTE JIOTL:
Aev ywotav guoxétion MeAdtn - PavtePou
Mapovaiaon lotopikol Tov PavteBol
ACQOA dl0TAPNON TWV OTOIXEIWV TOu TEAATN (OIMAEC €yypa@Eg, AdBoC
KOTOXWPNOEIC)
Amouaia kapTtéAa MeAdTn

ATd Ta MOPATAVEW QAIVETAL OTI UTIAPXEL AVAYKN UTAPENC YPAUUOTEIOKAS LTTOGTAPIENC 1)
TEPIOCOTEPO XPOVO OTMO TO UTIAPXOV MEIWUEVO TIPOOWTIKO (£QOCOV dEV UTIAPXEL TTAEOV
ypauuoTeia).

O Aoyo¢ ¢ amotuxiag @aivetal va ival n xpnon £T0IMWV TOKETWV AOYIOPIKOU Ta Omoia
EMEBAANOV TNV 0pYyAVWAN TN EMIXEIPNONC TMAVW 0 TMPOTUTO EMIXEIPIOEWY EVIATEWC
KEPAAQiOU (EUTIOPIKEC).

Kal ylo va 10 EKQPAow TIO EMIOTNUOVIKA «EBaav TO KAPO UTPOCTA OTO TO HOUAGPI».

H emixeipnon Bpédnke o€ éva dlaxelploTikO adie€odo. H diladikaaieq mov akoAouBolaoe
EKTOC 0TI ATav amod TNV @0ON Toug AavBaopEvec a@ol dev eixav aTnpixTei o€ KAMOI0
EMKUPWHEVO TPOTUTIO 0PYOVWHEVWV S1AdIKACIOV ATAV Kal adUVATO va AEITOUPYRCOLVY HE
TO LTTAPXWV dIOBECIUO TIPOCWTIKO.



7. HAYZH 2TO NMPOBAHMA

H AOon oto mpoBAnua gival anAn. Ztnv etaipeia npénel va dnuiouvpyndei éva cbotnua
d10d1KaaIWV OTov Oa:

e Y)homoinBei pe pikpd Ke@AAaIO

e AcIToupynoel pe PIKPO OpIBUO TPOTWTIKOV

» Eival ebkoAn n vAomoinon twv d1adIKAGIOV

e AVTIKOTOOTACEL TNV YpauUaTEia

e Eival aképalo, ac@aAEC Kal Xwpic o@aAuata

To cbotnua Figura Helena Ba avaAapfaver:
e To KAgiowo pavteBol
e Tnv mapouaiaon Twv pavteRol
e Tnv enegepyacia Twv pavieBol
e Tnv dnuiovpyia Baong mEAAT®Y
e Tnv dnuiovpyia KapTEAOG TEAATN
e Tnv eneéepyacia Twv oTOIXEIWY TOU TEAATN

8. MPOAIATPADEZ

To g0OTNUO TO OTOI0 UAOTIOINCAUE OXEAIAOTNKE VO £XEL TIC TOPOKATW TPOSIAYPAPEC.

MepiBdAAov xprotn Internet browser cupfatd ye HTML4 4 HTML5
AuvatotnTa TOAVYAWOooU  YTOOTAPIEN WEXPL 6 YAWCOWV

Avvotétnta Multiuser Ynootpi€n session mamagement

Avantuén epapuoync J2EE (httD://www.weboDedia.com/TERM/J/J2EE.html)
Opydvwan Oed0UEVHV Zxeolokn Baon mAnpogopiwv (RDBMS)

HTML: eival yia yA\wooa TpoypapupaTiopol o XPNOIUOTIOIEITal WOTE Ol TIEPINYNTEC

(Internet Explorer, Opera, Firefox K.T.A.) va mpayyotonoijoouvv dounacn oeAidwv WEB.

Multiuser: ovopaZetal pio epappoyn, 0tav £xel TNV SLVATOTNTA VO XPNCIUOTOIEITAL OO

TOANOUC XPOTEC MAPAAANAQ, XWPIC 01 EVEPYEIEC TOU EVOC, VO TTAPEUTIOdIOULV TIC
EVEPYEIEC TOU GAAOU.

J2EE: cival BiBAI0OAKN TN¢java n onoia LAOTIOIED EQOPUOYEC OPXITEKTOVIKAC 3 EMIMESWV

(3-tier). H ApXITEKTOVIKI TOU Ba Xpnaoiyomolrjoouye gival ot Servlets.

Servlets: givaljava mpoypAuuaTa TO OTOI0 UAOTIOIO0V OU@idpOUN EMIKOIVWVIO PETAED
e MepinyntA (web browser)
* KOl application server.

10


http://www.weboDedia.com/TERM/J/J2EE.html

H vAomoinon tou cuoTtruatog Ba yivel 0TIC TAPAKATW PATELS

®don  X10X0¢
1n o ZXedIaoNOC
e YAomoinon
« A&toupyia
e MapakoAovBnon
TOU GUOTAPATOG CUPPWVA PE TIC TEBEITEC TPOSIOYPUPECS
2n BeAtiwon tng epapuoyng
AuvatotnTa Tou MEAdTN va
e KAeioel Pavtepol
e OE1 TNV KAPTEAQ TOU

e TO Internet
* Android app

210 mAaiola ¢ mapolong epyaaciag £xet vAomoindei n Inedon evw €xouv Tebei o1 Bacelg

yla v 2n.
9. TEXNIKOI OPIZMOI
E@apuoyn (app) Eivai n diadikaoio avtaAllayng mAnpogopiog Yetagu
avOpwTou Kal UTIOAOYIOTH.
Xpnotng (user) 0 avBpwmog o omoiog xpnolPoTmolEi pla EQappoyn.
Awadikaaia (Process) H dlakpIth A&ttoupyia piag EMIXEipNoNg N onoia €xel

e &va 0TOXO
e apxn, péan Kal TENOC
Mia S1adIkaagio vAoTiolEiTal amd éva ) TTEPICCOTEPQ
BrjuaTo.
Brua Awadikaaiog (step) Eival n 610dpaoTikf Asitoupyia KATa TNV omoia
1. n Egappoyn {ntd and Tov Xpraotn
TAnpo@opia
2. 0 xpnotng divel TNV mANpogopia atnv
Egappoyn
Session H extéAeon piag Aladikaaoiag ano Eva Xprotn. H
dladikaacia apyilel Kal TEAEIOVEL PEaa a€ Eva
napdbupo (Window) evag umoAoyiaTr).
Bdaon MANpo@optwv Eival n anoBrkn mAnpo@opiwv pio¢ EQapuoync.
210X0¢ TN Baaonc ival n dlotRpnon Twv
TANPOPOPIOV OKOUN KAl 0TAV 0 UTIOAOYIOTAC €ival
EKTOC TOONC.

u



10.

AIAATKAZIEZ

O xpnotng P TNV Xprion tne epapuoync Ba akoAovbei TNg mapakdtw Siadikaaoieg Omou
Ba mapouvaialovtal péoo evag interface BnuatioTh.
O1 d1ad1Kaaieg mapoua1ddovTal OVAAUTIKA 0TOV TOPAKATW TiVOKa

10

12

13

14

15

Ovopa
Néo dtopo

AM\ayn
oTolIXEiWV atopou
Awaypa@n atduov

2XOAI10 yia dtopo

Awaypaon
oX0Aiou
Néo Pavtefou

Alaypagn
Pavtepol

ATOAOYIOUOG
Pavtepol
Mapouaioaon
aTtopou

Mapouaiaaon
Pavtefol
Pavtefol ava
nHépa

PavteBol ava
UTAAANAO
KAgiowo nuépag

MoOAAATAG KIvnTa
TNAEQWVO

AG6o¢ Kivnta
TNAEQWV

Aertoupyia
MeTapoAn

MeTapoAn
MetafoAn
MeTapoAn
MeTapoAn
MetapoAn
MetaBoAn
MetafoAn

Evnuépwan

Evnuépwan
Evnuépwan
Evnuépwan
Evnuépwan

Evnuépwoan

Evnuépwan

> TOX0G
H kotoxwpnon Twv TPOCWTIKWV GTOIXEIWVY EVOC
véou ATopou atnv Baan mAnpogopiwv
H evnuépwan tng Baong pe ta véa atoixeio evog
ATtdpou
H diaypa@r) 0Awv Twv OToIXEiWV Ta omnoia
a@QopPOLV GUYKEKPIUEVO dTopo amo tnv Bdon
H kataxwpnon evog oxoAiou 1o omoio agopd
OUYKEKPIPEVO ATOUO
H d1aypa@r oLyKeKPIUEVOU aX0Aiov amo
OUYKEKPIPEVO ATOUO
H dnuioupyia evog véou pavtePou yia
OUYKEKPIPEVO ATOUO
H Alaypa@r ouykekpiuévou pavieBol and
OUYKEKPIPEVO ATOUO
H katoxwpnon 0IKOVOUIK®OV gToIXEiwv Ta omoia
a@OPOLV CUYKEKPIUEVO pavTePoOU
H Mapovaiaon twv

1. TMpooWMIK®WV OTOIXEIWY

2. Pavtefol

3. ZXoAiwv
TO OTIOI0 POPOUV CUYKEKPIUEVO GTOMO
H napouaiaon 6AwV Twv pavieBol

H mapouacioon 0Awv Twv pavteRou Ta onoia
a@opolV GUYKEKPIUEVN NUEPQ
H napouaioon 6Awv Twv pavteou Ta omnoia
a@oPoUV CUYKEKPIPEVO UTTAAANAO
H mopouagiaon Twv 0IKOVOUIK®OV GTOIXEIWY yia
OAO Ta pavtePol CUYKEKPIUEVNC NUEPOC
H mopouagioon 0Awv Twv oTOUWVY Ta OToia €X0LV
T0 id10 KIVNTO pe AAAa atopa (bavr dImAR
Kataxwpnan)
H mapouagiaon 6Awv Twv OTOPWY TwV OTIoIWY Ta
KIVNTA £xouv Kataxwpnbei Aadoc.

MINAKAZ 1
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11.

APXITEKTONIKH XYZXTHMATOZ Figura

Helena

To Z0oTtnua Figura okoAouBei TNV apXITEKTOVIKN Twv 3 emimédwv (3 tier Architecture)
Onw¢ autr) meptypdoetal ato http://en.wikipedia.org/wiki/Multitier architecture

2T0 OXNMa oL aKOAOULBET @aiveTal N vAomoinan TNE €V AOYW APXITEKTOVIKN 600V

agopd

* To Kk@&B¢ eminedo

e TaMPWTOKOAAD EMKOIVWVIAC HETAEL TV EMIMESWV

Eninedo
Mapouvaiaong

Emninedo
A\OYIKNAC

Eninedo
MANpPo@opPIQV

Internet Browsers cuppatoi pe HTML 5.0

X
* Microsoft Internet Explorer
* Mozilla Firefox

http

Y\omoinon oe Java Servlets

Apache Tomcat oav Servlet container

Oracle 10g XE (Express Edition)

*  €AebBepng xpriong
*  apXITEKTOVIKNG 32-bit yia Windows

2ZXEAIATPAMMA 1
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http://en.wikipedia.org/wiki/Multitier_architecture

12. 2XEAIAZMOZ BA>H NMAHPO®OPIQN

2T0 OXNMO TOU aKOAOUBET @aivovTal Ta UTOCUCTAKATA TNE BACTNE TANPOPOPIWY KABWG
KOl N A&IToupyia Tou KABe LTTOCLOTAMATOC.

User Management

Multilingual Management

Business Management

Procedure Management

KoaBopilel

e Toug XpNoTeq

e Tnv ao@dAcia mpocBaang
NG EQUPHOYNG

Ymoatnpilel Tnv duvatdtnTa TOU
OUOTHMATOC YIO EMIKOIVWVIO T€
TEPIOTOTEPEC AMO pia YADOTEC

AT0BNKEVEL TIC TANPOQOPIEC O1 OTOIEC
eival amapaitnTeg yia tnv Asitoupyia tng
emxeipnong

Ymnoaotnpicel Ti¢ diadikaaiec (Procedures)
WC TPOC TNV :

e EkTtéAeon

» TMoAuxpnotikotnta (Multiuser)

SXEAIATPAMMA 2
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Ta dedopéva TNEC EQaPPOYAC avKOLV OTIC TOPOKATW KATNYOPiES

>T00epa dedopéva Zav otafepd opidovtal Ta ddopEva Ta omoia amaitolvTal yia
NV XPon g EQapUoync, aAAd dev umopolv va petaBinbolv
and Toug XPNOTES TNG.

MetaBAntd dedopéva Zav JeTapAnTd dedopéva opidovtal Ta dedopEva Ta omoia
HETOBAAOLVY 01 XPNOTEG HETW TNC EQAPMOYNC.

Ev guvexeia meplypd@ovTal To UTOGUCTAPOTO TN EQUPHUOYNC

YTooUOoTNUO User Management (Alayeipnan Xpnotov)

To MPOOWTIKO TNE EMIXEipNONE pmopei va eivat:
+  XpRoTeq TG EQapuoyng
e [d&poxol Twv UTINPECIWVY TNE ETXEIPNONC TPOG TOUC TIEAATEC.
* Kaita dvo

To unocOoTnUa auTo amoTeAEiTal and éva apxeio To omoio kabopilel
o Tignapapétpoug npoaPacnc (login kat password) kKaBe xprotn
e Ta otoixeia Touv Xpriotn (Ovopa, Emwvupo)
e Tnv 1310TNTO TOL XPAOTN

Ovopa Apxeiou Eyypagéc Mepypaon
1 CFG USR 4  XpAoTeC EQAPUOYNAC
MINAKAZ 11

YmooUoTnua Multilingual Management
To vmooVOTNUO OUTO aMOTEAEITAL OTO €va apxeEio TO omoio Kabopilel Ty meplypagn
KGBE ETIKETAC TNV OTOIO XPNOIKOTOIEL N EQapUOyN.
To apxeio €xel duvatdTnTa LTIOCTAPIENG HEXPL 6 YAWTOWV.
Ovopa Apxeiou Eyypagéc Meptypaon

1 CFG LBL 180 ETIKETEC EQUPUOYNC
MINAKAZ 1.2
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Ymnoouotnua Business Management

To ev AOyw umooLOTNUO amobnkeLEl Kat dlaxelpidetal ta dedopéva T0 OToI aPopoLV
auIy®E TNV AsIToupyia ng emixeipnanc.

2T0a0epa dedopéva
2TOV TivaKa Tou aKoAoLBEi @aivovTal Ta apxeia Twv oTadepwV dESOUEVWV.
Ovoua Apxeiov EYYPaQEC ; 1- v ik [a

1 OBJ FKEYS LOI 2 ®UMo meAaTwv (OnAUKG, Apoeviko)
2 OBJ FKEYS L15 617 Mikpa ovopata MeAatwy
3 OBJ FKEYS L04 1213  Tayxudpouikoi Kwdikoi
4 OBJ FKEYS LO02 11 HAIKIOKA opada TEANTWY
5 TRT O 7 Opadeg Ynnpeoiwv
6 TRT 1 21 Ynnpeoieg (Mpotdvta)
MINAKAS 1.3
MeTaBAntd dedopéva
21OV TiVOKO TOU aKOAOUBEl @aivovtal apxeia HETABANTWV O£d0UEVWV TOU
UTTOCUCTAMOTOC
Ovopa Apxeiou Meptypaen
1 OBJ HUM duoikd pdcwa (TEAATEC)
2 OBJ RDZ PavteBol (Rendezvous) TEAATWV yia Bepameia
3 HUM CMT Zx0A1a Tou a@opoLY Ta PUCIKA TTPOCWTA
MINAKAS 1.4
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Zxnua Ynoouotnuatoc (Database schema)

>XEAIATPAMMA 3
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Ymnoouotnua Atadikaotlwy (Procedure Management)

To ev AOyw uTOCLOTNUO OTOBNKEVEL TA GTOIXEIO TTOL AYOPOLV TNV
e Tnpnon Twv d10dIKACIWY TNE EMIXEIPNONG.
e Alaxeipton moAAamAwv xpnotwv (Multiuser)

To unocVOTNUO anoTEAEITaL and Ta akOAoLba apxeia
>Tabepd dedopéva

21OV TivaKka Tou aKoAoLBei @aivovtal Ta apxeio Twv oTtadepwv dEdOUEVWV.
Ovopa Apyeiov  Eyypagég Meprypoon

1 PRC O 4 Opoadomnoinan diadikaciwv (Menu)
2 PRC 1 15 AlodiKooieg

3 PRC 2 46 Bnuota Alodikaaiag

4 PRCUSERS 60 Zxéon Xpnotwv pe AlOdIKOGTIEC

KoaBopilel Ti¢ Aladikaaieg TI¢ onoieq pmopei va
XPNOIUOTOINGEL 0 KABE XproTng

MINAKAS 15
MeTaBAnTd dedopéva
2TOV Tivaka Tou akoAoubei @aivovtal apxeia peTaBANTOV dEdOUEVWY TOU
UTTOCLGTAMPATOC KOl 0popolv To Session Management.

Ovopa Apxeiou Meptypan
1 SES 0 Session
2 SES 1 Brjuata tou Session

MINAKAS 1.6
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ZXAMA UTIOCLOTHPOTOC

PRC_0

PRC_1

PRC 2

Mo Adyouc mapakoAovBnang Tn¢ porg to Session XML kaBe Bruatog ypageTal o€

apxeio oto C:\fotis\TEMP

PRC_USR

CFG_USR

SES_0

SES_1

2XEAIATPAMMA 4
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13. Session Management

2710 http://en.wikipedia.org/wiki/Session (computer science) diveTal avoAUTIKN
TEPLypa@n Tou Session.

To Internet (mMpwTOKOAAO http) dev Tnpei a@’ eavtouL session (Stateless) Kal CLUVETKE N
TAPNON TOU Session EMOQIETAL aTNV EQAPUOYT).

210 OXAUa mOu akoAouBEi aiveTal n vAOTIOINGN TOU Session OTWG OUTH €YIVE TNV
EQapHOYN pac.

Session 1
BAua 1 A
O Application Server
BAua 2
MoapaAafn Kal
anoBnkevon XML
, TAPAPETPWY
Biuan TPEXOVTOC BAMATOC
Session 2 Anuiovpyia Kal
anoaToAr] OBovng
8 | (HTML) emopévou
P ] BriaToc
<+ | Brjua 2 ‘
Xpnotne n B B
W PRC 1 SES 0
PRC2 SESI
Database Server
IXEAIATPAMMA 5
I\

Xpnotng 1


http://en.wikipedia.org/wiki/Session_(computer_science

14. TATIPOBAHMATA

Katd tnv vAomoinon tn¢ EQapuoyn¢ EMPETE va POVOSIKOTOINOW TOUC TEAATEG aTnV Bdon
dedopevwy. H emitevgn autou yivetal pe 10 epyaAeio tng oracle to primary key
(mpwTeLOV KAL) Mapadelypa mTpwTeLOVTOG KAEWSI0U gival o A.®@.M 10 AAM.K.A.

To A.®.M ka1 to A.M.K.A gival povadika yia Kabe EAAnva moAitn.

Molo Ba ATav OUWE To TPWTEVOV KAELDI yia Tou¢ meAATEC Tou Figura Helena;

H mpwteg pou okEWNC ATav va opIoTEi Eva oMo Ta MOPOKATW:
*  HAia
e TnAépwvo

Yotepa and gulitnon pe tnv OAvumio BAAGEPOL POU avaQEPE TIC TAPOKATW
IO10ITEPOTNTEC TWV TEAATWY TOU KEVTPOU:

e Oplopévn MEAATEC BEAOUV VO EVOUY OVWVUHOL
e Aegv gival QIKTO va pwTATE N NAIKIa
e Aegv gival TAVTA €QIKTH N KATOXWENGOT TNAEPDVOL

H Abon nmou 366nke gival 0TI e TNV Kataypaen KaBe meAdtn ba divete g€ auTOV €vag
OEIPIOKOC OPIBUOC OTIO TNV EQAPUOYN.
Katd tnv mapakoAoubnaon

Me tnv A0GnN TOU TOPATIAV® TPORAAUATOC KO UETA TNV LAOTOINGN TNG EQOPHOYNAC
ETIPETE VO EMEABEL TO OTAdIO TNE TAPAKOAOVBNONC TNC.

Kotd tnv d1dpKela TNC AEITovpyioag TNE EPQAVIOTNKAVY :
e MpopAfuata cupBatdTnTac We d1APOPOUG TIEPINYNTEC
e ZUMBATOTNTO EAANVIKWOV XAPAKTAPWY
» Ep@dvion Exceptions “Sony we have a technical problem”

Omou TeAIKOC Kal avTtd ADOnKav.
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15.TO ANMOTEAEZMA

2T0 a1oONTIKO KEVTIPO AEITOUPYEL EMITUXWE N EQAPHOYN HE OAEC TIC TPOJIAYPAPES KAl
d10dIK0oieg mou TEBNKav aTnV apxn TNC avaAnyng Tou £pyou.
MA€ov o1 epyalOueVOL XpNOIUoToIo0V TNV EQOPUOYH YIO TO KAEIOIUO TwV pavteRou.

Kota tnv 81dpKela TOu KAEIGIMATOC pavTeROU d1a TOU TNAEPWVOU N QOPUOYT KOBOdNyEL
TOV XPNOTN WOTE Va:

*  Kotaypd@el 0woTd Ta gToIXEin TOU IEAATN

e Evtd&el 0Aa Ta amopaitnTa oToIXEia 0TV KAPTEAN TOUL TEAGTN

To kAgioIuo TV pavtePol dev amaltei TNV QUOIKA LTIAPEEL TOL EPYALOPEVOL OTO XWPO
NG ypappaTeioag.

Me TNV Xprion acUPPOTOU TNAEQPWVOU KOl CUOKELNC PE TPOGBaan oTo iniemiPBi yéoo evag
TePINYNTA €ival duvaTov va yivel To KAEICIPO TOU pavtefol o€ OMOI0OATIOTE XWPO TOU
alodnTIkoO Kévtpou( aiBovoa pacdld, a1oBNTIKAG TEPIMOINONE KTA)

To peyaAlTEPO EMITELYUA TNG €QOpPUOYNC €ival OTL eival cupPfatr Pe OAOUG TOUG
EUTIOPIKOUC TEPINYNTEC

‘Exovtag dnuioupynaoel hia owaoTtr) Pdaorn dedopEVWVY Kal EVEAIKTEC d1adIKaaiec ol

epappoyn Ba pmopEael va eEEAiXBN Kol va TOPEXEL TEPICCOTEPEC UTINPETIEC OTOUG
XPNOTEQ
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16.The next step

META amo TNV AEITOUPYia EVOC XPOVOU Kal TNV GUAAOYN TWV KOTAAANAWVY OTOIXEIWV Kal
TEXVOYyVWaiog n epapuoyr a:

e Avapabuiotei

e EmnavoaoyxedilaoTtei (reengineer)

O1véol atoxol givat:

e Mnxavoypa@IKr Tpnan tou Tapeiov

«  Mnxavoypa@Ikn tripnan g anobrikng

e EVOWPATWON TWV TNAEPWVIKWOV KANCEWY PJECA OTNV EQAPUOYN

e Evioxuon tng dla@riuiong péoo xpriong sms

« Anpioupyia application yia kAgio1po tou pavteol amo Tov MEAGTN
e BeAtiwon tou ypa@ikol mePIBAAAOVTOC T EQAPUOYNAC

e Mnyxavoypa@nuévn Tpnon Tou Taueiov.
H d1adikagio oAoKAfpwang Tou paviefol cuvenayetal tnv eiompagn apoifnc. To
dBpolopa Twv apoIB®V amoTeAEN TO Tapeio. ZTo TEAOC TNC NUEPAC EXOUHE TO KAEITIPO
TOU TaWEiov.

*  Mnxavoypag@nuevn tpnaon ¢ anodnikng.
H emixeipnon xpnoipomnolei VAIKA (KOAAUVTIKE KATD). Ta UAIKG TwAoUVTaAL ¢ EXOLV I
KatavaAwvovtal Katd to pavteBol. H tipnon amobnikng 6a Bondrosl atov EAeyxo
TOU KOOTOUC.

» KootoAdynon
O UTIOAOYIOHOG TOU KOGTOUC VA PaVTEBOUL €ival GNUAVTIKOC OTNV OMOTEAECUATIKI)

dloiknan ng emixeipnang.

¢ EVOWPATWON TWV TNAEQPWVIKWOV KANCEWV HECO GTNV EQAPUOYN
2T0 KATAXWPNHUEVO TNAEPWVO TOU TIEAATN Ba LTIAPXEL N dUVOTOTNTA KA ONC TOU
aplBuol Péoa amo TNV EQapUoyN.

e Evioxuon tn¢ dia@riuiong g€oo xpriong sms
©a umapxel N duVaTOTNTA PALIKAC OTOGTOANG SMS GTOUC TEAATEC TOU aIGONTIKOU
KEVTPOU yIa:
1. Mpoo@opég
2. Huepideg
3. OpIAigg

PE OTOXO TNV d1a@rpIon TNE EMIXEipnong.
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Anuiovpyio  application  yia  KAsiolpyo TOU  paviefol  amMO TOV  TMEAATN
O neAdtn¢ péoo piag android epapuoyn¢ Ba pmopei va KAgivel povog Tou paviePol
KOl vO  EVNUEPWVETAL  ylO  TIC  OlOBECIYEC  WPEC  TOL  UTIAPXOULV.
‘ETol amodeopeVETal XpOVOC OMO TO TPOCWTIKO YIO YPOUMATEIOKN UTIOOTAPIEN.

BeATtiowoon Tou ypa@ikol mePIBAANOVTOG TO EQAPHOYNG

H epapuoyn 6a dlopop@wOEel ypa@IoTIKE GUPPWVA HE TIC ATIAITACEIC TWV XPNOTWV.
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17.EMAOI oz

©a rBeAa va evxapIoTHOW OAOUE TOUC aVOPWTOUC IOV PE BorBnoav WaTe va
dnuiovpynBei auth n epyaacia. Tnv oOIKOYEVEID POV TTOU KOTAQEPE va e BonBnael va
OAOKANPWOW TOV KOKAO TwV GTIOUSWV HOU.

TNV PVAUN Tou @ilou pou Xpiotou Boylatdr mou and PIKPO PE EVTAgE 0TO XWPo
NG TANPOPOPIKNE KA1 VO TNV EVOTOBECW OTIC EMOPEVEC YEVIEC TWV POITNTWVY TOU
ATEI MEAOIMONHZZOY.

Me mapolaa epyaaia diEPevaa Tou¢ EAANVEC 01KOVOUOAOYOUC KOl TIOAITIKOUC TIOU
Ioxupidovtal Tw¢ 0 AAOC MOG EXEL YEVETIKEG OVWMAAIEC.

O EAANVIKOC AOC OV €xel Kapia yeveTIKA avwpoAia. Mmopei va opydvwan tnv
XWPa TOU Kal TIG EMXEIPATEIC TOU.

A@oU eneTelYON amo éva teAelo@olto onmoudaoth Tou ATEI MEAOMONHZZOY n
opyavwaon Jlag mixeipnong ot UTGAOITOL YIOTI VO Unv pmopouue; ‘Oxt Yévo
UTIOPOUKE KOl EXOUHE TNV IKAVOTATO VO TO TPAEOVUE AAANG UTIOPOUME VA YiVOUUE
AVTAYWVIOTIKN Kal Vo EELYIAVOUUE TOV ANPAaCI0 ToEQ.

H EAAGSa dev gival pia akdBaptn xwpa gival 100TIHo PHEAOC TNS Evpwmaikig
‘Evwong.
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KQAIKAZ

/=— Authentication Servlet */

/*-- Menu step 1. Receives Login and Password --*/
/*

import libs.*;

import java.sql.*;

import javax.servlet.*;
import javax.servlet.http.*;
import org.w3c.dom.*;

public class M1 Servlet extends HttpServlet

public void service(HttpServiletRequest req,HttpServletResponse res)

String m ="Ml Servlet";
Connection conn = null;

try
String eip = /I—External Host IP
String cip =™""; //- Client IP
String nam = ",
String pwd ="";

int Ing = Gen.atoi((String)req.getParameter("LNG")); if(Gen.isEmpty(Ing)) Ing=I;
try

nam = (String)reg.getParameter("NAM");
pwd = (String)req.getParameter("PAS");

eip = (String)req.getHeader("host"); //-- The host IP (from which we got the
request)

cip = (String)req.getRemoteAddr();  //-- Client IP

}
catch(Exception n) {}

if(Gen.isEmpty(nam)) getout(res,Ing, 140,141);
else if(!Gen.isWORD(nam)) getout(res,Ing,140,142);
else if(Gen.isEmpty(pwd)) getout(res,Ing,140,143);
else if(1Gen.isWORD(pwd)) getout(res,Ing,140,144);
else

conn = Gen.doConnect();
int uid = -1; /l-userid

String unm =""; //- user name
String[] rr = getUID(conn,nam);
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if(Gen.isEmpty(rr))
getout(res,Ing,320,-1);

else
if(Gen.atoi(rr[2])==I) getout(res,Ing,322,-1);
else if(Gen.isEmpty(rr[I])) getout(res,Ing,322,-1);
else if(!rr[ 1].toUpperCase().equals(pwd.toUpperCase())) getout(res,Ing,321,-1);
else

{uid = Gen.atoi(rr[0]);
unm = rr[3];

¥
}

if(1Gen.isEmpty(uid))

HtmIForm frm = new HtmIForm(l);

frm.LNG = Ing;
frm.EIP = eip;
frm.FRV[0] =
frm.FRVI[I] ="M2"
frm.FRV[4] = unm;

frm.FRV[15] = APL.get LOGO();
frm.PRM[0][0] = "MNU";
frm.PRM[O][I] = getPRS(conn,uid,Ing);
frm.PRM[0][4] = Gen.fix_HIDDEN("UID",uid)
+ Gen.fix_HIDDEN("LNG",Ing)
+ Gen.fix_HIDDEN("EIP" eip)
+ Gen.fix_HIDDEN("CIP"cip)

frm.PRM[0][8] = fixJS();
frm.PRMIJO][I 1]= "Main_Menu”;

String prs = new Presenter(frm).getPRS();

Gen.Transmit(res,prs,m);

}
¥

catch(Exception e) { Gen.err(res,null,m,e.toString());}
finally { Gen.doDisconnect(conn);}

¥

[*—getPRS- */
/*-- Returns Presentable part —*/
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/* */
private static String getPRS( Connection CONN
,int  UIDJN

,int ~ LNG IN)
throws Exception

String m = "getPRS";

String outp =
try
String prs =

String  gry = "select MNU_ID,LABEL_ID from PRC_0"
+ " where MNU ID in"

+ ("

+ "select PRCO.MNUID a"

+ " from PRCO"

+ "PRC_1"

+ ",PRC_USERS"

+ "where PRC_0.MNU_ID=PRC_1.MNU_ID"
+ "and PRC |.PRC_ID=PRC_USERS.PRC_ID"
+ "and PRC_1.IS BLOCKED=0"

+ "and PRC_USERS.USR_ID="+UID_IN

+ " group by PRC_O.MNU_ID"

+ "

+ " order by ORD ID"

String[][] rr = Gen.Qry2Array(CONN,qry);
int len = Gen.getLEN(rr);
for(intj=0;j<len;j++)

int  mnu = Gen.atoi(rr[j][0]);
String nam = Gen.get_LABEL(CONN,Gen.atoi(rr[j][I]),LNG_IN);
prs += getLIN(mnu,nam,(j=0));

}
outp += "<TABLE>";
outp += prs;

outp += "</TABLE>",

}
catch(Exception e) {throw new DBException(rn,e.toString()); }
retum(outp);

¥

/*—get_LIN--------- */

/*—Returns a Line —=/
L e e */



private static String getLIN( int PRC_IN

, String NAM_IN

, boolean FTM_IN) //-- is First Time
throws Exception

String m = "getLIN™;
String outp =
try

outp += "<TR>",

outp += "<TD><INPUT name="MNU' type=RAD10 value=""+PRC_IN+"
if(FTM_IN) outp += " CHECKED";

outp +=

outp += "<TD style="cursor:pointer;' onClick=z(this);>"+NAM_rN;

outp += "</TR>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}

private void getout( HttpServletResponse res
, Int LNG
, int M1
, iInt M2)

throws Exception

{
String tmp = Gen.doProblem("MI",LNG,MI,M2);
Gen.Transmit(res,tmp,"getout");

}

[*-- getUID - ..o */
/*—Returns the UID for a given LOGIN --*/
[*-- May be Empty --*/

L e */

private static String[] getUID( Connection CONN
, String LOG IN)
throws Exception

{

String m = "MlServlet.getUID["+LOG_IN+"]";
String[] outp = null;

try

{
if(Gen.isEmpty(LOG_IN)) throw new Exception("empty_UID");

String  qry = "select USR_ID"
+ ",USR_DESCR"



",IS_BLOCKED"

",U_LOGIN"

",U_PASWD"
+ " from CFG USR"
+ "where U_LOGIN is not null"
+ "and U_LOGIN=""+LOG_IN+™M
"

String[][] rr = Gen.Qry2Array(CONN,qry);

int len = Gen.getLEN(rr);

if(len==0)

outp = null;
else if(len==I)

+ + +

outp = new String[4];
outp[0] = rr[0][O]; //-- uid
outp[l] = rr[0][4]; //- pwd
outp[2] = rr[0][2]; //-- Blk
outp[3] = rr[O][l]; //-- Name
}
else
throw new Exception("Wrong_len ["+qry+"]");

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥

private static String fixJS()

String s =

s += "<SCR1PT LANGUAGE=JavaScript>";
s += "function z(bb)";

s+=

s += "var tr=bb.parentNode;";

s += "var rO=tr.children;";

s += "var t0=r0.item(0);";

s += "var rl=t0.children;";

s += "var bl=rl.item(0);";

s += "bl.checked=true;";

s += "document.getElementsByName('B')[0].click();";

s+="}"
s += "</SCRIPT>";
retum(s);

}
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[*—Menu step 2. Receives MNU,UID and LNG —*/
/* */

import libs.*;

import java.util.*;

import java.sql.Connection;

import javax. servlet.*;

import javax.servlet.http.*;

import org.w3c.dom.*;

public class M2Servlet extends HttpServlet

public void service(HttpServletRequest req,HttpServletResponse res)

String m = "M2Servlet";

Connection conn = null;

try

t .
int  mnu = Gen.atoi((String)req.getParameter("MNU"));
int uid = Gen.atoi((String)req.getParameter("UID"));
int Ing = Gen.atoi((String)req.getParameter("LNG"));
String eip = (String)req.getParameter("EIP");
String cip = (String)req.getParameter("CIPNt

String gry = "select PRC_1.PRC_ID,PRC_1.LABEL_ID"
+"fromPRCI"
+ ",PRC_USERS"
+ "where PRC_1.PRC_ID=PRC_USERS.PRC_ID"
+ "and PRC 1.IS_BLOCKED=0"
+ "and PRC_1 .MNU_ID="+mnu
+ "and PRC_USERS.USR_ID="+uid
+ "order by PRC |I.ORDID"

5

conn = Gen.doConnect();

String[][] rr = Gen.Qry2Array(conn,qgry);
int len = Gen.getLEN(rr);
if(len==I)

int prc = Gen.atoi(rr[0][0]);
String tmp =

Gen.fixServlet("X0O")+"?UID="+uid+"&LNG="+Ing+"&PRC="+prc+"&EIP="+eip+"&

CIP="+cip;

ServletContext ctx = getServletContext();
ctx.getRequestDispatcher(tmp).forward(req,res);

¥
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else

String des = Gen.getMenuDesc(conn,mnu,Ing);
HtmIForm frm = new HtmIForm(l);

frm.LNG = Ing;

frm.EIP = eip;

frm.FRVIO]
frm.FRVI[I] ="M3"
frm.FRV[4] = Gen.get_UsrName(conn,uid)+" ["+des+"]";
frm.FRV[15] = APL.get LOGO();
frm.PRMJ[0][0] = "PRC";
frm.PRM[0][I] = getPRS(conn,uid,Ing,rr);
frm.PRMJ[0][4] = Gen.fix_HIDDEN("UID",uid)
+ Gen.fix_HIDDEN("LNG",Ing)
+ Gen.fix_HIDDEN("EIP",eip)
+ Gen.fix_HIDDEN("CIP" cip)

frm.PRMJ0][8] = fixJS();

frm.PRM[O][I 1]= des;

String prs = new Presenter(frm).getPRS();
Gen.Transmit(res,prs,m);

¥

catch(Exception e) { Gen.err(res,null,m,e.toString());}
finally { Gen.doDisconnect(conn);}

¥

[*—getPRS....ccciie */
/*—Returns Presentable part —/

private static String getPRS( Connection CONN
,int UiD IN
,int LNG IN
, String[][] ARR IN)

throws Exception

Stringm = "M2.getPRS";
String outp = "";
try

String prs = "";
inth len = Gen.atoi(Gen.getOne(CONN,"select count(*) from OBJ_HUM™"));

intr len = Gen.atoi(Gen.getOne(CONN,"select count(*) from OBJ_RDZ where
RD zZD AT>trunc(sysdate)"));
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intt len = Gen.atoi(Gen.getOne(CONN,"select count(*) from OBJRDZ"));

int c_len = Gen.atoi(Gen.getOne(CONN,"select count(*) from HUM_CMT™));

inta len = Gen.atoi(Gen.getOne(CONN,"select count(*) from OBJ RDZ where
PAYDAT is null");

intb len = Gen.atoi(Gen.getOne(CONN,"select count(*) from OBJ RDZ where
PAY DAT is not null"));

int len = Gen.getLEN(ARR_IN);
for(intj=0;j<len;j++)

{
int prc = Gen.atoi(ARR_IN[j][O]);
String nam = Gen.get_ LABEL(CONN,Gen.atoi(ARR_IN[j][1]),LNG_IN);
int rws=-1;

if(prc==205) rws = h_len;
else if(prc==209) rws = h_len;
else if(prc==215) rws = h_len;
else if(prc— 219) rws = c_len;
else if(prc==221) rws = h_len;
else if(prc==309) rws = a_len;
else if(prc==310) rws =t len;
else if(prc==402) rws = r len;
else if(prc==406) rws =r len;
else if(prc==505) rws = a_len;
else if(prc==507) rws = b_len;

prs += getLIN(prc,rws,LNG_IN,nam,(j==0));
}
outp += "<TABLE>";
outp += prs;

outp += "</TABLE>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}

/*—get_LIN--------- */
/*-- Returns a Line —*/
I */

private static String getLIN( int PRC IN
,int  RWS_IN //—Number of Rows
,int  LNGJN
, String NAM_IN
, boolean FTM_IN) //-- is First Time
throws Exception

{
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Stringm = "getLIN";
String outp =
try

{
outp += "<TR title-"+PRC_IN+">";

if(RWS_IN==0)
outp += "<TD>&hnbsp;";
else

outp += "<TD><INPUT name="PRC' type=RADIO value=""+PRC_IN+"";
if(FTM_IN) outp += " CHECKED";
outp +=

¥

if(RWS_IN<O0) outp += "<TD style-cursor:pointer;'
onClick=z(this);>"+NAM_IN;
else if(RWS_IN==0) outp += "<TD style='cursor:not-allowed;>"+NAM_IN;
else outp += "<TD style="cursor:pointer;' onClick=z(this);>"+NAM_IN+"
("+RWSJIN+")";

outp += "</TR>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥

private static String fixJSQ

String s =

s += "<SCRIPT LANGUAGE=JavaScript>";
s += "function z(bb)";

S+=

s += "var tr=bb.parentNode;";

s += "var rO=tr.children;";

s += "var t0=r0.item(0);";

s += "var rl=t0.children;";

s += "var bl=rl.item(0);";

s += "bl.checked=true;";

s += "document.getElementsByName('B")[0].click();";

S+=
s += "</SCRIPT>",
retum(s);
¥
¥
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/*-- Menu step 3. Receives UID,PRC to follow —=/

import libs.*;

import java.sgl.Connection;
import javax. servlet.*;
import javax.servlet.http.*;
import org.w3c.dom.*;

public class M3 Servlet extends HttpServlet

public void service( HttpServletRequest req
, HttpServletResponse res)

String m = "M3Servlet";
try

{
int prc = Gen.atoi((String)req.getParameter("PRC"));

int uid = Gen.atoi((String)req.getParameter("UID"));
int Ing = Gen.atoi((String)req.getParameter("LNG"));
String eip = (String)req.getParameter("EIP");
String cip = (String)req.getParameter("CIP");

String tmp =
Gen.fixServlet("X0O")+"?2UID="+uid+"&LNG="+Ing+"&PRC-"+prc+"&EIP="+eip+"&
CIP-"+cip;

ServletContext ctx = getServletContext();

ctx.getRequestDispatcher(tmp).forward(req,res);

}
catch(Exception e) { Gen.err(res,null,m,e.toString());}

}
¥
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[*-- StartUpServlet */
;*-- Loads application System prop/erties —=*/

import libs.*;
importjava.io.*;

import javax. servlet.*;
import javax. servlet.http.*;

public class StartUpServlet extends HttpServlet

public void init(ServletConfig config)
throws ServletException

super.init(config);

APL  pi =new APL("StartUpServlet");
String msg = pl.getMSG();
boolean ok = pl.getOK();
if(ok)
Gen.Report(msg);
else

{try{ Gen.writeFILE("C:/StartUpServlet.err",msg); } catch(Exceptione) {3 }
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/*- XOServlet */
/*- Procedure Starter for Users -*/

/*-1. accepts new Tree -/
/*- 2. discovers bean to call -=
/*- 3. Calls the bean -*/

/* */
import libs.*;

import java.util.*;

import javax.servlet.*;
import javax.servlet.http.*;
import org.w3c.dom.*;
import java.sql.Connection;
import FrmBeans.*;

public class XOServlet extends HttpServlet

public void service( HttpServietRequest REQ_IN
, HttpServletResponse RES_IN)

String m = "XOServlet";
Connection conn = null;
try
{' - -
int prc = Gen.atoi((String)REQ_IN.getParameter("PRC"));
int uid = Gen.atoi((String)REQ_IN.getParameter("UID"));
int Ing = Gen.atoi((String)REQ_IN.getParameter("LNG")); if(Gen.isEmpty(Ing))
Ing = 1,
String eip = (String)REQ_IN.getParameter("EIP");
String cip = (String)REQ_IN.getParameter("CIP");

String gry = "select BEAN_ID,STP_NO from PRC_2 where PRC_ID="+prc+" order
by STP NO";

conn = Gen.doConnect(); /[-* Connect to DB
String[][] rr = Gen.Qry2Array(conn,qry);

int len = Gen.getLEN(rr);

if(len>0)

String bn =rr[0][0]; bn ="FrmBeans."+bn+"bean";
int stp = Gen.atoi(rr[0][ID);

FormBean frm = (FormBean) Class.forName(bn).newlnstance(); //- Instantiate the
FormBean

if(frm!=null)
{

iSession ses = new iSession(uid,Ing,prc,eip,cip);
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Document tree = ses.getTREEQ;

ses.getTAGQ;

Presenter pre = frm.work(conn,tree); /- execute the FormBean
String prs = pre.getPRS(); /I- we get the output...
Gen.doDisconnect(conn); /[-* disconnect from DB

if(1Gen.isEmpty(prs))

Gen.Transmit(RES_IN,prs,rn); /I- ...and send it over the Net
else
throw new Exception("Nothing_to_present ["+bn+"]");
}
else
throw new Exception("Bean_not_found ["+bn+"]");
}
else

throw new Exception("Wrong_qry ["+qry+"] ["+len+"]");
¥
catch(Exception e)

Gen.doDisconnect(conn);
Gen.err(RES_IN,null,m,e.toString());

¥
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/*- X1Servlet----------------—-- */
/*- Procedure stepper -*/
/*- 1. accepts input data + tree -*/
[*- 2. steps by 1 -*/

/*- 3. discovers bean to call -*/
[*- 4. Calls the bean -*/

/* */
import libs.*;

import FrmBeans.*;

import java.util.*;

import javax.servlet.*;

import javax.servlet.http.*;
import org.w3c.dom.*;

import java.sgl.Connection;

public class X1 Servlet extends HttpServlet

public void service( HttpServletRequest REQ_IN
, HttpServletResponse RES_IN)

String  m = "Xl Servlet";
Document tree = null;
Connection conn = null;

try

{
String[][] vars = getWebVars(REQ_IN);
String  fil = Gen.getParamValue(vars,"FIL");

if(Gen.isEmpty(fil))
throw new DBException(m,":No FIL");

else
String prs = ",
conn = Gen.doConnect(); /I-* Connect to DB
iSession ses = new iSession(conn,fil); Il—We have a correct session

tree = ses.getTREE();

if(Gen.isEmpty(tree))

throw new Exception(m+":No tree ["+fil+"]");
else

prs = getPRS (vars,conn,tree);

Gen.doDisconnect(conn); /I-* Disconnect from DB
Gen.Transmit(RES_IN,prs,m); //—send it over the Net

¥
¥
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catch(Exception €)

Gen.doDisconnect(conn);
Gen.err(RES_IN,tree,m,e.toString());

¥
¥

private static String[][] getWebVars(HttpServletRequest REQ)
throws Exception

Stringm = "getWebVars";
String name =

String value =

String[][] outp = null;

try

{
REQ.setCharacterEncoding("UTF-8");
String contentType = REQ.getContentType();
if(Gen.isEmpty(contentType)) contentType="text/html";

Enumeration e = REQ.getParameterNames();
while(e.hasMoreElements())

name = (String) e.nextElement();
value = (String) REQ.getParameter(name);
outp = Gen.addEntry(outp,name,value);

¥

if(Gen.isEmpty(outp)) throw new Exception("No_webVars_found");

catch(Exception e) {throw new DBException(m,e.toString()+" name="+name+"
value-'+value); }
retum(outp);

¥

private static String getPRS( String[][] WebVars
, Connection CONN
, Document TREE)

throws Exception

{boolean TRACE = false;
if(TRACE) Gen.Report("$$$$$$$$$$$$$5$$$$$$$$$$$$>Starting Navigator...");

String m = "Navigator";
String outp =
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try
if(Gen.isEmpty(TREE)) throw new Exception("No_TREE");

int npr = Gen.atoi(Gen.getParamValue(WebVars,"NO_PRM"));
if(TRACE) Gen.Report("$$$$$$$$$$$SSES$$$$$$$EES>npr="+npr);

if(npri=l)

{
String prevBean = getBean(CONN,TREE);
if(TRACE) Gen.Report("$$$$$$$3$$$$$3$$5$$$$$$$$$>PrevBean="+prevBean);

FormBean frml = runBean(prevBean, TRACE);
frml.getVars(WebVars, CONN,TREE);

if(TRACE) Gen.Report("$$$$$$$$$5555555S$3333333$>After PrevBean"),
Gen.Dom2File(TREE,APL.getTMPPATH()+prevBean+"_get.xml");

}
nextSTP(TREE,I); //-One step forward

String currBean = getBean(CONN,TREE);
if(TRACE) Gen.Report("$$$$$$$$$$$$$5$$$$$S$$$$$$>:CurrBean="+currBean);

FormBean frm2 = runBean(currBean,TRACE);
if(TRACE) Gen.Report("$$$$$$$$$$33$$$$$$$$$$$$$$> A fter CurrBean™);
Presenter prs = frm2.work(CONN,TREE);

if(prs==null)
iIf(TRACE) Gen.Report("?????2222222222222?2??????>:No Result");
}
else
{

outp = prs.getPRS();
Gen.Dom2File(TREE,APL.getTMPPATH()+currBean+"_set.xml");

}

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

private static String getBean(Connection CONN,Document TREE)
throws Exception

String m = "getBean";
if(CONN=:=null) throw new Exception(m+" No_CONN");
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String qry =
String outp =
try

{
int prc = Gen.getPRC(TREE);
int stp = Gen.getSTEP(TREE);

qry = "select BEAN_ID from PRC_2 where PRC_ID-'+prc+" and STP_NO="+stp;

String[][] rr = Gen.Qry2Array(CONN,qry);
int len = Gen.getLEN(rr);

if(len==0) throw new Exception("Empty qry=["+qgry+"]");
else if(len==1) outp = rr[0][O];
else
throw new Exception("More than one! gry=["+qry+"]");

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

private static FormBean runBean( String BEAN
, boolean TRC IN)
throws Exception

String m = "runBean";
FormBean outp = null;
try
if(Gen.isEmpty(BEAN)) throw new Exception(m+" Bean not exists");
String bn = "FrmBeans."+BEAN+"bean"; /I- compliment with
"bean”
outp = (FormBean) Class.forName(bn).newInstance(); /I- Instantiate the
FormBean

if(outp==null) throw new Exception("Bean not found ["+BEAN+"]");
}
catch(Exception e) {throw new DBException(m,e.toString()); }

if(TRC_IN) Gen.Report(m+" :Running_Bean ["+BEAN+"]...");

retum(outp);
}
[*-- nextSTP---------- */
[*—Steps tree by 1--*/
I */
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private static void nextSTP(Document TREE,int NUM)
throws Exception

String m = "nextSTP";
try

int curr_step = Gen.getSTEP(TREE);

if(Gen.isEmpty(curr_step)) throw new Exception(m+" EmptyStep" );
int next_step = curr_step+NUM;

Gen.updl(TREE,"STP",next_step);

catch(Exception e) { throw new Exception(m+e.toString()); }

¥

package libs;

[*—APLoader */

/*-- Application Properties Loader —=/
/*—L oads system properties --*/
/*—Returns status (OK) and Message (I>/ISG) —*/

/* *

import java.io.*;
import java.util.*;
import java.sql.*;

public class APL
{
private final String VER = "1.00";

private final static String MY HOME = "MY_HOME"; //- Applic Home Path
private final static String WEBABS = "WEBABS"; //- Web server path
private final static String WEBREL ="WEBREL"; //- Web Relative Path
private final static String SRV REL = "SRV_REL"; //- Servlet Relative Path
private final static String DBHOST = "DBHOST"; //- * Commit Host IP
private final static String DBNAME ="DBNAME"; //- *DB SID

private final static String DBUSRO = "DBUSRO"; //- * DB userO name
private final static String DBPASO = "DBPASO"; //-* DB userO pwd
private final static String FOP PATH = "FOP PATH"; //- FOP path

private final static String TMP_PATH = "TMP PATH"; //- TMP path

private final static String DOC_PATH = "DOC_PATH"; //- FOP Daocs path
private final static String MAILHOST = "MAILHOST";

private final static String LOGO ="LOGO"; //- Default LOGO

private boolean OK = false; public boolean getOKQ {retum(this.OK); }
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private String MSG = public String getMSG() { retum(this.MSG); }

/*—APL Constructor --*/

/* */
public APL(String RN_IN)
{

try

{

String ps = System.getPropertyC'file.separator"); //-- Path separator
String dt = Gen.getCurDATE()+' +Gen.getCurTIME(); //-- Start time
this.MSG = "Starting at "+dt+" from "+RN_IN;

this.OK = false;

String home = "C:"+ps+"fotis"+ps;
String abs = "C:/TomCat7/webapps/ROOT/"; //- Web CONTEXT ROOT

String rel =7"; /I—Web relative Path
String srv = 7"; /I—Servlet relative Path
String dbh ="127.0.0.1"; /[—DBHOST

String dbn = "TAKOSDB"; //- DBNAME
String dbuO = "FOTIS"; /I-- DB user name
String dopO = "VUNAPARTIS"; //-- DB user Password
String fop = home+"FOP"+ps; II—FOP folder
String tmp = home+"TEMP"+ps; II—Temp folder
String doc = home+"DOC"+ps; Il—Doc folder
String mlh = "160.2.0.210"; /1- MAIL host
String logo = "Figura™; Il—default Logo

System.setProperty(MY_HOME,home);
System.setProperty(WEB_ABS,abs);
System.setProperty(WEB_REL,rel);
System setProperty(SRVREL,srv);
System.setProperty(DBHOST,dbh);
System.setProperty(DBNAME,dbn);
System.setProperty(DBUSRO0,dbu0);
System.setProperty (DBPASO,dbp0);
System.setProperty(FOP_PATH,fop);
System.setProperty(TMP_PATH,tmp);
System.setProperty(DOC_PATH,doc);
System.setProperty(MAILHOST,mlh);
System.setProperty(LOGO,logo);

try

Connection conn = Gen.doConnect();
this.OK = true;
Gen.doDisconnect(conn);



if(this.OK)

{this.MSG +=", MY_HOME="+getHOME();

this.MSG += ", WEB_ABS="+abs;

this.MSG +=", WEB_REL="+rel;

this.MSG +=", DBHOST="+System.getProperty(DBHOST);,
this.MSG += ", DBNAME="+System.getProperty(DBNAME);
this.MSG += ", DBUSRO="+System.getProperty(DBUSRO);
this.MSG +=", TMP_PATH="+getTMPPATH();

this.MSG += ", FOP_PATH="+getFOPPATH();

this.MSG +=", IP="+Gen.get_IP();

¥

catch(Exception e)

{this.MSG +=", Can NOT find ORACLE";

this.MSG += ", DBHOST="+System.getProperty(DBHOST);
this.MSG +=", DBNAME="+System.getProperty(DBNAME);
this.MSG += ", DBUSRO="+System.getProperty(DBUSRO);
this.MSG += ", Error=["+e.toString()+"]";

¥

}
catch(Exception e)

{
this.OK = false;
this.MSG += "!ljProblem in APL from "+RN_IN+"["+e.toString()+"]"

}
}
[*-- getHOME......cooiiii e */
/*—Returns the Application home Directory --*/
L e s */

public static String getHOME()

{
String outp = System.getProperty(MY_HOME);

retum(outp);
}
[*-- getDBHOST */
[*—Returns the IP ofthe DB Server —=/
L e s */

public static String getDBHOST()
throws Exception

{
String outp = System.getProperty(DBHOST);



if(Gen.isEmpty(outp)) throw new Exception(" DBHOST is empty");
retum(outp);

¥

public static String getDBNAME()
throws Exception

String outp = System.getProperty(DBNAME);
if(Gen.isEmpty(outp)) throw new Exception(" DBNAME is empty");
retum(outp);

¥

public static String getDBPASO()
throws Exception

{
String outp = System.getProperty(DBPASO);
if(Gen.isEmpty(outp)) throw new Exception(" DBPASS is empty");
retum(outp);

}

public static String getDBUSRO()
throws Exception

String outp = System.getProperty(DBUSRO);
if(Gen.isEmpty(outp)) throw new Exception(" DBUSRL1 is empty");
retum(outp);

¥

public static String getTMPPATH()
throws Exception

String outp = System.getProperty(TMP_PATH);
if(Gen.isEmpty(outp)) throw new Exception(" TMP_PATH is empty");
if(!Gen.folderExists(outp)) Gen.createFolder(outp);

retum(outp);

¥

public static String getSRVPATH()
throws Exception

{
String outp = System.getProperty(SRV REL);
if(Gen.isEmpty(outp)) throw new Exception(" SRV_PATH is empty");
retum(outp);

}
public static String getWEBPATHQ
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throws Exception

String outp = System.getProperty(WEBREL);
if(Gen.isEmpty(outp)) throw new Exception(" WEB PATH is empty");
retum(outp);

¥

public static String getWEBABS()
throws Exception

String outp = System.getProperty(WEB ABS);
if('Gen.folderExists(outp)) outp =

if(Gen.isEmpty(outp)) throw new Exception(" WEB_ABS is empty");
retum(outp);

¥

public static String getDOCPATHY()
throws Exception

{String outp = System.getProperty(DOCPATH);
if(Gen.isEmpty(outp)) throw new Exception(" DOC PATH is empty");
if(!Gen.folderExists(outp)) Gen.createFolder(outp);
retum(outp);

¥

[*- getFOPPATH- */
/*—Returns the FOP libraries folder —/
[*-- 1f not found raise exception —*/
/* */
public static String getFOPPATH()
throws Exception

String outp = System.getProperty(FOP_PATH);

if(Gen.isEmpty(outp)) throw new Exception(" FOP_PATH is empty");
if(!Gen.folderExists(outp)) throw new Exception("No FOP path found");
retum(outp);

}

public static String getMAILHOST()
throws Exception

{
String outp = System.getProperty(MAILHOST);
if(Gen.isEmpty(outp)) throw new Exception(" MAILHOST is empty");
retum(outp);

¥
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public static String get_LOGO()
{ retum(System.getProperty(LOGO)); }

}

package libs;

[*—DBException */
/*--1do not trust the Autocommit so —=*/

/*-- We must rollback before closing Connection —=/
L e e e */

importjava.sql.*;
public class DBException extends Exception
{
public DBException(Connection CONN,String RN,String MSG)

{
super("["+RN+"<FOTIS>"+Gen.String2ANSI(MSG)+"]");
if(CONN!=null)

Gen.debug(" conn closed from "+RN);
try { CONN.close();} catch(Exception e) {}

} [

}

public DBException(String RN,String MSG)
{super(RN+":"+MSG);}

}
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package libs;

/*-- Fotis -*/

/* */

import org.w3c.dom.*;

import org.xml.sax.InputSource;
import org.apache.xerces.parsers.*;
import java.sql.*;

import java.io.*;

importjava.net.*;

import java.util.*;

import javax. servlet.*;

import javax.servlet.http.*;

import javax.xml.transform.*;
import javax.xml.transform.stream.*;
import javax.xml.transform.dom.*;
import oracle.sql.OPAQUE;
import oracle.xdb. XMLType;

public class Gen
{
final static private String CODE PAGE = "UTF-8";
final static public  String BColor = "#EOFFFF";
final static public  String SColor = "#6495ED"; //—Submited Form BGround color

final static private int ND[] = new int[] {31,28,31,30,31,30,31,31,30,31,30,31};
final static private int BASE = 1900;

[*—doConnect------- */
/*—Connects to DB --*/
/* */

public static Connection doConnect()
throws Exception

Connection outp = null;

String ORA IP = APL.getDBHOST(); //-"127.0.0.1"

String ORA SID = APL.getDBNAME(); //- "TAKOSDB"
String ORA USR = APL.getDBUSRO(); //- "FOTIS"

String ORA PWD = APL.getDBPASO(); //- "VUNAPARTIS"
try

{
getIDBC();

String  cstr = "jdbc:oracle:thin:@"+ORA_IP+":1521 :"+ORA_SID;
Properties props = new Properties!);



props.put("user”,ORA_USR);
props.put(“password”,ORA_PWD);

outp = DriverManager.getConnection(cstr,props);
outp.setAutoCommit(false);

catch (Exception e)
{throw new Exception("Can_not_CONNECT ip=["+ORA_IP+"] db=["+ORA_SID+"]
usr=["+ORA_USR+"] "+e.toString()); }

retum(outp);
}
/*- dbSQL */
[*—Executes an SQL command --*/
/* */

public static void dbSQL( Connection CONN
, String SQL_IN
, String RN_IN)

throws Exception

{
String m="Gen.dbSQL";
try

{
String sgl = String2ANSI(SQL_IN);
execSQL(CONN,sgl,RN_IN);

catch(Exception €)
{throw new DBException(CONN,rn,e.toString()); }

¥

[F—fixTel e, */

/*—Executes an SQL command --*/
L e */

public static String fixTel( String TEL_IN
, String CIP IN)
throws Exception

String m = "Gen.fixTel";
String outp =

if(Gen.isEmpty(TEL_IN))
outp =
else

{if(isTEL(TEL_IN))

{
String nm = TEL IN;
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String tl = get3CX(TEL_IN,CIP_IN);

if(Gen.isEmpty(tl))
outp = nm;
else
outp= "<INPUT TYPE='button' VALUE=""+nm+""
onClick={f72("'+tl+",10,10);}>";
}
else
outp = "{"+TEL_IN+M";

retum(outp);

¥

7 = GETBC X it */
/*—Returns call to 3CX makeCall system --*/

/*-

http://10.0.0.98:5481/ivr/PbxAPl.aspx?func=make_call&from=Il 13&t0=2109914115&pi
n=58903765 -*/

private static String get3CX( String TEL_IN
, String CIP IN)
throws Exception

String m = "Gen.get3CX";
String outp =
try

String tl =
String t2 =

if(CIP_IN.equals("10.0.0.101")) {tl="1 11"; t2="82097841"; }

if(isEmpty(tl))
outp =
else
outp =
"http://10.0.0.98:5481/ivr/PbxAPI.aspx?func=make_call&from="+tl+"&to="+TEL_IN+
"&pin="+t2;

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥

public static String get_IP()
throws Exception

o1


http://l
http://l

String hn = InetAddress.getLocalHost().getHostName();
InetAddress[] ad = InetAddress.getAlIByName(hn);
if(ad==null) throw new Exception("Gen.getlPs:No IP ports");
retum(ad[0].getHostAddress());

¥

public static void doDisconnect(Connection conn)
{ if(conn!=null) {try{conn.close();} catch(Exception e){} } }

[* - getLABEL ..cotiiiiciceeeee e -*/
/*—Returns descr from CFG_LABELS identified by ID --*/

public static String get LABEL( Connection CONN
,int  LBL_IN
,int  LNG_IN)

throws Exception

{String m = "Gen.getLABEL";
String  outp =

Statement stm = null;

ResultSet rsl = null;

String qry =
try
{
if(LBL_IN<OQ)
outp = ",
else

{qry = "select getl(LABEL_ID,"+LNG_IN+") from CFG LBL where
LABEL_ID="+LBL_IN;
stm = CONN.createStatementO:;
stm.execute(qry);
rsl = stm.getResultSetO;

if(rsl.next())

outp = ANSI2String(rsl.getString(l));
else

outp = "{"+LBL_IN+"}";

¥

}

catch(Exception e)

{throw new DBException(m,e.toString()+" ["+qry+"]"); }
finally

{try {rsl.close(); } catch(Exception x) {}
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try { stm.close(); } catch(Exception x) {}

}

retum(outp);
}
1% QEILABELS ..o */
[*—Gets the labels (array B) from table CFG_LABELS identified by STR —*/
I* */
public static String[] getLABELS( Connection CONN

, int LNG IN

, String STR)
throws Exception

{String m="Gen.getLABELS";
if(isSEmpty(STR)) throw new DBException(m,"NoString");
String[] outp= {};
String[] ffi = String2Array(STR,7);
int  lenO = getLEN(ffO);
if(len0>0)

outp = new String[lenO]; MakeEmpty(outp);
int Ing = (isEmpty(LNGJN))? 1:.LNG_IN;
String tmp =

for(intj0=0;j0<len0;jO++)

{
String tt = ffO[jO];
if(IsEmpty(tt)) tt="nuH";
tmp += tt+'"

¥
tmp = removeLAST (tmp,l);

String  gry = "select LABEL ID,getl(LABEL_ID,"+Ing+")"
+ " from CFG LBL"
+ "where LABEL ID in("+tmp+")"

String[][] ffl = Qry2Array(CONN,qry);
int lent = getLEN(ffl);
for(intj 1=0;j 1<len 1;j 1++)
{
String id = ffI[jI][0];
String Ib = ffl O1][1];
for(intj0=0;j0<len0;jO++) if(ffO[j 0] .equals(id)) outp [lenO-j0-1]=Ib;
}
for(intj0=0;j0<len0;j0++)

{
String a = ffO[len0-j0-1];
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String b = outp[jO];
if(lisEmpty(a) && isEmpty(b)) outp[jO]="{"+a+"}";

¥

retum(outp);

¥

public static String[] getLABELS(int LNG,String STR)
throws Exception

Connection conn = Gen.doConnect();
String[] outp = getLABELS(conn,LNG,STR);
Gen.doDisconnect(conn);

return (outp);
}
[*—Transmit......cccooooiinininenns */
[*-- Transmits a page over Servlet —*/
L */
public static void Transmit( HttpServletResponse RES
, String FRM_FN
,String RN)
{
try

{

RES.setDateHeader("Expires"”,System.currentTimeMillis()+720000);
hours

RES.setContentType("text/html;charset="+CODE_PAGE);
/*

RES.setHeader("Cache-Control™,"no-store");
*/

PrintWriter pw = RES.getWriter();

pw.print(FRMIN);

pw.flush();

pw.close();

}
catch(Exception e)

String tmp = "Gen.Transmit";
if(lisEmpty(RN)) tmp +=" [m="+RN+"]";
tmp += " ["+FRM IN+"T"

tmp +=" ["+e.toString()+"]";

¥
}

[*—atoi

/- expire in 2
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[*—converts an ASCII string (S) into integer --*/
/

/* *

public static int atoi(String S)

{if(isEmpty(S)) retum(-1);

int outp = -1;

String tmp = S.trim();

tmp = removeDOTS(tmp);

try { outp=Integer.parselnt(tmp); }
catch(NumberFormatException e) { }

retum(outp);
}
[*—at0] */
/*—converts an ASCII string (S) into long --*/
L s e e */

public static long atol(String S)

long outp = -1;
if(lisEmpty(S))

String tmp = S.trim();
if('isEmpty(tmp))

tmp = removeDOTS(tmp);
if(lisEmpty(tmp))

{if(tmp.equals(l\ﬂ"))

outp = 0;

else if(tmp.equals("00"))
outp = 0;

else if(tmp.equals(*000™))
outp = 0;

else if(tmp.equals(NdOOOON)
outp = 0;

else

tmp = ltrim(tmp,'0");
try { outp=Long.parseLong(tmp); } catch(NumberFormatException ¢) { }
} 1

¥
¥

retum(outp);

¥



/*—Sleeps SECS seconds —*/
/* */

public static boolean sleep(int SECS)

boolean outp = true;

if(SECS>0)

{try { Thread.sleep(SECS*1000); } catch(Exception e) { outp=false; } }
retum(outp);

}

[*—Itrim */
/*—Removes Char C from the begining of S —/
L s */

public static String Itrim(String S,char C)

String outp = S;
if(lisEmpty(S))

charc = C;
int p=0;
for(intj=0;(j<S.length() && c==C);j++)

{c = S.charAt(j);
if(c==C) p++,

)
if(p>0) outp = getLast(S,p);

}
retum(outp);
}
[F--1pad .o e */
/*—Returns <L> string left padded with --*/
[*—C up to <L> chars length —*/
/* */
public static String Ipad( String S
,int L
, String C)
String outp =

if(lisEmpty(S) && L>0)

{
int dif = L-S.length();
for(intj=0;j<dif;j++) outp+=C;

}
retum(outp+S);
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}

public static String Ipad( int S
,int L
, String C)
{ return(lpad(Integer.toString(S),L,C)); }

[*—Ipad...cccoii */
/*—Returns <L> string left padded with -*/
[*-- spaces up to <L> chars length --*/
[ */
public static String Ipad(String S,int L)
{retum(lpad(S,L," "); }

[F-=rpad . */
/*—Returns <L> string right padded with —/
/*-- spaces up to <L> chars length —=*/

L e e */

public static String rpad(String S,int L,String C)

String outp =
if(YisEmpty(S) && L>0)

{
int dif = L-S.length();
for(intj=0;j<dif;j++) outp+=C;

retum(S+outp);

public static int getLEN(String STR)

int outp = 0;
try{ outp=STR.length(); } catch(Exception e) { }
return(outp);

}
public static int getLEN(int[][] ARR)

int outp = 0;
try{ outp=ARR.length; } catch(Exception e) {}
retum(outp);

}
public static int getLEN(int[] ARR)

int outp = 0;



try{ outp=ARR.length; } catch(Exception e) {}
retum(outp);

}
public static int getLEN(long[] ARR)

int outp = 0;
try{ outp=ARR.length; } catch(Exception e) {}
retum(outp);

}
public static int getLEN(String[] ARR)

int outp = 0;
try{ outp=ARR.length; } catch(Exception e) {}
retum(outp);

}
public static int getLEN(String[][] ARR)

int outp = 0;
try{ outp=ARR.length; } catch(Exception e) {}
retum(outp);

¥

public static String rpad(String S,int L)
{retum(rpad(S,L,"™)); }

public static boolean iSEmpty(String a)

{ return((a==null||a.equals("")||a.equals(,,nuH")||a.equals(" ")||a.equals(*-

1")||a.equals("nfd™))); }

public static boolean isEmpty(int a)
{retum((a==-1)?true:false);}

public static boolean isEmpty(long a)
{retum((a==-1)?true:false); }

public static boolean isEmpty(double a)
{retum((a==-I)?true:false); }

public static boolean isEmpty(Node a)
{ retum((a==null)?true:false); }

public static boolean isEmpty(String[] a)
{retum(getLEN(a)==0); }
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public static boolean isEmpty(String[][] a)
{retum(getLEN(a)==0);}

public static boolean isEmpty(Document a)
{retum(a==null); }

public static boolean isEmpty(Document[] a)

boolean outp = true;

int len =0;

try {len=a.length; } catch(Exception e) {}
for(intj=0;j<len;j++) if(tisEmpty(a[j])) outp=false;
retum(outp);

¥

/*- getlDBC —.....ccciii */
/*—Reglsters the JDBC drivers --*/

*/
private static void getJDBC()
throws Exception

try { DriverManager.registerDriver(new oracle.jdbc.OracleDriver()); }
catch (Exception e) {throw new Exception("JDBC Problem:"+e.toString());}

publlc static void Debug(String MSG)
{iinsLOG(l,"Debug:"+MSG); }

publlc static void debug(String MSG)
{insLOG(1/'Debug:"+MSG); }

[*—Report....viviciieieee, --*/
/*—Iogs areport message (TYPE 2) =

publlc static void Report(String MSG)
{insLOG(2,"Report:"+MSG); }

[*—Warning----- */
/*—Ilogs a warning message (TYPE=3) —




/* */
public static void Waming(String MSG)
{insLOG(3,"Waming:"+MSG); }

TASEE =8 § (0] GRS */
/*—Handles an Error message (TYPE=4) --*/
/* */

public static void Error(String MSG)
{insLOG(4,"Error:"+MSQG); }

[ INSLOG oo s */

/*-- logs a message into Oracle log table —*

/*—As an error function it must handle its own exception --*/
/*—Warning!!! The INS_LOG procedure must be present in DB --*/
[*—The Commit is done within the INS_LOG --*/

L e e ettt enea */

private static void insLOG(int TYP,String MSG)

Connection conn = null;
String  tmp =
try

{
if(isEmpty(MSG))
tmp="insLOG:no MSG found",
else

tmp = MSG.replace(\","");
tmp = getFirst(tmp,3600);

conn=doConnect();
execSQL(conn,"begin INS_LOG("+TYP+",Mtmp+");end;","insLOG");
doDisconnect(conn);

¥
catch(Exception e)
{ doDisconnect(conn); }

¥

[*-- @XECSQL i */
[*—executes an SQL statement over a given CONN —2/
/*—on exception rollbacks and disconnects ~ --*/

private static void execSQL( Connection CONN
, String SQL_IN
, String RN_IN)

throws Exception

{
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String m="Gen.execSQL";

if(CONN==null) throw new Exception(m+" No CONN");
if(IsEmpty(SQL_IN)) throw new Exception(m+" [SQL is empty]");
if(SQL_IN.length()>4000) throw new Exception(m+" [SQL>4000 bytes]");

Statement stml = null;
try

stmI=CONN.createStatement();
stml .execute(SQL_IN);
stml.close();

catch(Exception e)
{throw new Exception(m+" ["+e.toString()+"][sql="+SQL_IN+"]"); }

¥

[ —gETONE it s -/
/*—Applied to Queries that respond with only one result --*/
[*—returns only one result from a query <QRY> --*/
/* */
public static String getOne( Connection CONN

, String QRY)

throws Exception

String m = "Gen.getOne";

String  outp ="

String[][] rr = Qry2Array(CONN,QRY);

int len = getLEN(rr);

if(len!=1) throw new DBException(CONN,m," wrong
result="+len+"[qry="+QRY+"]");

outp = rr[0][O];

retum(outp);
}
[*—QUEY2ATTAY oot */
[*—on QRY problem issues a normal Exception (not DB) —*/
/*—11 Do not use debug inside this function —=/
L e s */

public static String[][] Qry2Array( Connection CONN
,String QRYJN)
throws Exception

{
String m="Gen.Qry2Array";

if(CONN==null)  throw new DBException(rn,":No CONN");
if(iIsSEmpty(QRY_IN)) throw new DBException(CONN,m,":Empty QRY");
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Statement stm =null;
ResultSet rsl = null;
String[][] outp = {}; /I- gry holder

try

{
stm = CONN.createStatement();
rsl = stm.executeQuery(QRY_IN);
outp = Rset2Array(rsl);

catch(Exception €)
{throw new Exception(rn+"[Wrong gry]["+e.toString()+"][qry="+QRY _IN+"]"); }
finally

{
try{ rsl.close(); } catch(Exception x) {}
try{ stm.close(); } catch(Exception x) {}

} [
retum(outp);
}
[*—RSEIZATTAY i e e */
/*—on QRY problem issues a normal Exception (not DB) --*/
/*—11 Do not use debug inside this function —*/
/* */

private static String[][] Rset2Array(ResultSet RSL_IN)
throws Exception

{String[][] outp= {}; /l- qry holder
try
t
if(RSL_IN.next()) /I- gry of at least one row
{int ROWS = 0; /I- rows of qry
Document tree = String2Dom("<A></A>");
Node rt = getROOT(tree);
ResultSetMetaData rsmd = RSL_IN.getMetaData();
int COLS = rsmd.getColumnCountO; /I- columns of gry
Node nd = insREC(tree,rt,RSL_IN,COLS);

for(ROWS=I;RSL_IN.next();ROWS++) nd = insREC(tree,nd,RSL_IN,COLS);
outp = new String[ROWS][COLS];

int y=0;
Node n = rt;
while(lisLEAF(n))

{
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n = n.getChildNodesQ.item(O);

for(int x=0;x<COLS;x++) outp[y][x] = getATTR(n,"X"+Xx);
y++;

tree=null;
if(y!=ROWS) throw new Exception("Gen.Rset2Array
y!'=ROWS["+y+","+ROWS+"]");
}

catch(Exception e)

{throw new Exception("Gen.Rset2Array ["+e.toString()+"]"); }
retum(outp);

}

private static Node insREC( Document TREE
, Node ND IN
, ResultSet RSL IN
, int COLYS)

throws Exception

Node outp = null;
try

{
outp = insNODE(TREE,ND_IN,"Y",null);
for(intj=Oy<COLS;j++)

{
String aa = RSL_IN.getString(j+I);
aa = ANSI2String(aa);
insSATTR(TREE,outp,"X"+j,aa);

}

catch(Exception e)

{ throw new Exception("Gen.insREC["+e.toString()+"]"); }
retum(outp);

}

[*—String2Dom */
[*—Converts a XML string into DOM --*/
/* */

public static Document String2Dom(String STR)
throws Exception

if(IsEmpty(STR)) throw new Exception("String2Dom:STR is empty™);

Document outp = Stream2DOM (new
ByteArraylnputStream(STR.getBytes("UTF8")));

retum(outp);
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[*—Stream2DO0M ......cccoooeviiiivcinens — *
/*—Returns the DOM coming from a stream —*/
I* */

private static Document Stream2DOM(InputStream STREAM)
throws Exception

String m = "Stream2DOM";
Document outp = null;

try

{
DOMParser prs = new DOMParser();
prs.parse(new InputSource(STREAM));
outp = prs.getDocument();

}
catch(Exception e) { throw new Exception(m+e.toString());}
retum(outp);

}

[*—DOM2SIING .o */
[*—Converts a DOM into String using UTF8 encoding --*/
[*-- using the Xerces serializer —=*/
/*—Replaces Single quote to space (Oracle reasons) --*/

* */

public static String Dom2String(Document TREE)
throws Exception

String m = "Dom2String";
String outp =
try

{Node rt = getROOT(TREE);
ByteArrayOutputStream os = new ByteArrayOutputStream();
printNode(rt,0s);
outp = os.toString();
outp = outp.replace('\'V";

catch(Exception e) {throw new Exception(m+":"+e.toString()); }
retum(outp);

}
private static void printNode(Node ND,ByteArrayOutputStream OS)

{
switch(ND.getNodeType())
{
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case Node. DOCUMENTNODE:
NodeList nodes = ND.getChildNodes();
if(nodes = null)

for(int i=0;i<nodes.getLength();i++)
printNode(nodes.item(i),0S);

break;

case Node. ELEMENTNODE:
String name = ND.getNodeName();
wr("<"+name,0S);
NamedNodeMap attributes = ND.getAttributes();
for(int i=0;i<attributes.getLength();i++)

Node current = attributes.item(i);
wr(" "+current.getNodeName()+"=\""+current.getNodeValue()+"\"",0S);,

3vr(">",OS);

NodeList children = ND.getChildNodes();
if(children !=null)

for(int i=0;i<children.getLength();i++)
printNode(children.item(i),0S);

wr("</"+name+">",0S);

break;
case Node. TEXTNODE:
wr(ND.getNodeValue(),0S);

break;

¥
¥

private static void wr(String a,ByteArrayOutputStream o0s)
{ for(int i=0;i<a.length();i++) os.write(a.charAt(i)); }

[*—DOM2File e */
[*—Converts a DOM into a UTF8 encoded file —*/
/* */
public static void Dom2File( Document TREE

, String  FIL IN)
throws Exception

String m = "Dom2File™;
try

{
if(isEmpty(FIL_IN)) throw new Exception("No_file");

String tr = Dom2String(TREE);
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FileOutputStream fd = new FileOutputStream(FIL_IN);
fd.write(tr.getBytes());
fd.close();

catch(Exception e) { throw new Exception(m+":"+e.toString()); }

¥

[*—getXML- */

/*—Returns an XML stored into DB --*/

ﬁ and retrieved by QRY */--*/

public static Document® getXML( Connection CONN
, String QRY)

throws Exception

{String m = "lib_ORA.getXML";
if(CONN=null) throw new Exception(m+":No CONN");
if(isSEmpty(QRY)) throw new DBException(CONN,m,":Empty QRY™");
Document[] outp = {};

String t_in =

int ROWS = 0; //- fetched rows

int BSZE = 99; /- buffer size

try
Document” buf = new Document[99];
PreparedStatement stmt = CONN.prepareStatement(QRY);
ResultSet rset = stmt.executeQuery();

while(rset.next() && ROWS<99)

{OPAQUE op = (OPAQUE)rset.getObject(l);
XMLType xt = XMLType.createXML(op);
String tree = xt.getStringVal();
tree = tree.trim();
try { buf[ROWS++] = String2Dom(tree); }
catch (Exception e) {throw new DBException(CONN,m,"Wrong tree "+tree+"
“+e.toString());}

rset.close();
stmt.close();

if(ROWS>0)

outp = new Document[ROWS];
for(intj=0;j<ROWS;j++) outp[j]=buf[j];
¥

66



buf=null;

}
catch (Exception e) {throw new
DBEXxception(CONN,m,"[qry="+QRY+"]"+e.toString()); }

retum(outp);
}
[*—QEtROOT ..ot */
/*-- Returns the root node of the specified TREE —*/
* */

public static Node getROOT(Document TREE)
{ retum(TREE.getDocumentElement()); }

[*-- iISLEAF----- */
[*—Checks if nd_in is a LEAF node -*/
L e e */

private static boolean isSLEAF(Node nd_in)

{
int len=nd_in.getChildNodes().getLength();
retum((len==0)||(len==1 && nd_in.getFirstChild().getNodeType()==3))?true:false;

¥

[* - QAT TR - */
/*—Returns the value of attribute a_in in node node_in —*/
I* */

private static String getATTR(Node node_in,String a_in)

if(node_in==null) retum(null);
NamedNodeMap nnm = node_in.getAttributes();
if(nnm==null) retum(null);

for (int i=0;i<nnm.getLength();i++)

Node n=nnm.item(i);
if(n.getNodeName().equals(a_in)) retum(n.getNodeValue());

retum(null);
}
/*- insNODE */
[*—Inserts a new node of TREE under ND_IN with name=a and value=t_in —/
* */

public static Node insNODE(Document TREE,String a,String t_in)
throws Exception
{retum( insNODE(TREE,getROOT(TREE),a,t_in)); }
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public static Node insNODE(Document TREE,String a,intt in)
throws Exception
{retum( insNODE(TREE,getROOT(TREE),a,t_in)); }

public static Node insNODE(Document TREE,String a,long t in)
throws Exception
{retum( insNODE(TREE,getROOT(TREE),a,t_in)); }

public static Node insNODE(Document TREE,Node ND_IN,String a,String t_in)
throws Exception

{
if(TREE==null) throw new DBException("Gen.insNODE","NoTree");
if(ND_IN==null) throw new DBException("Gen.insNODE","NoNode");
Node outp=null;

try

{
outp=ND_IN.appendChild(TREE.createElement(a));
if('isEmpty(t_in)) outp.appendChild(TREE.createTextNode(t_in));

catch(Exception e)

{throw new DBException("Gen.insNODE",Mant insert["+a+"] "+e.toString()); }
if(isEmpty(outp)) throw new DBException("Gen.insNODE","unknown Problem");
retum(outp);

¥

public static Node insNODE(Document TREE,Node ND_IN,String a,intt_in)
throws Exception
{retum(insNODE(TREE,ND_IN,a,Integer.toString(t_in))); }

public static Node insNODE(Document TREE,Node ND IN,String a,long t_in)
throws Exception
{return(insNODE(TREE,ND_IN,a,Long.toString(t_in))); }

TF*—INSATTR e */
[*—Inserts string v_in for attribute a_in of node node in --*/
I* */

public static void insATTR(Document doc_in,Node node_in,String a_in,String v_in)

{

Attr tmp = doc_in.createAttribute(a_in);
tmp.setNodeValue (v_in);
node_in.getAttributes().setNamedltem(tmp);

}
public static void insATTR(Node ND_IN,String a_in,String v_in)

Document tree = ND_IN.getOwnerDocument();
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insSATTR(tree,ND_IN,a_in,v_in);
}

public static void insSATTR(Document doc_in,Node node_in,String a_in,int v_in)
{insATTR(doc_in,node_in,a_in,Integer.toString(v_in)); }

public static void inSATTR(Node ND_IN,String a_in,int v_in)

Document tree = ND_IN.getOwnerDocument();
insSATTR(tree,ND_IN,a_in,v_in);

¥

/%= UPANODE ...t e */

/*-- Update a Node given its ParentNode and its NodeName —=*/
/*—Using the ParentNode finds the Node with NodeName --*/
/*—If Node exists updates it else creates it --*/

public static Node updNODE(Document TREE,Node ParentNode,String
NodeName,String VAL)
throws Exception

Stringm = "updNODE";

Node outp = null;

if(TREE==null) throw new DBException(m,"NoTree");

if(isEmpty(ParentNode)) throw new DBException(m,"No ParentNode for
["+VAL+"]");

if(isEmpty(NodeName)) throw new DBException(rn,"No NodeNode for
["+VAL+"T");

try

{
deINODE(ParentNode,NodeName);
outp = insNODE(TREE,ParentNode,NodeName,VAL);

catch(Exception e) {throw new Exception(m+e.toString());}
retum(outp);

¥

public static Node updNODE(Document TREE,Node ParentNode,String NodeName,int
VAL)

throws Exception
{ retum(updNODE(TREE,ParentNode,NodeName,Integer.toString(VAL))); }

public static Node updNODE(Document TREE,Node ParentNode,String
NodeName,long VAL)

throws Exception
{retum(updNODE(TREE,ParentNode,NodeName,Long.toString(VAL))); }
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public static Node updNODE(Document TREE,String NodeName,String VAL)
throws Exception
{retum(updNODE(TREE,getROOT(TREE),NodeName,VAL)); }

public static Node updNODE(Document TREE,String NodeName,int VAL)
throws Exception
{ retum(updNODE(TREE,getROOT(TREE),NodeName,Integer.toString(VAL))); }

public static Node updNODE(Document TREE,String NodeName,long VAL)
throws Exception
{ retum(updNODE(TREE,getROOT(TREE),NodeName,Long.toString(VAL))); }

[*—updl */
/*-- Updates the value of the first line node named <p_in>to <n_in> —*/
I* */

public static void updl (Document TREE,String p_in,String n_in)
throws Exception

String m = "updlI";

if(TREE==null) throw new DBException(m,"NoTree");
if(p_in==null) throw new DBException(m,"Null s_in");
try

{
Node rt = getROOT(TREE);
deINODE(rt,p_in);
insSNODE(TREE,rt,p_in,n_in);

}
catch(Exception e) {throw new Exception(m+e.toString());}

¥

public static void updl (Document TREE,String p_in,int n_in)
throws Exception
{updl (TREE,p_in,Integer.toString(n_in)); }

public static void updl (Document TREE,String p_in,long n_in)
throws Exception
{updl (TREE,p_in,Long.toString(n_in)); }

/*- deINODE.......cccocvnnnene */
[*—Deletes node <nd_in> —*/
/* */

public static void deINODE(Node nd_in)

{if(!isEmpty(nd_in))
{
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Node ParentNode = nd_in.getParentNode();
if(lisEmpty(ParentNode))

ParentNode.removeChild(ndin);

ndin = null;
}
}
}
/*- deINODE */
/*-- Deletes node NodeName under ParentNode --*/
2 e e —————————— */

public static void deINODE(Node ParentNode,String NodeName)
{
if(lisEmpty(ParentNode))

{
Node tmp = fmdNODE(ParentNode,NodeName);
if(lisEmpty(tmp)) ParentNode.removeChild(tmp);

}
¥

public static void deINODE(Document TREE,String NodeName)
{deINODE(getROOT(TREE),NodeName); }

[*-- fmdNODE----- */
[*—Points to the node with tagname VAR_IN one level under ND_IN -
/* */

public static Node findNODE(Node ND_IN,String VAR_IN)

Node outp = null;
if(lisEmpty(ND_IN) && lisEmpty(VAR_IN))

int len = 0;

NodeList nl = ND_IN.getChildNodes();

try{ len=nl.getLength(); } catch(Exception r) {}
for(intj=0;j<len;j++)

{
Node nd = nl.item(j);
String a=nd.getNodeName();
if(a.equals(VAR_IN)) outp = nd;

¥

}
retum(outp);

}
public static Node findNODE(Document TREE_IN,String VAR_IN)



{ retum(fmdNODE(getROOT(TREE_IN),VAR_IN)); }

/*-- findNODE */

[*—Points to the node one level under node_in -*/

[*—with tagname var_in and value val_in  —*/

I* */

public static Node findNODE(Node ND_IN,String VAR_IN,String VAL_IN)

Node outp = null;
if(lisEmpty(ND_IN))

{
if(isSEmpty(VAL_IN))
{
outp = fmdNODE(N D_I N,VAR_|N);
else

{
NodeList nl=ND_IN.getChildNodes();
for(int i=0;i<nl.getLength();i++)

Node nd = nl.item(i);

String a = nd.getNodeName();

String b = readNODE(nd);

if(a.equals(VAR_IN) && b.equals(VAL_IN)) outp = nd;

¥
¥

}
retum(outp);

}

public static Node findNODE(Node ND_IN,String NAM_IN,int VAL_IN)
{retum(findNODE(ND_IN,NAM_IN,hiteger.toString(VAL_IN))); }

public static Node findNODE(Document TREE,String NAM_IN,String VAL_IN)
{retum(findNODE(getROOT(TREE),NAM_IN,VAL_IN));}

public static Node findNODE(Document TREE,String NAM_IN,int VAL_1N)
{retum(fmdNODE(getROOT(TREE),NAM_IN,Integer.toString(VAL_IN))); }

[*—1eadNODE.....ccoooovveeveeeieen, */
/[*—Returns the value ofnode in —=/
2 e s e */

public static String readNODE(Node ND_IN)

String outp = "
if(lisEmpty(ND_IN))
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{
Node nd=ND_IN.getChildNodes().item(0);
if(lisEmpty(nd))

outp = nd.getNodeValue();
try { outp = URLDecoder.decode(outp,"UTF-8"); } catch(Exceptionr) { }

3

retum(outp);
}
[*- getEIP(TREE) . */
[*—returns the External IP of the Server ofthis tree --*/
/* */

public static String getEIP(Document TREE)
throws Exception

{String m= "Gen.getEIP(TREE)";
if(isEmpty(TREE)) throw new DBException(m,"Empty TREE");
String outp =
try { outp = getNODE(getROOT(TREE),"EIP"); }
catch(Exception e) { throw new DBException(m,e.toString()); }
if(isEmpty(outp)) outp =

retum(outp);
}
[*- getPRC(TREE) */
[*—returns the Session's current form Procedure number from the TREE —=/
2 e, ——— e ———————— */

public static int getPRC(Document TREE)
throws Exception

int outp = -1,
Stringm = "Gen.getPRC(TREE)";
if(lisEmpty(TREE))

{
String prc = getNODE(getROOT(TREE),"PRC");
outp = atoi(prc);

}

retum(outp);
}
[*- getSTEP -— e */
[*—returns the STEP ofthe current procedure —*/
L e e */

public static int getSTEP(Document TREE)



throws Exception

{String m = "Gen.getSTEP",

String rl = null;

try {rl=getNODE(getROOT(TREE),"STP"); }

catch(Exception e) {throw new DBException(m,e.toString()); }
if(isEmpty(rl)) throw new DBException(m,"STEP is empty");

int outp = atoi(rl);

if(outp==-1) throw new DBException(rn,"STEP is NaN:"+rl);
if(outp<0 | outp>30) throw new DBException(m,"STEP is wrong:"+outp);
retum(outp);

}

[*-- getSES(TREE)....cccoooviviieree -*/
[*—returns the Session of this tree --*/
L2 e s e —— */

public static int getSES(Document TREE)
throws Exception

{
int outp = atoi(getNODE(getROOT(TREE),"SES"));

if(iIsEmpty(outp)) throw new DBEXxception("Gen.getSES(TREE)","No Sess
TREE");

retum(outp);
}
/*- getNODE */
/*—Returns the value ofNAME_IN under NODE_IN —*/
L e e e */

public static String getNODE(Node NODE IN,String NAME_IN)
throws Exception

{ retum(readNODE (findNODE(NODE_IN,NAME_IN))); }

[*- QEINODE. ... */
/*—Returns the value of NAME_IN under the root ofa TREE —*/
/* */

public static String getNODE(Document TREE_IN,String NAME_IN)
throws Exception
{retum(getNODE(getROOT(TREE_IN),NAME_IN)); }

private static boolean iSNULL(String a)
{ retum(a==null|ja.equals("nuH")|ja.equals("™)); }

public static void showbytes(String STR)
throws Exception

{
for(int j=0;j<getLEN(STR);j++)



int ¢ = (int) STR.charAt());
if(c>31)

char a = (char) c;
Debug(j+":"+c+" "+a);

else
Debug(j+":"+c);

}
[*—getCurTIME ... e, */
/*-- Returns the current time --*/
/*—If getSecs thue includes Seconds --*/
L e e e */
public static String getCurTIME(boolean getSecs)
{

char ts =

Calendar ¢ = Calendar.getinstance();

String hr = Ipad(Integer.toString(c.get(Calendar.HOUR_OF_DAY)),2,"0");
String mn = Ipad(Integer.toString(c.get(Calendar. MINUTE)),2,"0");
String outp = hr+ts+mn;

if(getSecs)

{
String sc = Ipad(Integer.toString(c.get(Calendar.SECOND)),2,"0");
outp += ts+sc;

retum(outp);
}
[*-- getCurTIME------------—--- */
/*—Returns the current time —/
/*—In HH:MIN format —=/
[* */

public static String getCurTIME()
{retum(getCurTIME(false));}

[*—getCurDATE---------------- */
/[*—Returns the current date —=/
/* */

public static String getCurDATE()

Calendar ¢ = Calendar.getlnstance();
String outp = makeDATE( c.get(Calendar.DAY_OF_MONTH)
, c.get(Calendar. MONTH)+I
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, C.get(Calendar.YEAR));

retum(outp);
}
[*—mMakeDATE. ... */
[*—Converts 3 integers into DATE format —*/
/* */

private static String makeDATE(int DD,int MM, int YY)

char dim
String dd Ipad(Integer.toString(DD),2,"0");
String mm = Ipad(Integer.toString(MM),2,"0");
String yy = Integer.toString(YY);

String outp = dd+dIim+mm-+dim+yy;

retum(outp);
}
[*—folderEXistS....cccceevrurnne.. */
[*-- Checks if a path is Folder --*/
/* */

public static boolean folderExists(String DIR)

boolean outp = false;
try

{
File dir = new File(DIR);
outp = dir.exists() && dir.isDirectory();

}
catch(Exception e) { }
retum(outp);

¥

[*—createFolder.......cccovviinincnns */
/*-- Create a folder for a given PATH --*/
[*-- if folder exists does nothing —*/

/* */

public static void createFolder(String DIR)

{
File dir = new File(DIR);

dir.mkdirs();
}
[*—WIteFILE — ..o */
[*—writes a String into File using UTF8 encoding —*/
[*—11 do not use UTF8 getBytes() =%/

L */



public static void writeFILE(String FL,String STR)
throws Exception

String m="Gen.writeFILE";
try

FileOutputStream fd=new FileOutputStream(FL);
fd.write(STR.getBytes());
fd.close();

}
catch(Exception e) {throw new Exception(m+":"+e.toString());}

}
public static boolean isSWORD(String S)

boolean outp = true;
int len = getLEN(S);

if(len==0)
outp = false;
else

for(intj=0;j<len;j++) if(!isSASCII(S.charAt(j))) outp=false;
retum(outp);

¥

private static boolean iSASCII(char c)
{retum(((47<c && c<58)||(64<c && c<91)||(96<c && c<123))?true:false); }

[*-- MakeEmpty */
[*—fills a String array with EMPTY --*/

public static void MakeEmpty(String[] AR)
{ Arrays.fill(AR,"); }

[*—MakeEmpty-----------------—--- */
[*—fills an int array with NaN --*/
/* */

public static void MakeEmpty(int[] AR)
{for(int i=0;i<AR.length;i++) ARTi]=-1;}

[*—MakeEmpty -....coorvriinenens */
[*-- fills an int array with NaN --*/
/* */

public static void MakeEmpty(String[][] AR)
{ for(int i=0;i<AR.length;i++) for(intj=0j<AR[i].length;j++) AR[i][j]=""; }

[*—MakeEmpty */



[*—fills an int array with NaN --*/
I* */

public static void MakeEmpty(int[][] AR)
{ for(int i=0;i<AR.length;i++) for(intj=0;j<AR[i].length;j++) AR[i][j]=-1; }

[*—MakeZero- */
[*—fills an int array with zero —*/
I* */

public static void MakeZero(int[] AR)
{ for(int i=0;i<AR.length;i++) AR[i]=0; }

[F—SIING2ATTAY .ottt e */
/*-- Returns an array out of a string (S) delimited by char (¢c) —=/
L e ---*/

public static String[] String2Array(String S,char c)

{String[] outp = {};
if(lisEmpty(S)) outp = S.split("\\"+c);

retum(outp);
}
TP | */
/*-- Gets string STR and Replaces string b with string ¢ —*/
L et e */

public static String repl(String STR,String b,String c)

{
String outp = STR;
if(lisEmpty(STR))

{int 11 = getLEN(b);
if(11>0)

{int 12 = getLEN(c);
if(12==0)
outp = STR.replace(b,™";
else
outp = STR.replace(b,c);

¥

return(outp);

¥

public static String repl(String a,String b,int c)
{ retum(repl(a,b,Integer.toString(c))); }

[*-= ISDATETIME ..o e */



[*—Checks the date_in againist the <DD/MM/YYYY hh:mi:ss> format —*/
[*—If ISD ATE then returns false but loads DT array --*/

public static boolean iSDATETIME(String DATE_IN,int DTI])

boolean outp = false;
MakeEmpty(DT);

int dI[] = new int[3];
if(isDATE(DATE_IN,d1))

{DT[O] = d1[0];
DT[1] = dI [1];
DT[2] = d1[2];
DT[3] = O;
DT[4] = O;
DT[5] = 0;

}

else

{
int k=DATE_IN.indexOf("");
String dp = getFirst(DATE_IN,kK);
if(isDATE(dp,d1))

{
String dt = getLast(DATE_IN, k+l);
int tl[] = new int[3];
if(iIsTIME(dt,tl))

{DT[O] = dI [0];
DT[1] = dI[1];

DT[2] = dl[2];

DTI[3] = tl [O];

DT[4] = tl [1];

DTI[5] = tl [2];

outp = true;

}
}
retum(outp);

}
[*-= ISDATE ..o, e */
[*—Checks date_in against <DD/MM/YYYY> format --*/
L s */

public static boolean iSDATE(String STR_IN)

{int dd[]=new int[3];



retum(isDATE(STR_IN,dd));

}

/*- isDATE */
/*—Checks date_in against <DD/MM/YYYY> format —*/
/*-- and returns the dd[] with its parts —=*/

/* */

public static boolean isDATE(String STR_IN,int dd[])

{MakeEmpty(dd);
if(iISEmpty(STR_IN)) retum(false);
String X=STR_IN;
if(ISYEAR(X)) X="02"+"/"+"01"+"/"+X;
int len=X.length();
if(len<8 || len>10) retum(false);
String[] tmp = String2Array(X,7");

if(tmp.length<3) return(false);

dd[0] = atoi(tmp[0]); if(!isDAY(dd[0])) return(false);
dd[I] = atoi(tmp[l]); if(!isMONTH(dd[I])) retum(false);
dd[2] = atoi(tmp[2]); if(YiSYEAR(dd[2])) return(false);
try

{if(getDAYSOFMONTH(dd[I],dd[2])<dd[0]) retum(false);
gatch(Exception e) {retum(false); }
try{ dd[3]=0; } catch(Exception e) { }

try{ dd[4]=0;} catch(Exception e) { }
try{ dd[5]=0; } catch(Exception e) { }

retum(true);
/*-isTIME */
/*—Checks TIME_IN against --*/
[*-- 1. <hh24:mi:ss> —*/
[*—2. <hh24:mi> format —=/
[*—and returns the dd[] with its parts —/
L e */

public static boolean isTIME(String TIME_IN,int TT[])
{

MakeEmpty(TT);

boolean outp = false;

if(lisEmpty(TIME_IN))

{
String[] tmp = String2Array(TIME_IN,"");
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if(tmp.length>0)

outp = true;
try

{TT[O] = atoi(tmp[0]);
if(lisHOUR(TTIO])) outp = false;

}
catch(Exception e) { TT[0]=0; }
try

{TT[l] = atoi(tmp([l]);
if(lisMINUTE(TTI 1])) outp = false;

}
catch(Exception e) { TT[1]=0; }
try

{TT[Z] = atoi(tmp[2]);
if(1isSSECOND(TTI2])) outp = false;

gatch(Exception e) {TT[2]=0; }
}

}
retum(outp);

¥

[% - addDAYS — s */
/*—adds the days_in to date_in and returns the result —*/
/*—the M_IN (days) can be negative or positive —=*/
/* */

public static String addDAY S(String D_IN,int M_IN)
throws Exception

Stringm = "Gen.addDAYS";

if(1isDATE(D_IN)) throw new Exception(m+"not a date:"+D_IN);
String qry =",

String outp =

try

{
if(M_IN==0)
outp=D_IN;
else

{q ry="select to_char((to_date("'+D_rN+"'dd/mm/yyyy")+"+M_IN+"),'dd/mm/yyyy")

from dual®;
Connection conn = doConnectQ);
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outp = getOne(conn,qry);
doDisconnect(conn);

¥

}
catch(Exception e) {throw new Exception(m+e.toString()+" qry="+qry); }
retum(outp);

}

[*- @ddMONTHS ..o */
/*-- adds the months_in to date_in and returns the result --*/
/*- the M IN (months) can be negative or positive  —*/
L b e */

public static String addMONTHS(String D_IN,int MIN)
throws Exception

Stringm = "Gen.addMONTHS";

if(1isDATE(D_IN)) throw new Exception(m+"not a date:"+D_IN);
String qry =

String outp =

try

i
if(M_IN==0)
outp=D_IN;
else

gry="select

to_char(add_months(to_date("'+D_IN+"Vdd/mm/yyyy"),"+M_IN+"),'dd/mm/yyyy") from
dual";

Connection conn = doConnect();
outp = getOne(conn,qry);
doDisconnect(conn);

¥

}
catch(Exception e) {throw new Exception(m+e.toString()+" qry="+qry); }
retum(outp);

¥

public static boolean isYEAR(String YY_IN)

int 1= getLEN(YY_IN); if(I'=4) retum(false);
inty = atoi(YY_IN); if(isEmpty(y)) retum(false);
retum(isYEAR(Y));

¥

private static boolean isYEAR(int YY_IN)
{retum((YY_IN>2250 || YY_IN<BASE)?false:true);}
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private static boolean isSDAY (int day_in)
{retum((day_in>31 || day_in<lI)?false:true); }

private static boolean iSMONTH(int monthin)
{retum((month_in>12 || month_in<l)?false:true); }

private static boolean iSHOUR(int H_IN)
{retum((H_IN>23 | H_rN<O0)?false:true); }

private static boolean iSMINUTE(int M_IN)
{retum((M_IN>59 || M_IN<O0)?false:true); }

private static boolean isSECOND(int S_IN)
{ retum((S_IN>59 | S_IN<O0)?false:true);}

[*- getDAYSOFMONTH ..ot */
/*—Returns the number of days of the specified month and year —*/
i* */

private static int getDAYSOFMONTH(int month_in,int year_in)
throws Exception

if('isMONTH(month_in)) throw new Exception("Gen.getDAYSOFMONTH: Not a
month:"+month_in);

if(YisYEAR(year_in)) throw new Exception("Gen.getDAYSOFMONTH: Not a
year:"+year_in);

int outp=ND[month_in-I];

if(year_in%4==0 && outp==28) outp=29;

retum(outp);
}
[*—isLaterOrEqual........cccoooiiniiniiiics */
[*—Compares dl and d2 and returns true if dt1>=dt2 —*/
L e */

public static boolean isLaterOrEqual(String dtl,String dt2)
throws Exception
{retum(isLATER(dtl,dt2) | isSEQUAL(dtl,dt2)); }

[*-= ISLATER oot et */
/*-- Compares dl and d2 and returns true if dt 1>dt2 --*/
L s */

public static boolean iSLATER(String dtl,String dt2)
throws Exception

{
String m="lib_CAL.isSLATER";
int dl[]=new int[6];
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int d2[]=new int[6];
try

{if(!isDATE(dtI,dI) && lisDATETIME(dtl,dl)) throw new

DBException(null,rn,"No date{"+dt1+"}");

if(lisDATE(dt2,d2) && lisDATETIME(dt2,d2)) throw new
DBException(null,rn,"No date{"+dt2+"}");

if(dl[2]>d2[2]) return(true);

if(dI[2]==d2[2] && dI[I]>d2[I]) return(true);

if(dl[2]==d2[2] && dI[I]==d2[]] && dI[0]>d2[0]) retum(true);

if(dI[2]==d2[2] && dI[I]==d2[l] && dI[0]==d2[0] && dI [3]>d2[3]) retum(true);

if(dl[2]==d2[2] && dI[I]==d2[l] && dI[0]==d2[0] && dI[3]==d2[3] &&
d1[4]>d2[4]) retum(true);

if(d1[2]—=d2[2] && dI[I]==d2[l] && dI[0]==d2[0] && dI[3]==d2[3] &&
d1[4]=d2[4] && dI [5]>d2[5]) retum(true);

}
catch(Exception e) { throw new DBException(null,m,e.toString()); }
retum(false);

}

/*- iISEQUAL */
[*—Compares dI and d2 and returns true if dtl=dt2 —/
* */

public static boolean iISEQUAL(String dtl,String dt2)
throws Exception

{String m="lib_CAL.iISEQUAL";
int dl[]=new int[6];

int d2[]=new int[6];

try

if('isDATE(dtl,dl) && 'isDATETIME(dtl,dl)) throw new Exception("No
date {"+dtl+"}");

if(1isDATE(dt2,d2) && lisDATETIME(dt2,d2)) throw new Exception("No
date{"+dt2+"}");

if(dI[0]==d2[0] && dI[1]==d2[l] && dI[2]==d2[2] && dI[3]==d2[3] &&
di[4]==d2[4] && dI [5]==d2[5]) return(true);

}
catch(Exception e) {throw new DBException(null,m,e.toString()); }
retum(false);

}

/*- isSEARLIER */
/*—Compares dl and d2 and returns true if dtl<dt2 —/
I* */

public static boolean iSEARLIER(String dtl,String dt2)

84



throws Exception

String m="lib_CAL.iIsEARLIER";
int dI[]J=new int[6];

int d2[]=new int[6];

try

{if(!isDATE(dtl,d 1) && lisDATETIME(dt1,d 1)) throw new Exception("No

date{"+dtl+"}");

if(lisDATE(dt2,d2) && lisDATETIME(dt2,d2)) throw new Exception("No
date{"+dt2+"}");

if(d 1[2]<d2[2]) return(true);

if(dl[2]==d2[2] && dI[I]<d2[I]) retum(true);

if(dl[2]==d2[2] && dI[I]==d2[I] && dI[0]<d2[0]) return(true);

if(dI[2]==d2[2] && d1[1]==d2[]] && dI[0]==d2[0] && dI[3]<d2[3]) retum(true);

if(dI[2]==d2[2] && dI[I]==d2[l] && dI[0]==d2[0] && dI[3]==d2[3] &&
dl [4]<d2[4]) retum(true);

if(dl[2]==d2[2] && dI[I]==d2[I] && dI[0]==d2[0] && dI[3]==d2[3] &&
d1[4]==d2[4] && dI[5]<d2[5]) retum(true);

}
catch(Exception e) {throw new DBException(null,m,e.toString()); }
retum(false);

}

[*-- setDAYS */
[*—Returns the Date that apexei DAYS_IN days from 1/1/1900 --*/
/* */

private static String setDAYS(int DAYS_IN)
throws Exception

String outp="";
if(DAYS_IN<O0) throw new Exception("lib_CAL.setDAYS: Negative DAYS_IN
["+DAYSIN+"]");

try
t
intdd = 0;
intmm = 1;
intyy = BASE;
for(intj=0;j<DAYS_IN;j++)

{
dd++;
if(dd>27 && dd>getDAYSOFMONTH(mm,yy))

{
dd=lI;
mm++;
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if(mm>12)
mm=I;
yy++;

¥
¥

}
outp = makeDATE(dd,mm,yy);

}
catch(Exception e) {throw new Exception("lib_CAL.setDAYS: "+e.toString()); }

retum(outp);

}
public static String fix_HIDDEN(String n,String v)

{
String outp="<INPUT type="HIDDEN" id=""+n+mname=""+n+"M
if(1Gen.isEmpty(v)) outp+=" value=""+v+""";
outp+="></INPUT>";

retum(outp);

}

public static String fix_HIDDEN(String n,int v)
{ retum(fix_HIDDEN(n,Integer.toString(v))); }

public static String fix_HIDDEN(String n,long v)
{ retum(fix_HIDDEN(n,Long.toString(v))); }

[*—count.....cooiiiiiee e e */
/*—Counts the existence of char c into a string s --*/
L e e e e */
public static int count( String s
, char ¢)
int outp = 0;

int len = getLEN(S);
for(int i=0;i<len;i++) if(s.charAt(i)==c) outp++;

retum(outp);
}
[*—QtATTAY TOP e */
/*—Returns the first empty place for array AR[] --*/
/* */

public static int getArrayTop(String AR[])

int outp = -1;
int len = getLEN(AR);
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for(int i=0;i<len;i++) if(YisEmpty(AR[i])) outp=i;

retum(outp+l);
}
[*—QgetAITaY TOP oo */
[*-- Returns the first empty place for array AR[] --*
/*

public static int getArrayTop(int AR[])

int outp =-I;
int len = getLEN(AR);
for(int i=0;i<len;i++) if(tisEmpty(AR[i])) outp=i;

retum(outp+l);
}
[*—getArray TOP oo --*/
/*—Returns the first empty place for array AR[] --*
L s e

public static int getArrayTop(String AR[][])

int outp = -1;
int len = getLEN(AR);
for(intj=0;j<len;j++) if(YisEmpty(AR[j][0])) outp=j;

retum(outp+l);
}
[*—MaKeDIV ..o */
/*—Returns the DIV representation of a Parameter —*/
L e s */

public static String makeDIV(String STR,String CLASS,String TITLE)
String outp="<DIV VALIGN=top ALIGN=left";
if(lisEmpty(CLASS)) outp += " class="+CLASS;
if(isEmpty(TITLE))

{
outp += "title=""+TITLE+...;
outp +=" style=cursor:help;";

}
outp+=">"+STR+"</DIV>";

retum(outp);
}
[*- MaKeSPAN ..o -*/
/*—Returns the SPAN representation of a Parameter —*/
L e T */

public static String makeSPAN(Strlng VAL,String CLS)
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{retum(makeSPAN(VAL,CLS,1));}

/*—makeSPAN */
/*-- Returns the SPAN representation of a Parameter --*/
/* */

public static String makeSPAN(String STR,String CLASS,String TITLE,String URL,int
WIDTH)

String tmp =
String outp="<SPAN VALIGN=top ALIGN=left";
if(lisEmpty(CLASS)) outp+=" class="+CLASS;

if(lisEmpty(TITLE))

{
outp+=" title=""+TITLE+...;
tmp +="cursor:help;";

glse if(YisEmpty(URL))

outp+=" onclick={WN=f7("+URL+",40,40,600,800);}";
tmp +="cursor:hand;";

¥

|f(W| DTH >0) tmp+:"Width:"+W| DTH+":"
if(lisSEmpty(tmp)) outp+=" style="+tmp;
outp+=">"+STR+"</SPAN>";

retum(outp);

¥

[*-- Frm.doProblem */

/*—Reports a problem ofaPRC  —*/

/*—and presents 2 messages to user --*/

[*—MI = 1st message (LABEL ID) —*/

§I—M2 = 2nd message (LABEL;}D) -*/

public static String doProblem(String RN,int LNG,int M1,int M2)
throws Exception

String tmp =

int. ml =MI; if(isEmpty(ml)) mI=0;

int m2 =M2; if(isEmpty(m2)) m2=0;

String mes = Integer.toString(ml)+","+Integer.toString(m2);
String[] BR = getLABELS(LNG,mes);
retum(doProblem(RN,LNG,BR[I],BR[0]));
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public static String doProblem( String RN
,int  LNG
, String M|
, String M2)

throws Exception

{
String[] BR = getLABELS(LNG,"89,140");
String ttl = BR[O]+"!1! ("+RN+")";

String prs =
if(isEmpty(MI)) prs += "<DIV class=Y>&nbsp"+MI+"</DIV>";
if(lisEmpty(M2)) prs += "<DIV class=Y>&nbsp"+M2+"</DIV>";

prs += "&nbsp<INPUT type=SUBMIT name='B' value-"+BR[1]+"
onClick="history.go(-1)">";

String outp = fixHTML(null,prs,ttl,null,null,null,null,null,null);
retum(outp);

}

Lol N O TSR URRRR */
/*—Alerts the environment that the Servlet created an error —/
2 e e e et e r———— e e e a e ———e e e ——aaaaan */

public static void err(HttpServletResponse RES,Document TREE,String RN,String
MESS)

{
try

String prs = err(TREE,RN,MESS,BColor,"black”,APL.getHOMEO);
Transmit(RES,prs,"Frm.err™);

gatch(Exception e){}

}

L o BT m e — */

/*-- Alerts the environment that the Servlet created an error --*/
D e e e e e aae */

public static String err( Document TREE

, String RN

, String  MESS //—Message

, String BCOL //—BackGround Color
, String  TCOL //—TextColor

, String  HOME) //—Application Home

String outp =
Stringtl = RN+":"+MESS;
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int uid =-1;

int prc =-1;
long ses = -1;
int stp =-1;
try

String fig =

if(lisEmpty(TREE))

{
try

{uid = atoi(getNODE(getROOT(TREE),"UID"));
prc = getPRC(TREE);
ses = getSES(TREE);
stp = getSTEP(TREE);

}
catch(Exception el) {3

try
{ Dom2File(TREE,HOME+"err_"+RN+".xmINt }

catch(Exception e2) {fig= }
}

try
{ LogServletError(uid,ses,prc,stp,tl); }
catch(Exception e3) {}

String msg = "Sorry! We have atechnical problem. Please try later";
String ttl = "Problem("+RN+flg+")";

String tmp = makeSPAN(msg,"",tl,"" -I);
outp = fixHTML( null

, tmp
, ttl

, BCOL
, TCOL
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5"
catch(Exception e)

System.out.printin(" ********. "1{ 1),
LogServletError(uid,ses,prc,stp,tl);

¥

retum(outp);
}
[*—L0gServIetError......covevenernennen. */
/*—Ilogs a servlet error into log table --*/
I* */
private static void LogServletError( int UID
, long SES
, int PRC
, int STP
, String MSG)
String tmp = "ServletErr";
try
{
tmp +=

if(lisEmpty(UID)) tmp += "uid="+UID+",";
if(YisEmpty(SES)) tmp += "ses="+SES+",";
if(lisEmpty(PRC)) tmp += "prc="+PRC+",M
If(YisEmpty(STP)) tmp += "stp="+STP+"";
tmp = removeLAST (tmp,1);

}
catch(Exception e) {tmp += "internal error"; }

String msg = repl(MSG,"DBException:
Error(tmp+":"+msg);

}

[*- FrmfiXHTMVL oo */
/*-- Completes a Normal HTML form --*/
[*—PRS = HTML contentto present —*/
[*-- TTL = The title ofthe Form —=*/

/*-- NServ = The Servlet to be called next --*/
L e */

public static String fixHTML( Document TREE

, String PRS
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, String TTL

, String  NServ

, String  OnFocus

, String  OnLoad

, String  OnExit

, String  enctype

, String  EIP)
throws Exception

String outp =
outp = fixHTML( TREE
, PRS
, TTL
, NServ
, OnFocus
, "fO();"+OnLoad
, OnExit
, enctype
, EIP
, BColor
, "black"
, SColor
, "et.css"
, 'et.js"
, "sorttable.js");
return(outp);
}
[*- fIXHTML -— e, */
[*—1. Completes an HTML form —=*/
[*—2. Stores TREE into DB --*/
L s */
[*—is0-8859-7 = Greek CodePage  —*/
5: UTF-8 = UTF CodePage " --*/

public static String fixHTML( Document TREE
, String PRS /I-- HTML content to present
, String TTL /I—The title ofthe Form
, String  NServ  /[—The Servlet to be called next
, String  OnFocus
, String  OnLoad
, String  OnEXxit
, String  enctype
, String  EIP
,String BC //—BackGround Color
,String TC /I—Text Color
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, String  SC //—Submit BackGround Color
, String  CSS //-- CSS file Name
, String  JS1
, String  JS2)
throws Exception

String m = "Gen.fixHTML";

if(isEmpty(PRS)) throw new DBException(m,":PRS is empty");
String outp =

try

{
String ttl = TTL;
String tag =

if(TREE!=null)
{iSession ses = new iSession(TREE);
int  prc = ses.getPRC();

int  stp = ses.getSTEP();

ttl += " [prc="+prc+",stp="+stp+"]";
tag = ses.getTAG();

}
outp +=
FormOpen(NServ,ttl,OnFocus,OnLoad,OnExit,enctype,EIP,BC,TC,SC,CSS,JSI,JS2);

outp += PRS;
outp += FormClose(tag,NServ);

catch(Exception e) { throw new Exception(m+e.toString());}

return (outp);
}
[*-- FormOpen.......ccceenne. */
/*—1. Opens an HTML form --*/
5 e e */

private static String FormOpen( String NXT_IN //—NextPage
, String TTL_IN //—Form Title
, String OnFocus
, String OnLoad
, String OnEXxit
, String enctype
, String EIP
, String BCOL
, String TCOL
, String SCOL
, String CSS
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, String JS1
, String JS2)
throws Exception

String m = "Gen.FormOpen";
String outp =
try

{
String home = APL.getWEBPATHY();
boolean fav = fileExists(APL.getWEBABS()+"fav.ico");

outp += "<IDOCTYPE htmI>";

outp += "<HTML>";

outp += "<HEAD>",

outp += "<META FITTP-EQUIV-Content-Type' CONTENT=1ext/html,;
charset="+CODE_PAGE+"">";

if(1Gen.isEmpty(TTL_IN)) outp += "<TITLE>"+TTL_IN+"</TITLE>";

if(!Gen.isEmpty(CSS)) outp += "<LINK rel=\"stylesheet\" type=\"text/css\"
href-"+home+CSS+"">";

if(fav) outp += "<LINK rel=\"shortcut icon\" href-"+home+"fav.ico'
type='image/x-icon'/>";

if(!Gen.isEmpty(JSI)) outp += "<SCRIPT type-text/javascript’
src=""+home+JS 1+"></SCRIPT>";

if(1Gen.isEmpty(JS2)) outp += "<SCRIPT type-text/javascript'
src-"+home+JS2+"'x/SCRIPT>";

outp += "</HEAD>",

outp += "<BODY bgcolor-"+BCOL+"" text=""+TCOL+"" leftmargin="'0'
topmargin-O™; //- BODY start

if(!Gen.isEmpty(OnLoad)) outp += " onunload-' onLoad={"+OnLoad+"}";

if(!Gen.isEmpty(OnFocus)) outp += " onfocus={"+OnFocus+"}";

outp += //- BODY end

if(!1Gen.isEmpty (NXT_IN))
String act = "http://"+EIP+fixServlet(NXT_IN);

outp += "<FORM name="frm' method-POST" action-"+act+""";

if(!Gen.isEmpty(enctype)) outp += " enctype-multipart/form-data™’;

outp += " onsubmit="{GO_ON-=false;IS_SB=false;if(!IS_SB &&
DT_OK)GO_ON-=true;";

if(1Gen.isEmpty(OnEXxit)) outp += "if(GO_ON){"+OnExit+"}";

outp += "if(GO_ON) {IS_SB=true;}retum(GOON);}";
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outp +=

¥

}
catch(Exception e) {throw new Exception(m+e.toString()); }
retum(outp);

}

[*-- FOrMCIOSE.uuuieeiiieieeeeee e */
[*—1. Puts the TAG as an HTML param -*/
[*—2. Closes an HTML form —*/

/* */

private static String FormClose(String TAG,String NextPage)
throws Exception

String m = "Gen.FormClose";
String outp =
try

{if(!Gen.isEmpty(TAG)) outp += fix_HIDDEN("FIL", TAG);
outp +="<DIV id-dv'x/D IV >";
if(!Gen.isEmpty(NextPage)) outp += "</[FORM>";
outp += "</BODY></HTML>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}

[*—fixServlet */
[*—Complements a Servlet for calling --*/
[F */

public static String fixServlet(String SRY)
throws Exception
{retum(APL.getSRVPATH()+SRV+"Servlet"); }

[*—FHEEXISTS .o e */
[*—Checks if a File of Folder exists into the Op. system —*/
L e TTTTTPRURRRPN -*/

public static boolean fileExists(String FL)

{
File fd = new File(FL);
retum(fd.exists());

¥

public static String get_UsrName( Connection CONN
, int UIDJN)
throws Exception
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Stringm = "get_UsrName";
String outp =
try

{
String qry = "select USR_DESCR from CFGJJSR where USR_ID="+UID_IN;
outp = getOne(CONN,gry);

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

[*—get_ GRP ..ot */

[*—returns the Group of a Treatment --*/
L e */

public static int get_ GRP( Connection CONN
, int TRT_IN)
throws Exception

Stringm = "get GRP";
int outp = -1;
try

String gry = "select GRP ID from TRT1 where ID="+TRT_IN;
outp = atoi(getOne(CONN,qry));

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

[*—getMenuDEesC.....cceceeveeveeveenne, -*/

[*—returns the name of a Menu ltem --*/

* */

public static String getMenuDesc( Connection CONN
, int MNU_IN
, int LNG_IN)

throws Exception

String m = "getMenuDesc";
String outp =
try

{
String gry = "select LABEL_ID from PRC_0 where MNU_ID-"+MNU _IN;
int Ibl = atoi(getOne(CONN,qry));
outp = get LABEL(CONN,Ibl,LNG_IN);

¥



catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

[*—getPrcDescr---------------- */

5:—returns the name of a PFj/C —*/

public static String getPrcDescr( Connection CONN
, int PRC IN
, int LNG_IN)

throws Exception

String m = "getPrcDescr";
String outp =
try

{
String gry = "select LABEL ID from PRC | where PRC_ID="+PRC_IN;
int Ibl = atoi(getOne(CONN,qry));
outp = get_LABEL(CONN,Ibl,LNG_IN);

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

[*—addENtry ..o */

/*—Adds a new entry (pair) into an array --*/

[*-- The array must be oftype String[x][2] --*/
/

/* *

public static String[][] addEntry(String[][] ARR,String PRM,String VAL)
{
String[][] outp = null;

if(iIsSEmpty(PRM))
outp = ARR;
else if(isEmpty(ARR))

{outp = new String[l][2];
outp[0][0] = PRM;
outp[0][l] = VAL;

}

else if(isin(ARR,PRM))
outp = ARR;

else

{
String w = isEmpty(VAL)?"": VAL,
int 10 = getLEN(ARR); /I- initial len
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int 11 = 10+1; /I-New len
String[][] buf= new String[lI][2]; //- Temp holder
System.arraycopy(ARR,0,buf,0,10);

buf[10][0] = PRM; /I- append data to holder
buf[10][I] = w;
outp = buf; /I- move holder to outp
buf = null; /I- send holder to garbage collector
retum(outp);
}
[F—isIn i, e */

[*—Finds out if a string exists in an array --*/
/*-- Warning!! The array may have empty entries --*/
/* */

private static boolean isIn(String[][] ARR, String STR)

int pos = getPOS(ARR,STR);
boolean outp = (isEmpty(pos))?false:true;
retum(outp);

¥

[*—getPOS. ... */

[*-- Returns the first occurence of <STR> --*/
/*—within the NON ordered array <ARR> —*/
5:—if not found returns NaN j/

public static int getPOS(String ARR[][],String STR)
{return(getPOS(ARR,STR,-I)); }

public static int getPOS(String ARR[][],int VAL)
{ retum(getPOS(ARR,Integer.toString(VAL),-1)); }

public static int getPOS(String ARR[][],String STR,int LEN)

int len = getLEN(ARR);
String val = (LisEmpty(STR))?STR: M,
for(intj=0;j<len;j++)
{
try

String tmp = (‘iSEmpty(ARRL][0]))?ARRI][0]:"";
if(tmp.equals(val)) return(j);

gatch(Exception e) {}
}
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retum(-1);

}
public static int getPOS(String ARR[],String STR)

{
int len = getLEN(ARR);
String val = (YisEmpty(STR))?STR:"";
for(intj=0;j<len;j++)
{
try

{String tmp = (lisEmpty(ARR[j]))?ARR[j]:"";
if(tmp.equals(val)) return(j);

gatch(Exception e){}

}
retum(-1);

¥

[*—getParamValue......cccooioiiiiniiiee e, */
/*—Returns the Value for a given WebForm parameter —*/

[*-- if the param not exists then returns NotFound —%/

/*—else returns its value even if null —=/
2 e e e e ———————— */

public static String getParamValue(String[][] webVars,String PARAM)

String outp = "nfd";

if(webVars==null)
Gen.Waming("getParamValue:webVars is empty");

else if(isSEmpty(PARAM))
Gen.Waming("getParamValue:PARAM is empty");

else

{
int pos = getPOS(webVars,PARAM);
if(!Gen.isEmpty(pos)) outp=webVars[pos][1];

}
retum(outp);

¥

public static void showChars(String STR_IN)
throws Exception

String aa=
int len = getLEN(STR_IN);

for(intj-0;j<len;j++)
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{
int ¢ = (int) STR_IN.charAt(j);

cicl

aa += ipad(lnteger.toString(j),4," ");
aa +=

aa += Ipad(Integer.toString(c),3," ");
if(c>31)

char a = (char) c;
aa +: n Il+a;

¥

Debug(aa);
sleep(D);
}

DebugO;
}

[*-= ANSI2SErING oo */

[*—Converts an ANSI string into Java UTF8 --*/
L e e */

private static String ANSI2String(String STR)

{if(isNULL(STR))
retum(™);
else

{
char[] rr = STR.toCharArrayO;
for(intj=0;j<rr.length;j++)

int ¢ = (int) rr[j];
if(126<c && c<255)

c=c+720;
rr[j]=(char) c;
}

}
retum(String.valueOf(rr));

¥
}

[*—String2ANS....cooiiie -*/
/

/:—Converts Java UTF8 into Greek ANS*I/ string --*/
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public static String String2ANSI(String STR)

{if(isNU LL(STR))
retum("");
else

{
char[] rr = STR.toCharArray();
for(intj=0y<rr.length;j++)

int ¢ = (int) rr[j];
if(900<c && ¢<980)

{
c=c-720;
rrO]=(char) c;
}
} :
retum(String.valueOf(rr));
}
}
[*—LoopBacK.....c.coovvviiviniiiiinee e, */
/*—Returns LoopBack string for a given UID --*/
/* */
public static String LoopBack( Connection CONN

, int UID IN)
throws Exception

String m = "Gen.LoopBack™;
String outp =
try

{String[] rr = get USR(CONN,UID_IN);
String nam = rr[0];

String pas = rr[l];

outp += fix_HIDDEN("NAM",nam);
outp += fix_HIDDEN(NRAS" pas);

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥

/*- getJJSR */

/*—Returns the UID for a given LOGIN --*/

L e */

private static String[] get_USR( Connection CONN
, int UIDJN)
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throws Exception

String m = "getJJSR ["+UIDJN+"]";
String[] outp = null;
try

{
if(iIsSEmpty(UID_IN)) throw new Exception("empty_UID");

String  qry = "select U_LOGIN"
+ ",U_PASWD"
+ " from CFG USR"
+ " where USR_ID="+UID_IN

String[][]grr = Gen.Qry2Array(CONN,qry);
int len = Gen.getLEN(rr);
if(len==I)

outp = new String[2];
outp[O] = rr[0][0]; //--login
outp[l] = rr[O][I]; //-- paswd
}
else
throw new Exception("Wrong_len ["+qry+"]");

}
catch(Exception e) { throw new DBException(m,e.toString()); }
retum(outp);

}

[*—get_ NAM */

[*—returns the Name of the Human --*/

/* */

public static String get NAM( Connection CONN
, int L15)

throws Exception

String m = "Gen.get NAM";
String outp =
if(L15>999)

{
String qry = "select ONM1 from OBJFKEYSL15 where FKEY _ID-"+L15;
outp = getOne(CONN,gry);

}
retum(outp);

¥

public static String get_CusName( Connection CONN
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, int ID IN)
throws Exception

Stringm = "Gen.get_CusName";
String outp =
try

String  qry = "select V01,L15,L16,NAM from OBJ_HUM where ID="+ID_IN;
String[][] rr = Gen.Qry2Array(CONN,qry);

int len = Gen.getLEN(rr);

if(len=1)

String vOI = rr[0][0]; Il—Surname
int 115 = Gen.atoi(rr[O][ID);
int 116 = Gen.atoi(rr[0] [2]);

String nam = rr[0] [3]; /I-NickName
outp +=vOl;
if(YisEmpty(nam)) outp += " "+ nam;

else if(115>9)  outp += " "+ get. NAM(CONN,] 15);
else if(116>9)  outp += "" + get. NAM(CONN, | 16);
}

else
throw new Exception("Wrong_len ["+qry+"]");

catch(Exception e) {throw new DBException(m,e.toString()); }

retum(outp);
}
public static String get_ TRT( Connection CONN
, int TRTJIN
, int LNG IN)

throws Exception

Stringm = "Gen.get TRT",
String outp =
try

if(TRT_IN<O)
outp =
else

String qry = "select LABEL ID from TRT_1 where ID="+TRT_IN;
int bl = atoi(getOne(CONN,qry));
outp = get_LABEL(CONN,Ibl,LNG_IN);

¥
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}
catch(Exception e) { throw new DBException(m,e.toString()); }
retum(outp);

¥

[*—get_AGU */

ﬁ—returns the Age Unit desi:/r --*/

public static String get AGU( Connection CONN
, int LO2_IN
, int LNG_IN)

throws Exception

Stringm = "Gen.get_AGU";
String outp =
try

1
if(L02_IN>0)

String qry = "select LABEL ID from OBJFKEYSLO02 where
FKEY _ID="+L02_IN;

int Ibl = atoi(getOne(CONN,qgry));

outp = get LABEL(CONN,Ibl,LNG_IN);

¥

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}

[*- get ZIP---m-mmmmmmmemm */

[*—returns the ZIP descr —/

/* */

public static String get_ZIP( Connection CONN
, int L04JN)

throws Exception

String m = "Gen.get_ZIP";
String outp =
try

{
if(L04_IN<999)

outp = "{"+L04_IN+"}";
else

String gry = "select DESCR from OBJ_FKEYS_L04 where FKEY_ID="+L04_IN;
outp = getOne(CONN,qgry);
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}
}
catch(Exception e) {throw new DBException(m,e.toString()); }

retum(outp);
}
[*—count */
[*—Counts the existence of String c into a string s —*/
I* */

public static int count( String s
, String ¢)

int outp = 0;
try

int len = c.length();
if(len>0)

int idx = 0;
while((idx=s.indexOf(c,idx)) !=-1)
{
outp++;
idx += len-1;
}
}

}
catch(Exception ) { }
retum(outp);

¥

[*-- get_LNG- == */
[*—returns the Language of this tree —*/

/* */

public static int get_ LNG(Document TREE)
throws Exception

String m = "Gen.get_LNG";
int outp = 1;
try
i,
if(iIsEmpty(TREE))

outp = 1;
else

{
try { outp = atoi(getNODE(getROOT(TREE),"LNG")); }
catch(Exception e) {throw new DBException(m,e.toString()); }
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by
if(outp<0) outp = 1;

if(outp>6) throw new Exception("Wrong_LNG:"+outp);

gatch(Exception e){}

retum(outp);
}
[*-- JOOKFOIrNOGE. ..ot */
[*—Searches the whole TREE for node named NAME_IN —*/
/*—If found returns contents else null --*/
2 s e e ——————— */

public static String lookForNode( Document TREE
, String NAME_IN)
throws Exception

String outp =
if(lisEmpty(TREE) && lisEmpty(NAME_IN)) outp =
lookForNode(getROOT(TREE),NAME_IN);

retum(outp);
}
[*—100KFOrNode......cooeveveeeeeeceieeeenn, —*/
[*—Searches the TREE under node NODE_IN --*/
[*—for a node named NAME [N --*/
/*—if found returns content else null --*/
% e s */

public static String lookForNode( Node NODE_IN
, String NAME_IN)
throws Exception

{if(isEmpty(NAME_IN)) return(null);

NodeList nl=((Element)NODE_IN).getElementsByTagName(NAME_IN);
for(int i=0;i<nl.getLength();i++) return(readNODE(nl.item(i)));

retum(null);
}
[F—C 28 i */
[*-- Cents -> Euro String --*/
[*—Converts a Euro cents LONG integer  —*/
/*—into a EURO string with 2 decimal digits —*/
L s -*/

public static String c2e(int S)

String outp =
String s = Integer.toString(Math.abs(S));
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Stringa =
String b
int 1 = getLEN(S);

if(s.equals("0") || s.equals(00"))

{
a= "0"
b = "00";
oo
else if(1>2)

{
a = getFirst(s,1-2);
a = putDOTS(a);
b = s.substring(l-2);

else

if(isEmpty(b)) outp=a;
else outp= a+','+b;

String Sign:(s<0)?"_ll:nn;

retum(sign+outp);

}
private static String putDOTS(String s)

String z =

String a = removeDOTS(s);
int 1= getLEN(a);

for(int i=0;i<l;i++)

{if((l-i)%3=:0 && i1=0) z+-
z += a.charAt(i);

retum(z);

¥

[ —1eMOVED OTS e */

/*—Removes the dot characters (.) from a string —*/
I* */

public static String removeDOTS(String s)
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if(iIsEmpty(s)) retum(null);
Stringz =

int len = getLEN(S);
if(len==0) retum("");
for(int i=0;i<len;i++)

{
char k=s.charAt(i);
if(k ! = z+=k;

retum(z);

¥

[*—QgetFirst. .o -*/
/*—Returns the characters of string <S> --*/
[*—starting from point O until pointP —/
[*-- P is 0 offset --*/

I* */
private static String getFirst(String S,int P)

String outp =
if(YisEmpty(S) && P>=0)

{
int len = getLEN(S);
intaa = (len>P)?P:len;
outp = S.substring(0,aa);

retum(outp);

¥

[*—getlast......coooeieiiiiieeee */
/*—Returns the characters of string <S> --*/
[*—starting from point P until the end --*/
[*—P is 0 offset --*/

public static String getLast(String S,int P)

String outp =
if(lisEmpty(S))

t
if(P<I)
outp = §;
else
t
int len = getLEN(S);
intdif = len-P;
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if(dif>0) outp = S.substring(P);

}
retum(outp);
}
[*-- 1eMOVELAST o */
/*-- Removes the last <L> characters of string <S> —*/
[*-- L>0 --*/
L e s */

public static String removeLAST(String S,int L)
{retum(getFirst(S,(getLEN(S)-L))); }

[*-- TEMOVEFITSt. i */
/*—Removes the first <L> characters of a string <S> —*/
[*-- L>0 --*/

public static String removeFirst(String S,int L)
{retum(getLast(S,L)); }

(%= ISTEL oot */
/*—Returns true id TEL_IN is Telephone Number —/
L e e */

public static boolean iSTEL(String TEL_IN)
boolean outp = false;

if(TEL_IN.startsWith("00™)) outp = true;
else if(isTelMobile(TEL_IN)) outp = true;
else if(isTelStatic(TEL_IN))  outp = true;
else if(TEL_IN.equals("11655™)) outp = true;
else if(TEL_IN.equals("11818™)) outp = true;
else if(TEL_IN.equals("11880™)) outp = true;
else if(TEL_IN.equals("11888™)) outp = true;
else if(TEL_IN.equals("1158™)) outp = true;

retum(outp);
}
[*—isTelMobile.....ccccoovvivivniinnns */
/*—Returns true id TEL_fN is Mobile —/
L e e */

public static boolean isTelMobile(String TEL_IN)

boolean outp = false;
if(getLEN(TEL_IN)==10 && TEL_IN.startsWith("6")) outp - true;
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retum(outp);

}

[*--isTelStatiC....ccoocvveveeen e */
/*-- Returns true id TEL_IN is Static --*/
* */

public static boolean isTelStatic(String TEL_IN)

boolean outp = false;
int len = getLEN(TEL_IN);

if(len==10 && TEL_IN.startsWith("2")) outp = true;
else if(len==1 1 && TEL_IN.startsWith("8")) outp = true;

retum(outp);
}
}
package libs;
[*— HTML form presenter — =/
I* */
import libs.*;

import org.w3c.dom.*;
public class Presenter

private String PRS;  //- Outgoing Presentable content
private String HDN; //- Outgoing Hidden content

public String getPRS() { retum(this.PRS); }
public String getHDN() {retum(this.HDN); }

public Presenter(String a,String b)

{
this.PRS = g;
this.HDN = b;
}
[*—Presenter.....ciiciiinenenns */
[*-- Presents PRM array in HTML format —/
L s */

public Presenter(Document TREE,String PRM[][],String FRVI])
throws Exception

String m = "Presenter";
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try

1

this.PRS =

this.HDN =

if(Gen.isEmpty(FRV[I])) FRV[1] = "XI";
work(TREE,PRM,FRV,Gen.getEIP(TREE),Gen.get_ LNG(TREE));

catch(Exception e) {throw new Exception(m+":"+e.toString()); }

¥

[*-- Presenter....viveceenenenennne. */
/*—Presents PRM array in HTML format --*/
[*—qgiven the HtmIForm --*/

L e s */

public Presenter(Document TREE,HtmIForm FRM)
throws Exception

1

this.PRS =

this.HDN = ™

if(Gen.isEmpty(FRM.FRV[ 1])) FRM.FRV[1] = "XI";
work(TREE,FRM.PRM,FRM.FRV,FRM.EIP,Gen.get_LNG(TREE));

¥

public Presenter(HtmIForm FRM)
throws Exception

1

this.PRS =

this.HDN =

if(Gen.isEmpty(FRM.FRVI])) FRM.FRV[1] = "XI";
work(null,FRM.PRM,FRM.FRV,FRM.EIP,FRM.LNG);

¥

private void work( Document TREE
, String PRMI][]

, String FRV[]
, String  EIP
,int LNGIN)
throws Exception
String m = "Presenter.work";
int  Ing = LNGIN; if(Gen.isEmpty(Ing)) Ing = 1,
boolean hasContent = false; /- presentable content exists
String htm =" //-PRS holder
String hidden =" //- HDN holder
int  mrg =8; //-margin of LeftPart
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String[] aa = Gen.getLABELS(Ing,"64,54,65,21");
int  len = Gen.getArrayTop(PRM); //- First Empty Param
if(len<l) throw new Exception(m+" No_Params [len="+len+"]");

FRV[7] = Gen.repl(FRV[7]," ","&nbsp");

if(Gen.isEmpty(FRV[3])) FRV[3] = aa[0];

FRV[10] = aa[3];

String TopForm = FRV]O0];

String ContButton = FRV[3];

String ContServ = FRV[1];

if(!1Gen.isEmpty(FRV[I 1])) FRV[11] += "_"+Ing; //- help form is Ing dependent
try

String onlLoad
String onex_|
String onex_2
String nonpre /1-non presentable string
String js = //-javascripts

boolean emptyCheck = false;

boolean isFirst = true;

/I- onload trigger
/- onexit triggers

for(intj=0;j<len;j++)
{if(!Gen.isEmpty(PRM [1I7D)) onex_I+=PRMIj][7];
if(!Gen.isEmpty(PRM[j][2]))

{js+:fix381(PRM L112D);
onex_2 += "chkl("+PRMU][2]+\m+FRV[7].replace(’ 7_")+Y"+");";
}

if(!Gen.isEmpty(PRM[j][3]))

{

emptyCheck = true;

onex_2 += "if(GO_ON) GO_ON=chk2("+\m-PRM[)][3]+"\""+");";
}

if(!Gen.isEmpty(PRMIj][4])) nonpre += PRMIj][4];

if(1Gen.isEmpty(PRM([j][8])) hidden += PRMIj][8];

if(1Gen.isEmpty(PRM[j][6])) onLoad += PRM[j][6];
%‘(emptyCheck)js+:fixJSZ(FRV[8]);

String onExit = onex_I+onex_2;
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String tmp =

[ e JavaScript --*/
tmp +=js;
[ non presentable info —/

if(!Gen.isEmpty(nonpre)) tmp += nonpre;

I* Start of presentation --*/
tmp += "<TABLE height—100%' w idth-100%' cellSpacing='0' cellPadding="'0">

[ Top Line --*/
tmp += "<TR class="Y"'id-ul'x T D height="30" align="center'
colspan="2">"+APL.get_LOGO();

tmp += "<TR VALIGN=top>";

L LeftPart -*/

tmp += "<TD>";

tmp += "<TABLE width=T00%' cellSpacing-O' cellPadding="0">";
[ toolbar -*/

tmp += "<TR><TD class='J">"+get TOOLBAR(FRV);

[ main part -*/

tmp += "<TR VALIGN="top'><TD>";
tmp += "<TABLE><TR>";

tmp += "<TD width-"+mrg+"">";
tmp += "<TD>",
if(1Gen.isEmpty(TopForm))

{

tmp += "<TABLE><TRxTD>"+TopForm;

tmp += "<TRXTD bgColor=black' height="'>";
tmp += "<TR height=""+mrg+"><TDx/TABLE>";

}
tmp += "<TABLE cellSpacing="0" cellPadding="0">";
tmp += "<TR height=""+mrg+"'xTD></TR>";

for(intj=0;j<len;j++)
{if(!Gen.isEmpty(PRM IU)))

{
tmp += showPARAM (PRMj);
hasContent = true;

¥
}

tmp += "</TABLE>",
tmp += "<TD width=""+mrg+"">";
tmp += "</TABLE>",
tmp += "</TABLE>",



tmp += "</TABLE>";

I* hidden info —*/
if(1Gen.isEmpty(hidden)) tmp += hidden;

htm =

Gen.fixHTML(TREE,tmp,FRV[4],ContServ,FRV[6],onLoad,onExit,FRV[13],EIP);

catch(Exception e) {throw new Exception(m+":"+e.toString()); }

if(hasContent)
this.PRS = htm;
else
this.HDN = hidden;

¥

[*-- getTOOLBAR */
[*—Creates the toolbar out of FRV --*/
/* */

private static String get TOOLBAR(String FRV[])
throws Exception

{
Stringm = "getTOOLBAR";

String outp =
try
i . .
String cb = FRV[3]; /I- Continue button title
if(1Gen.isEmpty(ch))
String ab = FRV[5]; /I- Alternate route button title
String af = FRV[9]; /I- Alternate route button servlet

String ft = FRV [4]; /- form title
String hb = FRV[10]; /I- Help button title
String hf= FRV[11]; /- HTML form to be called on Help

outp += "<div style="float:left;'>";
outp += "<INPUT type-SUBMIT' name="'B’value=""+ch+"">";
if(!Gen.isEmpty(af))
outp += "&nbsp;";
outp += "<INPUT type='SUBMIT' value=""+ab+m
onclick={frm.action=7servlet/"+af+"Servlet’;}>";

outp += "</div>";

if(1Gen.isEmpty(hf))
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{

outp += "<div style="float:right;'>";

outp += "<INPUT type='"BUTTON' value=""+hb+"
onclick={WN=f7(V"+hf+".html',40,40,450,650);}>";

outp += "</div>";

}
if(1Gen.isEmpty(ft))

{int len = Gen.getLEN(ft)-Gen.getLEN(hf);
int ofs = (int) (50+len*0.5);
outp += "<div style-font-size: 18;float:right;width:;"+ofs+"%;'>";
outp += ft;
outp += "</div>";

¥
¥

catch(Exception e) {throw new Exception(m+":"+e.toString()); }
retum(outp);

}

[*-= SNOWPARAM ..ot s */
/*—presents a piece of input information in a particular order —/

[*—ttl = title of the information --*/

[*—prm = the input information itself --*/

/*—inf= the help text related to prm —=*/

/* */

[*—Output Layout <TR><TD>ttl <TD>prm</TD></TD></TR> --*/
/* - <TR><TD>empty<TD>inf</TD></TD></TR> -*/

L e e */

private String showPARAM(String PRM[][],int P)
throws Exception

String m="showPARAM";

String prm = PRM[P][1]; //- presentable part

if(Gen.isEmpty(prm)) throw new Exception(m+"{PARAM is empty}");
String outp =

try

{
String ttl = PRM[P] [11]; //- Param title
String inf= PRM[P][12]; //- Info string
String aft = PRM[P][5]; //- After info string

outp += "<TR><TD>";
if(Gen.isEmpty(tt1))
outp += "&nbsp;";



else
outp += Gen.makeDIV(ttl+"&nbsp;","Y",null);
outp+="<TD>"+prm;

String tmp-"";
if(!1Gen.isEmpty(inf))

String aa = (inf.endsWith("."))?inf:inf+".";
tmp += "<TR><TD>&nbsp;<TD>"+Gen.makeDIV(aa,"X",null);

¥

if(!Gen.isEmpty(aft)) tmp +=
"<TR><TD>&nbsp;<TD>"+Gen.makeDIV (aft,"X",null);

tmp += "<HR>";
outp += tmp;

catch(Exception e) {throw new Exception(m+":"+e.toString()); }

retum(outp);
}
[*—fixJS| */
/*—GO_ON must not be initially set here —/
/* */

private String fixJSI (String LIMS)

String els-

int p = Gen.count(LIMS,7)/2;

String s = "<SCRIPT LANGUAGE=JavaScript>function chkl(";
for(int i=0;i<p;i++) s+="i"+i+",a"+i+",";
s+= "kD{";

for(int i=0;i<p;i++)

{
s+=els+"if(!0(i"+i+",a"+i+" kl)) GO_ON=false;";
els="else

¥

S+=
s += "</SCRIPT>";
retum(s);

}

[5€ FIXIS2 i */
/*—Produces the JavaScript to check the —*/
/*—emptyness of a field —=*/

116



private String fixJS2(String MSG)

String s = "<SCRIPT LANGUAGE=JavaScript>";
s += "function chk2(a)";
s+="{retum(0(a,""+MSG+"))

s += "</SCRIPT>";

retum(s);

package libs;

/[*— Form presentation functions — »/
/* */
import java.sql.*;

import javax.servlet.*;

import javax.servlet.http.*;

import org.w3c.dom.*;

public class HtmIForm

{

1* , */

/*- FRV array holds all the information regarding the Form —*/
/*- FRVI[0] = top part ofthe form —*/

/*- FRV[1] = Servlet or bean to be called --*/

/*- FRY[2] = WorkFlow -*/

/*- FRVI[3] = Title for normal route (continue) button —=*/
/*- FRV[4] = form title —=/

/*- FRV[5] = Title for alternative route button —=*/

/*- FRV[6] = onfocus trigger —*/

/*- FRV[7] = lower limit message for makeNUMERIC —=*/
/*- FRV[8] = is empty message for makeNUMERIC and makeALPFIA -*/
/*-- FRV[9] = Form to be called as the alternate route —*/
[*- FRV[10] = Title for help button —*/

/*- FRV[11) = Form to be called for help button --*/

/*- FRV[12] = Use SSL (0=No, I=Yes) -*/

/*- FRY[13] = Use enctype (type=FILE) —*

/*- FRV[14] = Current form —*/

/*- FRV[15] = Adv on the top -*/

/* -

L e */
/*—PRM array holds all the Parameter's information —=*/
[*—PRM[i][0] = Parameter Name —*/
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I*-PRMTII[I]
I*—PRMIi][2]
I*—PRMIi][3]

= representation of Parameter in HTML --*/
= array of params to be checked for lower limit—*/
= array of params to be checked for emptyness —*/

[*—PRM[i][4] = not presentable strings —*/
[*—PRM[i][5] = after Info string —*/

[*-- PRM[i][6] = onload trigger —*/
*—PRMIi][7] = onexit trigger --*/
[*—PRM[i][8] = Hiden Params holder —=
[*-- PRM[i][9] = Column number --*/
[*—PRM[i][10] = Param type —*
[*—PRM[i] [11] = Title (to present) —*
[*—PRM[i][12] = Info (to present) —=
[*—where i is the Parameter offset —*

L e -*/
private int MLen =13; /*- PRM[][MLen] -/
private int FLen =16; /*-FRV[FLen] -*/
private int RLen = 100; /*-width of Right part-*/

private Document TREE;

private int
private int
public int
private int

PRC;
STP;
LNG;
UID;

public String[] FRV = null;
public String[][] PRM = null;

public String

EIP;

public HtmIForm(intN)

{
thisERV = new String[thisELen]; Gen.MakeEmpty(thisERV);
this.PRM = new String[N][this.MLen];

}
}
package libs;
[*—jSession */
/* */

import java.util.*;
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import oracle.jdbc.OraclePreparedStatement;
import java.sql.*;

import org.w3c.dom.Document;

import org.w3c.dom.Node;

public class iSession

private static boolean TRACE = false; /I- Trace flag
private static String RN = "iSession";
private staticint MAXTREESTEP =99999;

private long SES=-1; public long getSES() {retum(this.SES); }

private Document TREE; public Document getTREE() {retum(this. TREE); }
private String CIP; public String getCIP() {retum(this.CIP); }

private String EIP; public String getEIP() {return(this.EIP); }

private boolean IS_LOCKED; public boolean isSLOCKED() {
retum(this.ISILOCKED);}

private boolean IS_EXPIRED; public boolean iSEXPIRED() {
retum(this.IS_EXPIRED); }

private boolean IS_INVALID; public boolean isSINVALID() {
retum(this.1S_INVALID); }

private int  UID; public int getUID() {retum(this.UID); }

private int PRC; public int ~ getPRC() {retum(this.PRC);}

private int CUR_STEP; publicint getSTEP() {retum(this.CURSTEP); }

private int  LNG; public int  getLNG() {retum(this.LNG);}
private int  DUR; public int  getDUR() {retum(this.DUR);} //—Duration
in minutes

private Document MAX TREE;
private String TOK;

[*—Session---------nnmmmmm- */
/*—Creates a new Session --*/
o */
public iSession( int  UID

,int  LNG

,int  PRC

, String EIP

, String CIP)

throws Exception

String m = this.RN+".iSession";

if(Gen.isEmpty(EIP)) throw new DBException(m,"No EIP found");
Connection conn = null;

InitParams();

try
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¥

{
String tok = getUUID();

conn = Gen.doConnect(); /I- Transaction START

long ses = getNextNum(conn,"SEQ_SES");

String qry = "select count(*) from SES_0 where SES_ID=""+ses+""";
int rws = Gen.atoi(Gen.getOne(conn,qry));

if(rws>0)

{String sgO = "delete from SES_0 where SES_ID=""+ses+""";
String sql = "delete from SES_1 where SES_ID=""+ses+™";
Gen.dbSQL(conn,sq 1,rn); /I- We delete in reverse order
Gen.dbSQL(conn,sqO,rn);

¥
String sql = "insert into SES_0"
+ "(SES_ID,PRC_ID,LNG_ID,ACL_ID,SES_IP, TOK_ID)"

+ (1] Values(”+ses+”,"+PRC+","+LNG+","I+UID+”V"+CIP+”V"+tOk+I")”;

Gen.dbSQL(conn,sql,rn);
Gen.dbSQL(conn,"commit™,m);

Gen.doDisconnect(conn); /I- Transaction END
this.SES = ses;
this. TOK = tok;

this.ISINVALID = false;
this.ISLOCKED = false;
this.ISEXPIRED = false;

this. TREE = Gen.String2Dom("<iSES></ISES>");
Node rt = Gen.getROOT(this. TREE);

if(!Gen.isEmpty(LNG)) Gen.insNODE(this. TREE,rt,"LNG",LNG);
if(!1Gen.isEmpty(UID)) Gen.insNODE(this.TREE,rt,"UID",UID);
if(!Gen.isEmpty(CIP)) Gen.insNODE(this.TREE,rt,"CIP",CIP);

Gen.insNODE(this. TREE,rt,"PRC",PRC);
Gen.insNODE(this. TREE,rt,"SES",this.SES);
Gen.insNODE(this. TREE,rt,"STP",I);
Gen.insNODE(this. TREE,rt,"EIP" EIP);
Gen.insNODE(this. TREE,rt,"TOK"this. TOK);

this. CURSTEP = 1,

}
catch(Exception e) {throw new DBException(conn,m,e.toString()); }
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[*-= SESSION ..o */
[*—Retrieves an Existing Session  --*/
[*—Called upon the arrival of a form —*/

public iSession( Connection CONN
, String TOK IN)
throws Exception

String m = this.RN+".jSession™;
ResultSet rsl = null;
InitParams();

try

{
if(Gen.isEmpty(TOK_IN))
throw new DBException(CONN,m,"No TOK IN");
else

{
String grO = "select S_XML from SES1 where TOK_ID="+TOK_IN+"";
Document rrO[] = Gen.getXML(CONN,qrO);
if(!Gen.isEmpty(rrO))

int c¢nt =0;

long sesl =-1,;

Document tree = rrO[0];

String tokO = getTOK(tree); if(!ITOK_IN.equals(tokO)) throw new
DBException(CONN,m,"Wrong TOK["+TOK_IN+" "+tok0+"]");

long sesO = Gen.getSES(tree);

int  stpO = Gen.getSTEP(tree);

String qrl = "select SESJD,(sysdate-CRE_DATE)* 1440"
+ " from SES_1"
+ "where TOK_ID=""+TOK_IN+""

Statement stm = CONN.createStatement();
stm.execute(qrl);

rsl = stm.getResultSet();

while(rsl.next())

sesl = rsl.getLong(l);

double dif = rsl.getDouble(2);
this.DUR = (int) dif;

cnt++;

¥

if(cnt!=I)  throw new DBException(m,"TAG not found ["+qrl+"]");
ifilsesOl”sesl) throw new DBException(m,"Wrong ses ["+ses0+","+sesl+"]");
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if(this. DUR> 1500)
this.ISEXPIRED = true;
else

{this.ISEXPIRED = false;
this.SES = sesO;
this. CURSTEP = stpO;
String qr2 = "select SES_IP,IS_LOCKED,ACL_ID,PRC_ID,LNG_ID"
+ " from SES_0"
+ "where SES_ID="+Long.toString(sesO)

String[][] rr2 = Gen.Qry2Array(CONN,qr2);
int len2 = rr2.length;
if(len2==I)

{String cip = rr2[0][0];
int fig = Gen.atoi(rr2[0][I]);
int uid = Gen.atoi(rr2[0][2]);
int prc = Gen.atoi(rr2[0][3]);
int Ing = Gen.atoi(rr2[0][4]);
this. TREE = tree;

this.CIP = cip;

this.ISLOCKED = (flg==I)?true:false;
this.UID = uid;

this.PRC = prc;

this.LNG = Ing;

this. TOK = getUUID();
Gen.updNODE(this. TREE,"TOK",this. TOK);
updTOK(this.SES,this. TOK);
this.ISINVALID = false;

¥
¥
¥
¥

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
finally {try{ rsl.close(); } catch(Exception x) {} }

}

[*-= {SeSSION...cciivieiciieeee e, */
/*—Retrieves the Session from TREE —/
L s */

public iSession(Document TREE)
throws Exception

{
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long ses = Gen.atol(Gen.getNODE(Gen.getROOT(TREE),"SES"));
if(1Gen.isEmpty(ses))

{this.TREE = TREE;

this.SES = ses;

this. CURSTEP = Gen.getSTEP(TREE);

this.UID = Gen.atoi(Gen.getNODE(Gen.getROOT(TREE),"UID"));
this.CIP - Gen.getNODE(Gen.getROOT(TREE),"CIP");

this.PRC = Gen.getPRC(TREE);

this.EIP = Gen.getEIP(TREE);

this. TOK = getTOK(TREE);

this.LNG = Gen.get LNG(TREE);

¥
¥

public boolean isSLOCKED(Connection CONN)
throws Exception

String m = this.RN+".isLOCKED",
boolean outp = false;

try

String  qry = "select IS_LOCKED from SES_0 where
SES_ID="+Long.toString(this.SES);

String[][] rr = Gen.Qry2Array(CONN,qry);

int len = Gen.getLEN(rr);

if(len==1) outp = (Gen.atoi(rr[0][0])==I);

}
catch(Exception e) {throw new DBException(m,e.toString()); }

retum(outp);
}
[*- QetTAG .o ---*/
/*-- Returns the tag of a Session --*/

[*—Called when a form is about to transmit —=/
* */

public String getTAG()
throws Exception

String m = this.RN+".getTAG";
String outp = "";
try

long ses = this.SES; if(Gen.isEmpty(ses)) throw new DBException(m,"No SES");

int stp = this.CUR STEP; if(Gen.isEmpty(stp)) throw new DBException(m,"No
STP");
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outp = this.TOK;
Store(ses,stp,this. TOK);

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥

public boolean isEmpty()
{ retum(Gen.isEmpty(this.SES)); }

private void updTOK( long SESIN
, String TOK IN)
throws Exception

String m =this.RN+".updTOK";
Connection conn = null;
try

conn = Gen.doConnect();

String gry = "select TOKID"
+ " from SES_0" "
+ " where SES_ID="+Long.toString(SES_IN)
+ " for update NOWAIT"

String[][] rr = Gen.Qry2Array(conn,qry);
int lenl = rr.length;
if(lenl=1)

{String tok = rr[0][O];
if(tok.equals(TOK_IN)) throw new DBException(conn,m,"TOK not changed for
ses="+SES_IN);
String sgl = "update SES 0"
+ " set TOK_ID=""+TOK_IN+...
+ "where SES_ID="+Long.toString(SES_IN)

Gen.dbSQL(conn,sqgl,m);
Gen.dbSQL(conn,"commit",m);

Gen.doDisconnect(conn);

}
catch(Exception e) {throw new DBException(conn,m,e.toString()); }

[*-- Store */
/*—Unloads TREE into this DB --*/
/* */
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private void Store( long SES
,int  STP IN
, String TOK IN)
throws Exception

String m = "iSession.Store";
Connection conn = null;

try

{
int stp = STP_IN;
String grO = "select TOK_ID from SES_O0 where SES_ID="+Long.toString(SES);

conn = Gen.doConnect();
String tok = Gen.getOne(conn,qrO);
if(tok.equals(TOK_IN))

{String whr = "where SES_ID="+Long.toString(SES)+" and
STP_NO="+Integer.toString(stp);
String gry = "select count(*) from SES_1 "+whr;
int rw = Gen.atoi(Gen.getOne(conn,qgry));
if(rw>0)

String sqO = "delete from SES_1 "+whr;
Gen.dbSQL(conn,sqO,m);

}

String tr = Gen.Dom2String(TREE);
if(1Gen.isEmpty(tr))

String sgl = "begin insSESJ("+SES+","+stp+","'+TOK_IN+m?);end;";
OraclePreparedStatement pst =(OraclePreparedStatement)
conn.prepareStatement(sq 1);
pst.setStringForClob( 1,tr);
if(pst.executeUpdate()!=1) throw new DBException(conn,m,"can not insert");
Gen.dbSQL(conn,"commit”,rn);
}
else
throw new Exception("No_TREE");
}
else
Gen.Report("** Ses="+SES+",stp="+STP_IN+" is GHOST");

Gen.doDisconnect(conn);

catch(Exception e) {throw new DBException(conn,m,e.toString()); }

¥
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[*—getMaXTREE......c..ccoccviivinininene, */

/*—Returns MAX TREE for this Session --*/

* */

public Document getMaxTREE( Connection CONN
, String RN_IN)

throws Exception

{

String m = this.RN+".getMaxTREE["+RN_IN+"]";
Document outp = null;

try

long ses = this.SES;
int stp =this. CURSTEP;
int max = getMaxStep(CONN,ses,stp, MAX_TREE_STEP);

if(max>0)

String gry = "select S_XML"
+ " from SESJ"
+ " where SES_ID="+Long.toString(ses)
+ "and STP_NO="+Integer.toString(max)

Document aa[] = Gen.getXML(CONN,qry);
if(!Gen.isEmpty(aa)) outp = aa[0];

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

}

/*- deIMaxTREE */
[*—Deletes MAX TREE ofthis Session --*/
/* */

public void deIMaxTREE( Connection CONN
, String RN IN)
throws Exception

{
String m = this.RN+".deIMaxTREE["+RN_IN+"]";
try

long ses = this.SES;
int stp = this.CUR STEP;

if(stp>0)



String sql = "delete from SES_1"
+ "where SES_ID="+Long.toString(ses)
+ "and STP_NO>"+Integer.toString(stp)

Gen.dbSQL(CONN,sqgl,m);
Gen.dbSQL(CONN,"commit™,m);

}

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
}

[*—QgetMaxStep — ..o */
/*—Returns the position (step) of Max TREE —*/
I* e ———— */
private static int getMaxStep( Connection CONN
, long SES_IN
,int. STPIN
, int MAX_IN)
throws Exception

String m = "getMaxStep";
int outp = -I;

Statement stm = null;
ResultSet rsl = null;

try

String gry = "select min(STP_NO),max(STP_NO)"
+ " from SES1"
+ "where SES_ID="+Long.toString(SES_IN)
+ "and STP_NO>"+Integer.toString(STP_IN)
"

stm = CONN.createStatement();

stm.execute(qry);

rsl = stm.getResultSet();

if(rsl.next())

int mn = rsl.getint(l);
int mx = rsl.getInt(2);
if(mx==MAX_IN)
outp = mx;
else
outp = mn;

¥

catch(Exception e)
{throw new DBException(CONN,rn,e.toString()); }
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finally

{
try {rsl.closeO; } catch(Exception x) {}
try { stm.close(); } catch(Exception x) {}

retum(outp);

}

[*—StOreMaX...cccccooveereeeeeeereeennens */

/*-- Unloads MAX TREE into this DB --*/
L e —— -*/

public void StoreMax(Document TREE)
throws Exception

String m = this.RN+".StoreMax";
try

long ses = this.SES; if(Gen.isEmpty(ses)) throw new DBException(m,"No SES");

int stp=MAXTREESTEP;

String whr = "where SES_ID="+Long.toString(ses)+" and
STP_NO="+Integer.toString(stp);

String gry = "select count(*) from SES_1 "+whr;

Connection conn = Gen.doConnect();

int rw = Gen.atoi(Gen.getOne(conn,gry));

if(rw>0)

{
String sgO = "delete from SES_1 "+whr;
Gen.dbSQL(conn,sqO,m);

¥

String tr = Gen.Dom2String(TREE);

String sql = "begin insSES_I("+ses+","+stp+",'aaa’,?);end;";

OraclePreparedStatement pst = (OraclePreparedStatement)
conn.prepareStatement(sq 1);

pst.setStringForClob( 1,tr);

if(pst.executeUpdate()!=I) throw new Exception("can not insert");

Gen.dbSQL(conn,"commit™,m);

Gen.doDisconnect(conn);

}
catch(Exception e) {throw new Exception(m+e.toString()); }

}

public int doStep(int STP)
throws Exception

Stringm = "iSession.doStep";
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int cur_stp = this. CUR_STEP;
int nxt_stp = cur_stp + STP;

if(nxt_stp<l) throw new DBException(m,"stp<I
[s="+STP+",c="+cur_stp+",n="+nxt_stp+"]");

this. CURSTEP = nxtstp;

Gen.updl(this. TREE,"STP",nxt_stp);

retum(nxt_stp);

[*-
throws Exception

{
String m = this.RN+".Lock";
try

{
String sgl = "update SES_0 set IS_LOCKED=Il where SES_ID-"+this.SES+""";

Gen.dbSQL(CONN,sgl,m);

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }

}
private void InitParams()
{

this.SES =-1;
this.CIP =
this.EIP =

this.IS_LOCKED =true;
this.ISINVALID = true;

this.UID = -1;
this.PRC =-1;
this. CURSTEP =-1;
this. TOK =
this. TREE = null;
this.s MAXTREE =null;
}
[*—get_LO1 */

[*—returns the Sex in this TREE —/

I* - ¥
public int get_LO01()
throws Exception

[*—Warning!!! Do not Commit here

public void Lock(Connection CONN)
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{
int outp = Gen.atoi(Gen.getNODE(Gen.getROOT (this. TREE),"L01"));

retum(outp);

}

/*—get_L02 */
[*—returns the Age Unit ofthe Human --*/
L e e */

public int get_L02()
throws Exception

{
int outp = Gen.atoi(Gen.getNODE(Gen.getROOT (this. TREE),"L02"));
retum(outp);

}

[*—get_LO4 .. */
[*—returns the Zip code ofthe Human —*/
I* */

public int get_L04()
throws Exception

{
int outp = Gen.atoi(Gen.getNODE(Gen.getROOT (this. TREE),"L04"));
retum(outp);

}

[*—get_ L15. e */
[*—returns the Name of the Human --*/
/* */

public int get_L15()
throws Exception

{
int outp = Gen.atoi(Gen.getNODE(Gen.getROOT (this. TREE),"L15"));
retum(outp);

}

[*—get_VOLl...iiiiiiiiiieee */

/*-- returns the SurName of the Human —=/
2 e */

public String get_V01()
throws Exception

String outp = Gen.getNODE(Gen.getROOT (this. TREE),"V01");
retum(outp);

}
I*,, get_ V20 */
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/*-- returns the Tel of the Human --*/
/* */

public String get_V20()
throws Exception

{
String outp = Gen.getNODE(Gen.getROOT((this. TREE),"V20");

retum(outp);
}
[*- get_ V22 e, */
[*—returns the Mobile Tel ofthe Human —*/
/* */

public String get V22()
throws Exception

String outp = Gen.getNODE(Gen.getROOT (this. TREE),"V22");

retum(outp);
}
[*—get_V04 */
[*—returns the Address of the Human —=/
/* */

public String get_V04()
throws Exception

{
String outp = Gen.getNODE(Gen.getROOT (this. TREE),"V04");

retum(outp);
}
[*—qget_V06- */
/*-- returns the email of the Human —/
/* */

public String get_V06()
throws Exception

{
String outp = Gen.getNODE(Gen.getROOT (this. TREE),"V06");

retum(outp);
}
[*-- get_ NAM */
[*—returns the NickName of the Human —=/
[* */

public String get_ NAM()
throws Exception

{
String outp = Gen.getNODE(Gen.getROOT (this. TREE),"NAM");
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retum(outp);

}

[*—QetNexXtNUM ... */
/*—Gets the next number from sequence TNAME --*/
/*-- Can not be Replicable --*/

1* */

private static long getNextNum(Connection CONN,String NAME_IN)
throws Exception

String m = "isession.getNextNum["+NAME_IN+"]";
long outp = 0;
try

String gry = "select "+NAME_IN+".nextval from dual";
String tmp = Gen.getOne(CONN,qry);

outp = Gen.atol(tmp);

if(outp<l) throw new Exceptionf'wrong result ["+tmp+"]");

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

[*-- getUUID.......cooeenne. */
/*—Returns a UUID string —/
1* */
private static String getUUID()
throws Exception

String outp =
UUID al=UUID.randomUUID();
String xx = al .toStringO;

outp = xx.replace("-","").toUpperCase();
retum(outp);
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/*» getTOK(TREE) */
[*—returns the Token of this tree --*/

1* */

private static String getTOK(Document TREE)
throws Exception

{String outp = Gen.getNODE(Gen.getROOT(TREE),"TOK");
if(Gen.isEmpty(outp)) throw new DBException("iSession.getTOK(TREE)","No TOK
in TREE");
retum(outp);

¥
¥

package FrmBeans;

import java.util.*;
import java.sgl.*;
import org.w3c.dom.*;
import libs.*;

public interface FormBean

String getVars(String[][] WebVars,Connection CONN,Document TREE) throws
Exception;

Presenter work(Connection CONN,Document TREE) throws Exception;

¥

package FrmBeans;

/*- HUMANSDbean */
[*—PRC=221 Solution DownPayment via Bank deposit --*/
/= — Solution selection --*/

/* _*/

import libs.*;

importjava.net.*;

import java.sql.*;

import org.w3c.dom.*;

public class HUMANSbean implements FormBean

{
final private static String PP = "HUM™;
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public Presenter work( Connection CONN
, Document TREE)
throws Exception

{
String m = "HUMANS";
Presenter outp = null;
try
{

iSession ses = new iSession(TREE);

int Ing = ses.getLNG();

int prc = ses.getPRC();

String eip = ses.getEIP(); if(Gen.isEmpty(eip)) throw new Exception("No EIP");
String des = Gen.getPrcDescr(CONN,prc,Ing);

String prs = getPRS(CONN,PP,Ing);
int cnt = Gen.count(prs,""'+PP+"");
if(cnt==0)

String el= Gen.doProblem(m,Ing,"No Lines",des);
outp = new Presenter(el,null,null);

else

HtmlForm frm = new HtmIForm(l);
frm.LNG = Ing;

frm.EIP = eip;

frm.FRV[4] =des+ " ("+cnt+")";
frm.FRV[14] =m;

frm.PRM[0][0] = PP;
frm.PRM[O][I] = prs;

outp = new Presenter(TREE,frm);

}

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

public String getVars( String[][] WebVars
, Connection CONN
, Document TREE)

throws Exception

{
String m = "HUMANS.getVars";
try

String tmp = Gen.getParamValue(WebVars,PP);
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Gen.insNODE(TREE,PP,tmp);

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }

retum(null);
}
[*—getPRS */
/*—Rerums presentable Part --*/
1* */

private static String getPRS( Connection CONN
, String PRM_IN
, Int LNG_IN)

throws Exception

Stringm = "HUMANS.getPRS";
String outp =
try

int cnt=0;

String  prs=

String  qry = "select ID,vVO1,L15,L02,v20,v22"
+ " from OBJ HUMAN"

String[][] rr = Gen.Qry2Array(CONN,qry);
int len = Gen.getLEN(rr);
for(intj=0;j<len;j++)

{int id = Gen.atoi(rr[j1[0]);
String vOI = rr[j][1];
int 115 = Gen.atoi(rr[j][2]);
int 102 = Gen.atoi(rr[j][3]);

String v20 = rr[j][4]; if(Gen.isEmpty(v20)) v20 = "&nbsp;";
String v22 = rr[j][5]; if(Gen.isEmpty(v22)) v22 = "&nbsp;";

prs += "<TR>",

prs += "<TD><INPUT name-"+PRM_IN+"" type=radio value=""+id+""";

if(cnt==0) prs += " CHECKED";

prs +=

prs += "<TD>"+v01;

prs += "<TD>"+Gen.getNAM(CONN,I 15);

prs += "<TD>"+Gen.get AGU(CONN,102,LNG_IN);

prs += "<TD>"+v20;
prs += "<TD>"+v22;
prs += "</TR>",;
cnt++;
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if(cnt>0)
{

outp += "<TABLE border=I class-sortable'>";

outp += "<THEAD>";

outp += "<TR>";

outp += "<TH>&nbsp;";

outp += "<TH>Emnwvupo"; //-- En®vupo

outp += "<TE1>Ovopa"; /[—Ovoua

outp += "<TH>"+Gen.get LABEL(CONN,2016,LNG_IN);
outp += "<TH>"+Gen.get LABEL(CONN,2020,LNG_IN);
outp += "<TH>"+Gen.get LABEL(CONN,2022,LNG_IN);
outp += "</TR>";

outp += "</THEAD>",

outp += "<TBODY>";
outp += prs;
outp += "</TBODY>";

outp += "</TABLE>";
¥

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

¥
¥

package FrmBeans;

/*-- Y201 _FNbean--------------- */
/*—Loads a new Human to DB —*/
/* */

import libs.*;

import java.util.*;
import java.sql.Connection;
import org.w3c.dom.*;
public class Y201_FNbean implements FormBean
public Presenter work( Connection CONN
, Document TREE)
throws Exception

String m ="Y201_FN",
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Presenter outp = null;
try

iSession ses = new iSession(TREE);

int  prc = ses.getPRC();  if(prc!=201) throw new Exception(m+"Wrong_PRC
[pre="+pre+"1");

String eip = ses.getEIP();

int  Ing = ses.getLNG();

int  uid = ses.getUID();

String des = Gen.getPrcDescr(CONN,prc,Ing);

transaction(CONN,ses); //= Transaction
ses.Lock(CONN);
Gen.dbSQL(CONN,"commit"”,rn); //= Transaction End

HtmIForm frm = new HtmlIForm(l);

frm.LNG = Ing;

frm.EIP = eip;

frm.FRV[I] ="M1";

frm.FRV[4] = des;

frm.FRV[14] =rn;

frm.PRM[0][0] = "_DUM";

frm.PRM[0][I] = "OK!"+Gen.LoopBack(CONN,uid);
outp = new Presenter(TREE,frm);

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

}

public String getVars(String[][] WebVars,Connection CONN,Document TREE)
throws Exception
{retum(null); }

[*—transaction........cccoocvveviinnennnn. */

I* */

private static void transaction( Connection CONN
, iSession SES_IN)

throws Exception

String m = "Y201_FN.transaction";
try

{int id = getMAX(CONN);
String vOI = SES_IN.get_V01(); vOI = Gen.String2ZANSI(v01);
int 115 = SES_IN.get_L15();
int 102 = SES_IN.get_L02(); //-- Age unit
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int 101 = SES_IN.get_L01(); //- sex
String v20 = SES_IN.get_V20();
String v22 = SES_IN.get_V22(); //- Mobile tel

String v04 = SES_IN.get_V04(); v04 = Gen.String2ANSI(v04); //—Address

int 104= SES_IN.get_L04(); //- Zip
String v06 = SES_IN.get_V06(); //-- email

String sgl = "insert into
OBJ_HUMAN(ID,VO1,L15,L02,L01,V20,V22,V04,L04,V06)"
+ "

values("+id+",""+vO 1+ "+115+","+102+","+101+" "' +v20+" V" +v22+" "' +v04+" "+104+",

III+V06+III)II
Gen.dbSQL(CONN,sqgl,m);

}
catch(Exception e) {throw new DBException(m,e.toString()); }
}

private static int getMAX(Connection CONN)
throws Exception

Stringm = "getMAX";

int outp = -I;

String gqry="select nvi(max(ID),0) from OBJ_HUMAN";

outp = Gen.atoi(Gen.getOne(CONN,qry));

if(Gen.isEmpty(outp)) throw new DBException(CONN,m,"No outp");
retum(outp+l);

¥
¥

package FrmBeans;

/*-Y221_FNbean------------—--- */
/*—Loads a new Human to DB —=/
I* */

import libs.*;

importjava.net.*;

import java.util.*;

import java.sql.Connection;

import org.w3c.dom.*;

public class Y221 FNbean implements FormBean

public Presenter work( Connection CONN
, Document TREE)
throws Exception
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{
String m ="Y221 _FN';

P

resenter outp = null;

try

{

iSession ses = new iSession(TREE);

int  prc = ses.getPRC();  if(prc!=221) throw new Exception(m+"Wrong_PRC

[pre="+prc+"T");

String eip = ses.getEIP();

int  Ing = ses.getLNG();

int  uid = ses.getUID();

String des = Gen.getPrcDescr(CONN,prc,Ing);

int  id = Gen.atoi(Gen.lookForNode(TREE,"HUM™));

if(id<0)

String el = Gen.doProblem(m,Ing,des,"No Selection");
outp = new Presenter(el,null,null);

}

else

{String prs = getPRS(CONN,id,Ing);

HtmlForm frm = new HtmIForm(l);

frm.LNG = Ing;

frm.EIP = eip;

frm.FRVI[I] ="MI";

frm.FRV[4] = des;

frm.FRV[14] =m;

frm.PRMI[0][0] = "_DUM";

frm.PRM[O][I] = prs+Gen.LoopBack(CONN,uid);
outp = new Presenter(TREE,frm);

¥

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

public String getVars(String[][] WebVars,Connection CONN,Document TREE)

throws Exception
{retum(null); }

[*-- getPRS */
/*—Rerums presentable Part --*/

/*

*/

pr

ivate static String getPRS( Connection CONN
, int HUM IN
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, int LNG_IN)
throws Exception

Stringm = "HUMANS.getPRS";

String outp =
try
String  prs=

String  qry = "select VO1,L15,L02,L01,V20,V22,V04,L04,V06"
+ " from OBJ HUMAN"
+ "where ID="+HUM_IN

String[][] rr = Gen.Qry2Array(CONN,qgry);
int len = Gen.getLEN(rr);

if(len==I)

{String vOl = rr[0][0];
int  115= Gen.atoi(rr[0] [1]);

int 102 = Gen.atoi(rr[0][2]); /1- Age unit

int 101 = Gen.atoi(rr[0][3]); //—sex

String v20 = rr[0][4]; if(Gen.isEmpty(v20)) v20 = "&nbsp;"; //—Tel
String v22 = rr[0][5]; if(Gen.isEmpty(v22)) v22 = "&nbsp;"; //-- Mobile
String v04 = rr[0][6]; /[-- Address

int 104 = Gen.atoi(rr[0][7]); [I—Zip
String v06 = rr[0][8]; //- email
if(Gen.isEmpty(v06))

v06 = "&nbsp;";
else

v06 = "<a href="mailto:"+v06+"">"+v06+"</a>";

outp += "<TABLE border=I>";

outp += "<TR><TD>Ovo(xaT87i(bvupo<TD>"+v01+"
"+Gen.getNAM(CONN,115)+"</TR>";

outp +=

"<TR><TD>"+Gen.get_LABEL(CONN,2016,LNG_IN)+"<TD>"+Gen.get_ AGU(CON

N,102,LNG_IN)+"</TR>";
outp +=

"<TR><TD>"+Gen.get_ LABEL(CONN,2020,LNG_IN)+"<TD>"+v20+"</TR>";

outp +=

"<TR><TD>"+Gen.get_ LABEL(CONN,2022,LNG_IN)+"<TD>"+v22+"</TR>";

outp +=

"<TR><TD>"+Gen.get LABEL(CONN,2023,LNG_IN)+"<TD>"+v06+"</TR>",

if(1Gen.isEmpty(v04))
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.
String zip =
if(104<999)
zip = "&nbsp;";
else
zip = 104+" "+Gen.get_ZIP(CONN,104);
outp +=

"<TR><TD>"+Gen.get LABEL(CONN,2028,LNG_IN)+"<TD>"+v04+"</TR>

outp +=

"<TR><TD>"+Gen.get LABEL(CONN,2026,LNG_IN)+"<TD>"+zip+"</TR>"

¥
outp += "</TABLE>";
¥

}
catch(Exception e) {throw new DBException(m,e.toString()); }

retum(outp);

¥
¥

package FrmBeans;

/*-Y301_03bean------------- */
/*-- Rendevouz presentation —=/
/* *J'

import libs.*;

importjava.sql.*;

import org.w3c.dom.*;

public class Y301_03bean implements FormBean
final private static String PPO = "TIM";

public Presenter work( Connection CONN
, Document TREE)
throws Exception

String m ="Y301_03";
Presenter outp = null;

try

{

iSession ses = new iSession(TREE);

int  Ing = ses.getLNG();

int  prc = ses.getPRC(); if(prc!=301)
Exception("[Wrong prc="+prc+"]");

throw new



String eip = ses.getEIP(); if(Gen.isEmpty(eip)) throw new
Exception("No EIP");
String des = Gen.getPrcDescr(CONN,prc,Ing);

int  hum = Gen.atoi(Gen.lookForNode(TREE,"HUM")); if(Gen.isEmpty(hum))
throw new Exception("No HUM");

int  usr = Gen.atoi(Gen.lookForNode(TREE,"USR")); if(Gen.isEmpty(usr)) throw
new Exception("No USR");

String dat = Gen.lookForNode(TREE,"DAT"); if(Gen.isEmpty(dat)) throw
new Exception("No DAT");

String prs = getPRS(CONN,PPO,usr,dat,Ing);
if(Gen.isEmpty(prs))

String el= Gen.doProblem(m,Ing,"No Lines",des);
outp = new Presenter(el,null,null);

¥

else

HtmIForm frm = new HtmIForm(l);

frim.LNG = Ing;

frm.EIP = eip;

frm.FRV[0] = Gen.getUsrName(CONN,usr)+", "+dat;
frm.FRV[4] = des+ " ("+Gen.get_HumanName(CONN,hum)+")";
frm.FRV[14] =m;

frm.PRM[0][0] = PPO;

frm.PRM[O][I] =prs;

frm.PRMIO][I 1] = Gen.get_LABEL(CONN,3016,Ing);
frm.PRM[0][12] = Gen.get_LABEL(CONN,3017,Ing);

outp = new Presenter(TREE,frm);
¥

}
catch(Exception e) {throw new DBException(CONN,m,e.toString()); }
return(outp);

¥

public String getVars( String[][] WebVars
, Connection CONN
, Document TREE)

throws Exception

String m = "Y301_03.getVars";
try

{
String tmp = Gen.getParamValue(WebVars,PPO);
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Gen.insNODE(TREE ,PPO,tmp);

}
catch(Exception e) {throw new DBException(CONN,rn,e.toString()); }
retum(null);

}
[*-- getPRS */
5*—Rerurns presentable I7art —*/

private static String getPRS( Connection CONN
, String PRM_IN

,int USR_IN
, String DAT IN
,int LNG IN)

throws Exception

Stringm = "Y301_03.getPRS";
String outp =
try

{
String gry = "select RDZ_DAT,RDZ_DUR"

+ " from OBJ RDZ"

+ "where USR_ID="+USR_IN

+ "and RDZ_DAT between to_date("'+DAT_IN+"Vdd/mm/yyyy') and
(to_date("+DAT_IN+"'dd/mm/yyyy")+I)"

String[][] rr = Gen.Qry2Array(CONN,gry);
int len = Gen.getLEN(rr);

outp += "<TABLE border=I>";

outp += "<TR>";
outp += "<TH>&nbsp;";

for(int x=0;x<12;x++)

outp += "<TH bgcolor="yellovwv' align=right>"+(9+x);

}

for(int y=0;y<6;y++)

{
String mm = Gen.lpad((10*y),2,"0");
outp += "<TR>";

outp += "<TD bgcolor="yellow' align=right>"+mm;

for(int x=0;x<12;x++)
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{int hh = (9+x);
String key = hh+":"+mm;
outp += "<TD title-"+key+"'><INPUT name=""+PRM_IN+" type=radio
value-"+key+"'>";

}
outp += "</TR>",
}

outp += "</TABLE>",

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}
}

package FrmBeans;

[*- Y301_O4bean................. */
/*—Rendevouz presentation --*/
1* */
import libs.*;

import java.sql.*;

import org.w3c.dom.*;

public class Y301 _04bean implements FormBean
{
final private static String PPO = "DUR";

public Presenter work( Connection CONN
, Document TREE)
throws Exception

{

String m = "Y301_04";
Presenter outp = null;

try

{

iSession ses = new iSession(TREE);
int  Ing = ses.getLNG();

int  prc = ses.getPRC(); if(prc!=301) throw new
Exception(" [Wrong prc="+prc+"]");
String eip = ses.getEIP(); if(Gen.isEmpty(eip)) throw new

Exception("No EIP");
String des = Gen.getPrcDescr(CONN,prc,Ing);
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int  hum = Gen.atoi(Gen.lookForNode(TREE,"HUM™")); if(Gen.isEmpty(hum))
throw new Exception("No HUM");

int  usr = Gen.atoi(Gen.lookForNode(TREE,"USR")); if(Gen.isEmpty(usr)) throw
new Exception("No USR");

String dat = Gen.lookForNode(TREE,"DAT"); if(Gen.isEmpty(dat)) throw
new Exception("No DAT");

String tim = Gen.lookForNode(TREE,"TIM");

if(Gen.isEmpty(tim))

String el= Gen.doProblem(m,Ing,des,"No selection™);
outp = new Presenter(el,null,null);

else

HtmIForm frm = new HtmIForm(l);

frm.LNG = Ing;

frm.EIP = eip;

frm.FRV[0] = Gen.getUsrName(CONN,usr)+", "+dat+" "+tim;
frm.FRV[4] = des+ " ("+Gen.get_HumanName(CONN,hum)+")";
frm.FRV[14] =m;

frm.PRMJ[0][0] = PPO;

frm.PRM[O0][I] = getPRO(CONN,PPO,usr,dat,tim,Ing);
frm.PRMIO][I 1] = Gen.get_LABEL(CONN,3018,Ing);
frm.PRMJ[0][12] = Gen.get_ LABEL(CONN,3019,Ing);

outp = new Presenter(TREE,frm);
¥

}
catch(Exception e) { throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

public String getVars( String[][] WebVars
, Connection CONN
, Document TREE)

throws Exception

String m = "Y301_03.getVars";
try

String tmp = Gen.getParamValue(WebVars,PPO);
Gen.insNODE(TREE,PPO,tmp);

}
catch(Exception e) {throw new DBException(CONN,rn,e.toString()); }
return (null);
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¥

/*- getPRO */
/*—Rerums presentable Part --*/
L */

private static String getPRO( Connection CONN
, String PRM IN
, int USR_IN
, String DAT_IN
, String TIM_IN
, int LNG IN)
throws Exception

{
Stringm = "Y242_01 .getPRS™;
String outp =
try

. .
String prs =

prs += "<TR><TD><INPUT name="'"+PRM_IN+"" type=radio value="'10'
CHECKED>10 X£7ixd</TR>",

prs += "<TR><TD><INPUT name-"+PRM_IN+"" type=radio value='20'>20
SATIXA</TR>",

prs += "<TR><TD><INPUT name=""+PRM_IN+" type=radio value='30">30
XETtTA</TR>",;

prs += "<TR><TD><INPUT name=""+PRM_IN+" type=radio value='40">40
XeTtxd</TR>",

prs += "<TR><TD><INPUT name=""+PRM_IN+" type=radio value='50">50
XETtxd</TR>",

prs += "<TR><TD><INPUT name=""+PRM_rN+" type=radio value='60>60
XeTtxd</TR>",

outp += "<TABLE border=I>";
outp += prs;
outp += "</TABLE>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }
retum(outp);

}
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package FrmBeans;

/*- Y301 _FNbean */
/*—Loads a new Rendevouz to DB --*/
/* */

import libs.*;

import java.util.*;
import java.sql.Connection;
import org.w3c.dom.*;

public class Y301_FNbean implements FormBean

public Presenter work( Connection CONN
, Document TREE)
throws Exception

String m = N301_FN";
Presenter outp = null;

try

{

iSession ses = new iSession(TREE);

int  prc = ses.getPRC();  if(prc!=301) throw new Exception(m+"Wrong_PRC
[pre="+prc+"1");

String eip = ses.getEIP();

int  Ing = ses.getLNG();

int  uid = ses.getUID();

String des = Gen.getPrcDescr(CONN,prc,Ing);

int  usr = Gen.atoi(Gen.lookForNode(TREE,"USR")); if(Gen.isEmpty(usr)) throw
new Exception("No USR");

String dat = Gen.lookForNode(TREE,"DAT"); if(Gen.isEmpty(dat)) throw
new Exception("No DAT");
String tim = Gen.lookForNode(TREE,"TIM"); if(Gen.isEmpty(tim)) throw

new Exception("No TIM");

int  dur = Gen.atoi(Gen.lookForNode(TREE,"DUR")); if(Gen.isEmpty(dur)) throw
new Exception("No DUR");

int  hum = Gen.atoi(Gen.lookForNode(TREE,"HUM")); if(Gen.isEmpty(hum))
throw new Exception("No HUM");

int  trt = Gen.atoi(Gen.lookForNode(TREE,"TRT"));
transaction(CONN,usr,dat,tim,dur,hum,trt,uid); //=* Transaction
ses.Lock(CONN);

Gen.dbSQL(CONN,"commit”,m); /I=* Transaction End

HtmIForm frm = new HtmlIForm(l);
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frm.LNG = Ing;

frm.EIP = eip;

frm.FRV[I] ="MI",

frm.FRV[4] = des;

frm.FRV[14] =rn;

frm.PRM[0][0] = "DUM™;

frm.PRM[O0][I] = getTOP(CONN,usr,dat,tim,dur,hum)+Gen.LoopBack(CONN,uid);
outp = new Presenter(TREE,frm);

}
catch(Exception e) { throw new DBException(CONN,m,e.toString()); }
retum(outp);

¥

public String getVars(String[][] WebVars,Connection CONN,Document TREE)
throws Exception
{ retum(null); }

[*-- getTOP .o, */

L */

private static String getTOP( Connection CONN
, int USR IN

, String DATJN

, String TIM_IN

, int DUR IN

, int HUM_IN)
throws Exception

String m = "Y301_FN.getTOP";
String outp =
try

outp += "<TABLE>";

outp += "<CAPTION>OK!</CAPTION>";

outp +=
"<TR><TD>ri8Axrrrg<TD>"+Gen.get_FlumanName(CONN,HUM_IN)+"</TR>";

outp += "<TR><TD>Xpf|cn:rlc<TD>"+Gen.getUsrName(CONN,USR_IN)+"</TR>";

outp += "<TRXTD>Qpa PavrsPou<TD>"+DAT_IN+" "+TIM_IN+"</TR>";

outp += "<TR><TD>Ai4pK8ia PavxsPou<TD>"+DUR_IN+" AS7rca</TR>";

outp += "</TABLE>";

}
catch(Exception e) {throw new DBException(m,e.toString()); }

retum(outp);
}
[*—transaction- */
L e */
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private static void transaction( Connection CONN

,int
, String
, String
,int
,int
,int
,int
throws Exception

USR IN
DAT IN
TIM IN

DUR IN

HUM IN

TRT IN

UID IN)

String m = "Y301_FN.transaction™;

try

String sql = "insert into

OBJ RDZ(USR_ID,RDZ_DAT,RDZ_DUR,HUM_ID,TRT_ID,REG_USR)"
+ "values("+USR_IN+" to_date("+DAT_IN+" "+TIM_IN+",'dd/mm/yyyy
hh24:mi"),"+DUR_IN+""+HUM_IN+","+TRT_IN+","+UID_IN+")"

Gen.dbSQL(CONN,sqgl,m);

}
catch(Exception e) {throw new DBEXxception(m,e.toString());}

¥
¥

ackage FrmBeans;

/~— Zlbean

*/

/*—Bean for Generic Presentation --*/

/*
import libs.*;
import java.sql.Connection;

*/

import org.w3c.dom.Document;

public class ZIbean implements FormBean

public Presenter work( Connection CONN
, Document TREE)

throws Exception

if(TREE— null) throw new DBException(CONN,"ZI ","No_TREE");
HtmIForm frm = new HtmIForm(CONN,TREE,"Zlbean™);

retum(new Presenter(TREE,frm));

¥

public String getVars( String[][] WebVars
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, Connection CONN
, Document TREE)
throws Exception

{
new WebVarLoader(WebVars,CONN,TREE);
retum("");

¥
¥
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